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2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-4229

à.à.à.à.à.1) Translate any one each for section ‘A’ and section ‘B’ into Marathi or English.

[10]
"A' d "~' {d^mJmVrb àË¶oH$s EH$mMo ‘amR>r qH$dm B§J«OrV ^mfm§Va H$am.

SECTION - ‘A’
{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'

i) P{Q>{V Zah[a: ZoÌn{hH$m‘² Angm[aVdmZ²& Ñï>dmZ² M VXm Vw VoZ ¶m Ñï>m gm Vw {dÆ>bñ¶ Ed à{V‘m
AmgrV²& gm pñ‘VgwÝXa‘y{V©: Zah[a‘² A^mfV ""ho {ed^º$ Ah§ ñd¶§ {ed:& Ah‘od {dQ²>b: A{n&
"EH$mo@h§ {d{dY¡, ê$n¡: Ñí¶o' B{V&

ii) VVñVmZa‹S>moH$W¶V² - H$mo Zm‘S>§na: {eddramV²& g Ed amOZrVm¡ {ZîUmV:& g Ed g¡ÝYdmamoh
{dÚm{gÝnw: g Ed MÝÐhmgMmbZo MVwa:, g Ed ‘„{dÚm‘‘©k: g Ed ~mU{dÚmdm[a{Y: g Ed
npÊS>V‘ÊS>b‘ÊS>Z:, g Ed Y¡¶©Ym[aYm¡ao¶: g Ed drIIa g Ed nwê$fnm¡ê$fnarjH$:&

SECTION - ‘B’
{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'

i) Xmì¶{‘{V ¶ÔmZ§ Xr¶Vo@ZwnH$m[aUo&
Xoeo H$mbo M nmÌo& M VÔmZ§ gmpÎdH§$ ñ‘¥V‘²&

ii) JwUdXJwUdX² dm Hw$d©Vm H$m¶©OmV§
n[aU{VadYm¶m© ¶ËZV: npÊS>VoZ&
A{Va^gH¥$VmZm§ H$‘©Um‘m{dnÎmoa

©̂dVr öX¶Xmhr eë¶Vwë¶mo {dnmH$:
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SECTION - ‘C’
{d^mJ - "g'{d^mJ - "g'{d^mJ - "g'{d^mJ - "g'{d^mJ - "g'

n[aÀN>oX§ n{R>Ëdm g§ñH¥$VoZ CÎmam{U {bIV& [5]
~«÷m ¶oZ Hw$bmbd{Þ¶{‘Vmo ~«÷mÊS>^mÊS>moXao
{dîUw¶}Z XemdVmaJhZo {jámo ‘hmg‘Q>o&
ê$Ðmo ¶oZ H$nmbnm{UnwQ>Ho$ {^jmQ>Z§ H$m[aV:
gy¶m} «̂må¶{V {ZË¶‘od JJZo Vñ‘¡ Z‘: H$‘©Uo&
i) H$: Hw$bmbd{Þ¶{‘V²:?
ii) XemdVmaJhZo H$: {já:?
iii) {^jmQ>Z§ H$: H$m[aV:?
iv) A{Ze§ H$: «̂må¶{V?
v) ^V©wh[aUm H$ñ‘¡ dÝXZ§ H¥$V‘²?
vi) gy¶©: Hw$Ì gÄOa{V?

à.à.à.à.à.2) Explain with reference to the context any one from section ‘A’ and ‘B’. [10]
"A' Am{U "~' {d^mJmVyZ àË¶oH$s EH$mMo gg§X ©̂ ñnï>rH$aU H$am.

SECTION - ‘A’
{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'{d^mJ - "A'

i) Amo{‘Ë¶oXja‘wX²Jr¶‘wnmgrV&
ii) EH$moS>h§ {d{dY¡: ê$n¡: Ñí¶o&

SECTION - ‘B’
{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'{d^mJ - "~'

i) ¶ñ¶mpñV nyd©gwH¥$V§ {dnwb§ Zañ¶&
ii) ^mdg§ew{Õ[aË¶oVÎmnmo ‘mZg‘wÀ¶Vo&&

SECTION - ‘C’
{d^mJ - "g'{d^mJ - "g'{d^mJ - "g'{d^mJ - "g'{d^mJ - "g'

C{MVm{Z ¶w½‘m{Z {d{dZwV (H$mì¶{n n#m) [5]

i) amOgr A) AW©emñÌo
ii) àUdmonmgZm Am) lÕm
iii) JÚnÚ‘¶r B) Y{ZH$:
iv) aËZ{ddoMZ‘² B©) Måny:
v) d¥Õm¡ H$maU‘² C) Cn{ZfX²
vi) H$ZH$Xmg: D$) X¡d‘²
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à.à.à.à.à.3) A) Explain the essence of the story "V¥Vr¶§ ZoÌ‘²' [12]

$"V¥Vr¶§ ZoÌ‘²' H$WoMo VmËn¶© ñnï> H$am.

OR/qH$dm

Explain the upasanas  in the upanisad.

$Cn{ZfXmVrb CnmgZm ñnï> H$am.

B) Write notes (any one) [8]

$Q>rnm {bhm. (H$moUVrhr EH$)

i) {edamOJwUdU©Z‘²

ii) H$m¡{Q>ë¶:

à.à.à.à.à.4) A) Explain  {Ì{dY lÕm and {Ì{dY Amhma in detail. [12]

${Ì{dY lÕm d {Ì{dY Amhma g{dñVa ñnï> H$am.

OR/qH$dm

Explain  X¡dnÕ{V: and H$‘©nÕ{V:

X¡dnÕ{V: d H$‘©nÕ{V: ñnï> H$am.

B) Write notes (any one) [8]

$Q>rnm {bhm. (H$moUVrhr EH$)

i) {Ì{dY ¶Îm Three types of sacrifice

ii) XemdVma: (Ten Avataras )





[5961]- 402
S.Y.B.A  (Semester-IV)

PERSIAN
CC-2D - Prose & Modern Prose Terms

(CBCS) (2019 Pattern)  (24142)

PA-4236
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Instructions to candidates :

1) Attempt all questions. 
2) Figures to the right side indicate full marks.

Q.1 Gulistan's stories are the highest guiding principles for human

life discuss.         [12] 

OR

Write an appreciation of the style of Nasrullah Munshi.  

Q.2    Ethical elements are found in Jami's writings. Explain with   

arguments.     [12]

OR

Narrate the religious teachings in Baharistan.

Q.3 Write a critical note on the style of Wa'iz Kashifi.   [12]

OR

Provide a critical overview of "Aadab-i-Sukhan Guftan.".

  

SEAT No.

Total No. of Pages : 2



Q.4 (A) Reproduce in your own Persian any one of the following .  [10]

     (i

  (ii





 (iii

      (B) Write the Central idea of one of the following in English or

 Urdu or Marathi.  [10]

     (i   

 (ii

 (iii

 Q.5  Write  short notes on  any two of the following.   [14]                     

           

  (i 

 (ii

 (iii

   

                                        


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Q1) A) Fill in the blanks by selecting proper words from brackets. [7]

i) The amount of Bad Debt is _______ to business.

[Profit, Loss, Asset, Liability]

ii) ______ means gradual and continuous decrease or reduction in
the value of asset.

[Loss, Depreciation, Goodwill, Profit]

iii) Balance Sheet is _______ of Assets and Liabilities.

[Book, Ledger, Journal Proper, Statement]

iv) Double column cash book records transactions relating to cash
and ________.

[Sales, Purchase, Bank, Credit]

v) Only ______ Discount recorded in Journal proper.

[Trade, Cash, Purchase, Sales]

vi) Gross profit is Transferred to _______ Account.

[Trading Account, Profit & Loss Account, Balance Sheet, Receipt
& Payment Account]

Total No. of Questions : 5]

[Total No. of Pages : 4
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vii) ERP stands for _________.

[Enterprise Resource Planning, Enternet Resource Planning,
Enterprise Resoure Performance, Electronic Resource Planning]

B) State the following statements as True or False : [7]

i) Computerized Accounting System is independent management
accounting system.

ii) In spreadsheet accounting software double entry is automatically
completed.

iii) Trial Balance is a summary of all ledger balance to check whether
the figures are correct and balanced.

iv) Profit and Loss Account is prepared to find out Net working
results of the Business.

v) Cash Book records transaction relating to receipts & payments of
cash.

vi) Depreciation is charged on fixed Assets.

vii) Trade discount is recorded in the books of accounts.

Q2) Answer the following questions in one or two sentences. [14]

a) What is Tally?

b) What are the types of Bank accounts?

c) What is net profit?

d) How to create company in Tally?

e) What is an Account?

f) What do you mean by Insurance?

g) What is credit note?
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Q3) a) Entre the following transactions in simple Cash Book of M/s Anil
Traders. [12]
2020 July (1) Started business with cash Rs. 2,00,000

(3) Deposited Cash into Bank Rs. 50,000
(5) Purchased stationary for cash Rs. 2,000
(7) Cash Purchase Rs. 10,000
(8) Sold goods for cash Rs. 20,000

at 8% Trade Discount
(9) Paid insurance premium Rs. 5,000
(12) Paid Cash to Dixit Rs. 15,000
(15) Received Cash from Ahuja Rs. 60,000
(17) Received commission Rs. 1,000
(18) Drew for domestic use. Rs. 4,000
(22) Sold old furniture Rs. 5,000
(25) Paid salary to Ram Rs. 4,000
(30) Received Interest Rs. 3,000

OR
b) Explain advantages and disadvantages of Accounting software in detail.

Q4) a) From the following Trial Balance of Ganesh Traders you are required
to prepare Final Accounts. [20]

Trial Balance as on 31st March 2022
Particulars Debit (<) Credit (<)
. Opening stock 32,750
. Purchases 55,000
. Sales 89,500
. Purchases Returns 2,630
. Sales Returns 4,480
. Royalties 4,000
. Wages & Salaries 8,000
. Office Salaries 11,000
. Bills Receivable 19,250
. Bills Payable 12,500
. Office equipments 20,000
. Motor Van 30,400
. Plant and Machinery 25,000
. Bad debts 2,500
. Advertisement 6,000
. Cash in Hand 5,000
. Sundry Debtors 31,250
. Reserve for Bad debts 1,000
. Sundry Creditors 24,000
. Capital 1,25,000

2,54,630 2,54,630
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Adjustments :

i) Closing stock on 31st March, 2022 was valued at cost price
< 19,000, Market price < 20,000

ii) Office salaries outstanding  < 1,000

iii) Prepaid Wages  < 1,000

iv) Provide depreciation @5%, 10%, &15% on office equipments,
Motor van and plant and Machinery respectively.

OR

b) Explain the types of softwares of accounting in detail.

Q5) Write short notes on : (any 2) [10]

a) Subsidiary Books

b) Accounting Vouchers

c) Book keeping

d) Goodwill


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Q1) Attempt any five of the following. [10]

a) Let V be a vector space, u be a vector, then prove that 0 0.u 

b) Determine whether the set of all vectors of the form ( ,0,0),a where a is a
real number, is a subspace of 3R .

c) Find an equation of the plane spanned by the vectors (0,1,2)u  and
(7,1, 7).v  

d) Is the set of vectors 2 2{3 2 ,6 4 2 }x x x x    linearly dependent set in

2P ? Justify!

e) Show that the set {(2,1), (3,0)}S  forms a basis for 2.R

f) If :T V W is a linear transformation then prove that ( ) ( ),T v T v   for
all v in .V

g) Let 2 2:T R R be a linear transformation given by the formula
( , ) (2 , 8 4 ).T x y x y x y    Show that (–1,4) is in (T).R

Q2) Attempt any Four of the following. [20]
a) Solve:

2 0
2 4 3 3
3 6 5 4

x y z
x y z
x y z

  
  
  

by Gaussian elimination and back-substitution method.

P.T.O.
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b) If 0AX  is a homogeneous linear system of m equations in n unknowns,
then prove that the set of solution vectors is a subspace of nR .

c) Consider the vectors (1,2, 1)u   and (6,4,2)v  in 3R . Show that
(4,–1,8) is not a linear combination of u and v.

d) If :T V W is a linear transformation, then prove that the range of T is a
subspace of W.

e) Prove that all bases for a finite-dimensional vector space have the same
number of vectos.

f) Consider the basis 1 2 3,v ,S v v for 3R , where 1 2(1,1,1), (1,1,0),v v 

3 (1,0,0).v   Let 3 2:T R R be the linear transformation for which

1( ) (1,0),T v  2 3( ) (2, 1), ( ) (4,3).T v T v    Find a formula for

1 2 3( , , ),T x x x and then use that formula to compute (2, 3,5).T 

Q3) Attempt any four of the following: [20]
a) Determine whether the vectors 1 2(1, 1,2), (1,2,3),v v    and 3 (2,1,5)v 

span the vector space 3.R
b) Determine whether the polynomials 2

1 21 , 5 3 3 ,p x p x x    
2

3 3 3 2p x x   are linearly dependent or linearly independent in 2.P

c) Show that the set of all points in 2R lying on a line is a vector space with
respect to the standard operations of vector addition and scalar
multiplication if and only if the line passes through the origin.

d) Find the rank and nullity of the matrix:

1 2 0 4 5 3
3 7 2 0 1 4
2 5 2 4 6 1
4 9 2 4 4 7

 
 
 
 
    

e) Show that the three vectrors 1 (0,3,1, 1),v   2 (6,0,5,1),v  and

3 (4, 7,1,3)v    form a linearly dependent set in 4.R

f) Let 1 1 2:T P P and 2 2 2:T P P be the linear transformations given by the
formulas 1( ( )) ( )T p x xp x and 2 ( ( )) (2 4).T p x p x  Compute the
composition 2 1 1 2( ) : .T T P P
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Q4) Attempt any TWO of the following. [20]
a) Let V be an n-dimensional vector space, and let S be a set in V with

exactly n vectors. Then prove that S is a basis for V if and only if S
spans V or S is linearly independent.

b) If 1 2, ..., nS v v v is a basis for a vector space V, then prove that every
vector v in V can be expressed in the form 1 1 2 2 ... n nv c v c v c v    in
exactly one way.

c) If :T V W is a linear transformation from a finite-dimensional vector
space V to a vector space W, then prove that the range of T is finite-
dimensional, and ( ) ( ) ( ).rank T nullity T dim V 

d) Prove that the set 2,2M of all 2×2 matrices with the usual operations of
addition and scalar multiplication is a vector space.


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Q1) Write short notes (Any 3) [15]
a) Nationalism
b) Definition of caste system
c) Dominant caste
d) Caste and occupation
e) Caste structure in India

Q2) Answer the following questions in 50 words each. (Any 3) [15]
a) Explain the growth and development of sociology in Indian Universities
b) What is an Indological perspective?
c) Explain the contribution of British officers in development of Indian

Sociology
d) Explain the concept of modernization
e) Explain Dr. B.R. Ambedkar’s thoughts on emergence of Untouchability

Q3) Answer the following questions in 200 words each. (Any 2) [20]
a) Explain the Process of emergence of Sub-castes according to Dr. G.S.

Ghurye
b) Explain Dr. B.R. Ambedkar theory of Caste in brief
c) Explain the social background of Indian Nationalism
d) Describe the colonial background of emergence of Indian Sociology.

Q4) Answer the following questions in 300 words each. (Any 1) [20]
a) Explain M.N. Srinivas’s concept of Sanskritization
b) Elaborate the characteristics of caste system drawn by Dr. Ghurye.



P.T.O.
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Total No. of Questions : 4]

[5961]-405
S.Y.B.A.

SOCIOLOGY
DSE-1B : Development of Sociology  in India

(2019 Pattern) (CBCS) (Semester - IV)  (24371)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3734

à.à.à.à.à.1) Imbrbn¡H$r H$moUË¶mhr VrZ {Q>nm {bhm. [15]
A) amï´>dmX
~) Om{Vì¶dñWoMr ì¶m»¶m
H$) à^mdr OmVr
S>) OmV Am{U ì¶dgm¶
B) ^maVmVrb Om{Vì¶dñWoMr g§aMZm

à.à.à.à.à.2) Imbrbn¡H$r H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. [15]
A) ^maVr¶ {dÚmnrR>m§‘Ü¶o Pmbobm g‘mOemñÌmMm {dH$mg Am{U dmT> ñnï> H$am.
~) àmÀ¶m{dÚm Ñ{ï>H$moZ åhUOo H$m¶?
H$) ^maVr¶ g‘mOemñÌmÀ¶m {dH$mgmV {~«{Q>e A{YH$mè¶m§Mo ¶moJXmZ ñnîQ> H$am.
S>) AmYw{ZH$sH$aUmMr g§H$ënZm ñnï> H$am.
B) S>m°. ~m~mgmho~ Am§~oS>H$am§Mo Añn¥í¶VoÀ¶m CËnÎmrMo {dMma ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$r H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) S>m°. Kw¶} ¶m§À¶m Ñï>rH$moZmVyZ nmoQ>OmVtÀ¶m {Z{‘©VrMr n«{H«$¶m ñnï> H$am.
~) S>m°. ~m~mgmho~ Am§~oS>H$am§À¶m OmVrì¶dñWoMm {gÕm§V WmoS>³¶mV ñnï> H$am.
H$) ^maVr¶ amï´>dmXmMr gm‘m{OH$ nmíd©̂ y‘r ñnï> H$am.
S>) ^maVr¶ g‘mOemñÌmÀ¶m {Z{‘©VrMr dgmhm{VH$ nmíd©̂ y‘r ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$r H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [20]
A) E‘.EZ.lr{Zdmg ¶m§Mr g§ñH¥$VrH$aUmMr g§H$ënZm g{dñVa ñnï> H$am.
~) S>m°. Kw¶} ¶m§Zr gm§{JVbobr OmVrì¶dñWoMr d¡{eï>²¶o g{dñVa ñnï> H$am.





Q1) Attempt each of the following :

a) Choose the correct alternative in each of the following : [1 each]

i) The p-chart used to study process under control related to :

A) average B) dispersion

C) defects D) defective

ii) In statistical process control the producer’s risk is :

A) rejecting good quality lot.

B) accepting good quality lot.

C) rejecting bad quality lot.

D) accepting bad quality lot.

iii) In statistical process control, the consumer’s risk is :

A) rejecting good quality lot.

B) accepting good quality lot.

C) rejecting bad quality lot.

D) accepting bad quality lot.

Total No. of Questions : 4]
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iv) Catching the shift on rth sample follows ________ distribution:

A) Uniform B) Binomial

C) Geometric D) Poisson

v) Natural Tolerance Limit in control charts are based on :

A) Normal distribution. B) Geometric distribution.

C) Poisson distribution. D) Binomial distribution.

b) State whether each of the following statements is true or false :
[1 each]

i) ATI of single sampling plan and double sampling plan is always
same.

ii) Sample point below LCL in p-chart is known as high-spot.

iii) The variation in process is studied by R-chart.

iv) Probability of accepting a bad lot is considered as ‘Producers
risk’.

v) Sample point below LCL in c-chart is known as low-spot.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Describe the procedure of constructing p-chart with fixed the subgroup
size(n).

b) What is SQC? Describe its uses.

c) Write a note on ‘Producer’s risk’ and ‘Consumer’s risk related to SQC.

d) Explain the term ‘Average Total Inspection’ in single sampling plan.

e) Number of defects per unit from a production process are noted and
the following data are recorded :

Item No. 1 2 3 4 5 6 7 8 9 10

No. of defect. 2 1 1 9 0 3 4 2 1 3

Find 3-σ control limits of c-chart. Comment on the statistical control
of production process.

f) Describe the working of Single Sampling Plan.
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) State control limits for constructing X  charts when standards are known
and also unknown.

b) For a sample plan N = 500, n = 30 and c = 1, determine the probability
of acceptance of the lot of quality 1% defectives.

c) Describe the terms AOQ and AOQL in single sampling plan.

d) Seven samples of sizes 100 each are drawn from a production process
and the following data are recorded :

Subgroup No. 1 2 3 4 5 6 7

No. of defective items 2 1 1 9 0 3 5

Find 3-σ control limits of p-chart. Comment on the statistical control
of production process.

e) Distinguish between specification limits and natural tolerance limits in
capability studies.

f) Describe the construction of operating characteristics (OC) curve in
case of double sampling plan.

Q4) Attempt any two of the following : [10 each]

a) The following data indicates the percentage of defectives in a sample
of size 50 taken at equal intervals of a production process:

Sample No. 1 2 3 4 5 6 7 8 9 10

% of defective 0.09 0.11 0.13 0.05 0.14 0.6 0.2 0.12 0.7 0.4

Sample No. 11 12 13 14 15 16 17 18 19 20

% of defective 0.13 0.06 0.18 0.14 0.17 0.14 0.15 0.8 0.10 0.16

Draw the p-chart to check whether the production process is under
control. Suggest the control limits for future use.
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b) Ten subgroups of size 5 each are inspected; it has been found that

ΣX i = 40 and ΣRi = 0.8. Calculate control limits for R-chart. Assuming
that R-chart shows controlled situation, calculate control limits for

X -chart. [For n = 5, D3 = 0, D4 = 2.l15, A2 = 0.577 and d2 = 2.326]

c) For Double sampling plan with N = 1000, n1 = 40, C1 = 0, n2 = 60 and
C2 = 3. Compute the probability of accepting a lot of incoming quality
level 1%. Also, find ATI.

d) i) Write a note on Capability indices(Cp) and Capability Performance
indices(Cpk). [5]

ii) Distinguish between p-chart and c-chart. [5]





Total No. of Questions : 4]

[5961]-408
S.Y.B.A.

PUBLIC ADMINISTRATION
DSE-2B : Development Administration

(2019 CBCS Pattern) (Semester - IV) (24442)

Time : 2½ Hours] [Max. Marks :70
Instructions to the candidates:

All questions must be solved The numbers to the right indicate the full marks for
the question.

PA-3737 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following questions write in 20 words each. (any Eight) [16]

a) Name any two NGO’s.

b) What is globalization.

c) Name two NGO’s working for women.

d) Explain the concept of human development.

e) What is Bureaucracy.

f) Name two NGO’s that contribute to child development.

g) Meaning of sustainable Development  concept?

h) What is the percentage of female literacy in India?

i) Who is the father of Human Development?

j) Name any two Human Development Index published by United Nations.

Q2) Answer the following questions write in 50 words. (any four) [16]
a) Role of NGO’s in women’s Development.

b) Meaning of Bureaucracy.

c) Voluntary organizations.

d) Women Empowerment.

e) Sustainable Development objects.

f) Criteria determining the nature of NGO’s.

P.T.O.
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Q3) Answer the following questions write in 100 words. (any three) [18]
a) Explain the role of NGO’s in public administration.

b) Explain the contribution of NGO’s in child development.

c) Explain the characteristics of Bureaulcrace.

d) Explain the views on gender equality in development.

Q4 Answer the following question write in 200 words. (any two) [20]
a) Explain the concept of sustainable development.

b) Explain Maxweber’s Model at bureaucracy.

c) What is a voluntary organization Explain the role of voluntary organizations
in development.


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Total No. of Questions : 4]

[5961]-408
S.Y.B.A.

PUBLIC ADMINISTRATION
DSE-2B : Development Administration

(2019 CBCS Pattern) (Semester - IV) (24442)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JyU Xe©{dVmV.

PA-3737

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXmV {bhm. (H$moUVohr AmR>) [16]

A) H$moUË¶mhr XmoZ J¡a gaH$mar g§KQ>ZmMr (NGO’s) Zmdo gm§Jm.

~) OmJ{VH$sH$aUmMr ì¶m»¶m gm§Jm.

H$) ‘{hbm§ gmR>r H$m‘ H$aUmè¶m XmoZ ñd¶§godr g§ñWmMr Zmdo gm§Jm.

S>) ‘mZd {dH$mg g§H$ënZm ñnï> H$am.

B) ZmoH$aemhr åhUOo H$m¶?

’$) ‘wbm§À¶m {dH$mgmV ¶moJXmZ XoUmè¶m XmoZ ñd¶§godr g§ñWmMr Zmdo gm§Jm.

¶) emídV {dH$mg g§H$ënZoMm AW©?

a) ^maVmV ‘{hbm gmjaVm Xa {H$Vr Q> o̧$ Amho?

b) ‘mZd {dH$mg {ZX}e§H$mMo OZH$ H$moU?

d) g§¶wº$ amï´>mX²dmao àH$m{eV Ho$bo OmUmao H$moUVohr XmoZ ‘mZd {dH$mg {ZX}eH$ gm§Jm.

à.à.à.à.à.2) Imbrb àíZmMr CÎmao àË¶oH$s 50 eãXmV {bhm. (H$moUVohr Mma) [16]

A) ór {dH$mgmVrb ñd¶§godr g§ñWmMr ŷ{‘H$m.

~) ZmoH$aemhrMm AW©

H$) ñd¶§godr  g§KQ>Zm

S>) ór g~brH$aU

B) emídV {dH$mg CX²XrîQ>ço

’$) J¡agaH$mar g§ñWmMoo (NGO’s) ñdê$n R>a{dUmao ‘mnX§S>.
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [18]

A) gmd©O{ZH$ àemgZmVrb J¡a - gaH$mar g§ñWmMr ŷ{‘H$m ñnï> H$am.

~) ~mbH$m§À¶m {dH$mgmVrb ñd¶§godr g§ñWmMo ¶moJXmZ ñnï> H$am.

H$) ZmoH$aemhrMo d¡{eîQ>ço ñnï> H$am.

S>) {dH$mgmVrb b¢{JH$ g‘mZVm ¶mda ‘V ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) emídV {dH$mgmMr g§H$ënZm ñnï> H$am.

~) ‘°³g do~aà{UV ZmoH$aemhrMo àmê$n ñnï> H$am.

H$) ñd¶§godr g§KQ>Zm åhUOo H$m¶? ñd¶§godr g§ñWmMr {dH$mgmVrb ŷ{‘H$m ñnï> H$am.


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Total No. of Questions : 5]

[5961]-409

S.Y. B.A.
CC - 1DGG4 : GERMAN GENERAL
(2019 Pattern) (Semester - IV) (24043)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
1) All questions are compulsory.

2) Use of dictionary is allowed.

PA-4219 [Total No. of Pages : 3

SEAT No. :

P.T.O.
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Total No. of Questions : 4]

[5961]-410
S.Y. B.A

g§ñH¥$V (Sanskrit)

DSE - 1B : H$mì¶emñÌ‘² VWm H$m¡{Q>br¶mW©emñÌ‘²
(2019 Pattern) (CBCS) (Semester - IV) (24111)

Time : 2½ Hour] [Max. Marks : 70
Instructions to the candidates:

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.
All questions are compulsory.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.
Figures to right indicate marks.

PA-4200 [Total No. of Pages : 2

SEAT No. :

Q1) A) ggÝX^© ñnï>rH$aU H$am. (H$moUVohr EH$) [5]
Write reference to context (any one):

i) VmËn¶m©Wm}@{n Ho$fw{MV²&
ii) Aï>mXedJm©Um‘maj{dn¶m©g§ H$ma¶oV²&

B) H$moUVmhr EH$ Ab§H$ma bjU XoD$Z, gmoXmhaU ñnîQ> H$am. [5]
Define any one Ab§H$ma with example.

i) Ñï>mÝV:&
ii) An•þ{V:&

C) H$moUVohr EH$ d¥Îm bjU XoD$Z, gmoXmhaU ñnï> H$am. [5]

Define any one d¥Îm with example.

i) ŵOL²>Jà¶mV‘²&
ii) CnOm{V:&

Q2) A) g§ñH¥$V^mfoVyZ CÎmao {bhm. (H$moUVohr nmM) [10]
Answer in the g§ñH¥$V language (any five):

i) dmÀ¶mW©: H$¶m km¶Vo?
ii) MVwWm}@W©: Zm‘ H$mo@W©:?
iii) dmÀ¶ Ed dm³¶mW© B{V Ho$fm§ ‘V‘²?
iv) ñH$ÝYdmaà¶mUH$mbo EH$¶moOZ§ J{V: à{V{XZ§ gm H$W§ H$Ï¶Vo?
v) eyÝ¶nmb: H$ dV©Vo?
vi) gL²>Ho$Z: Hw$Ì J¥h¶Vo?

P.T.O.
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B) C{MVm{Z ¶w½‘m{Z {d{MZwV (H$mÝ¶{n n#m) [5]

i) A{^{hVmÝd¶dm{XZ: A) àm^mH$a‘r‘m§gH$m:

ii) bú¶mW©: ~) gmÝVamW©:

iii) ApÝdVm{^YmZdm{XZ: H$) Amgma:

iv) Hw$ÝVm: à{depÝV S>) H$m¡{Q>br¶mW©emñÌo Xe‘m{YH$aU‘²

v) {‘Ì~b‘² B) ^mÅ>{‘‘m§gH$m:

vi) gm§J«{‘H$‘² ’$) CnmXmZbjUm

Q3) A) bjUm{dMma:& [12]

qH$dm/OR

AmWm}ì¶‚mZm

B) {Q>n {bhm. (H$moUVmhr EH$) [8]

Write a short note (any one):

i) AWm©Zm§ ì¶ÄOH$Ëd‘²&

ii) dmMH$eãXbjU‘²

Q4) A) H$m¡{Q>br¶mW©emñÌo ì¶yh{dMma:& [12]

qH$dm/OR

gm§J«{‘Ho$ Hy$Q>¶wÕm{dH$ënm: ñdg¡Ý¶moËgmhZ#m&

B) {Q>n {bhm. (H$moUVohr EH$) [8]

Write a short note (any one):

i) ñH$ÝYdma{Zdoe:&

ii) H$m¡{Q>br¶mW©emñÌo ñH$ÝYdmaà¶mU{dMma:&





Total No. of Questions : 4]

[5961]-411
S.Y.B.A.

HISTORY
DSE-2B : Glimpses of the Modern World -II

(2019 Pattern) (Semester - IV) (24172)

Time : 2½ Hours] [Max. Marks :70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3740 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any one of the following in 300 words. [15]
a) Write a review of the united Nations (UNO)

OR
b) Evaluate the Quit India Movement.

Q2) Answer any one of the following in 300 words. [15]
a) Analyse the work of Adolf Hitler

OR
b) Write a detailed note on Militarism in Japan.

Q3) Answer any two of the following in 200 words. [20]
a) Describe the reforms of Mustafa Kemala Pasha.
b) What were the objectives and Principles of the united Nations

organization.
c) Elucidate upon the Nationalist Movements in AFrica.
d) Write a note on the emergence of America as a super power.

Q4 Write short Notes on any four. [20]
a) Stalin
b) Dandi March
c) Musolini’s reforms in Italy
d) General Tojo
e) Non-Alignment Movement
f) Dr. Sun-yat-sen


P.T.O.
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Total No. of Questions : 4]

[5961]-411
S.Y.B.A.

HISTORY
DSE-2B : Glimpses of the Modern World -II

(2019 Pattern) (Semester - IV) (24172)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© Amho.

2) COdrH$S>rb AmH$S>o nwU© JwU Xe{d©VmV.

PA-3740

à.à.à.à.à.1) Imbrbn¡H$r H$moUË¶mhr EH$m àíZmMo 300 eãXm§V CÎma {bhm. [15]
A) g¶wº§$ amï´>g§KmMm AmT>mdm ¿¶m.

qH$dm
~) N>moS>mo ^maV MidirMm AmT>mdm ¿¶m.

à.à.à.à.à.2) Imbrbn¡H$r H$moUË¶mhr EH$m àíZmMo 300 eãXm§V CÎma {bhm. [15]
A) {hQ>baÀ¶m H$m‘{JarMm AmT>mdm ¿¶m.

qH$dm
~) OnmZ‘Yrb bîH$admX ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$r H$moUË¶mhr XmoZ àíZmMr 200 eãXm§V CÎmao {bhm. [20]
A) ‘wñV’$m Ho$‘mb nmemÀ¶m gwYmaUm ñnï> H$am.
~) g§¶wº$ amï´>g§KQ>ZoMr CÔrï>o gm§JyZ VËdo ñnï> H$am.
H$) Am{’«$Ho$Vrb amï´>dmXr MidirMm AmT>mdm ¿¶m.
S>) A‘oarHo$Mm ‘hmgÎmm åhUyZ CX¶ ¶mda EH  {Q>n {bhm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]
A) ñQ>°{bZ
~) Xm§S>r¶mÌm
H$) ‘wgmo{bZrÀ¶m BQ>brVrb  gwYmaUm
S>) OZab Q>moOmo
B) A{báVmdmXr Midi
’$) S>m°. gZ-¶V-goZ


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Total No. of Questions : 6]

[Total No. of Pages : 4

[5961]-412
S.Y. B.A. (Skill Development in Music) (Semester - IV)

SEC - 2B (22320) : amJ g§JrV Jm¶Z
(2019 Pattern) (CBCS) (24214)

doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) n{hbm àíZ gmoS>{dUo A{Zdm¶© Amho.

2) Cd©[aV nmM àíZm§n¡H$s H$moUVohr Mma àíZ gmoS>dm.
3) gd© àíZm§g àË¶oH$s 5     JwU AmhoV.

PA-4227

àíZ 1) nwT>rbn¡H$s H$moUË¶mhr EH$m amJmVrb N>moQ>m »¶mb ñda{bnr~Õ H$am. [5]
A) {d^mg

~) qhS>mob

H$) h‘ra

àíZ 2) nwT>rbn¡H$s H$moUË¶mhr EH$m amJmMr g§nyU© emñÌr¶ ‘m{hVr {bhm. [5]

A) M§ÐH§$g

~) Om¡Znwar

H$) {d^mg

àíZ 3) nwT>rbn¡H$s H$moUË¶mhr EH$m VmbmMr g§nyU© ‘m{hVr {bhÿZ Ë¶m VmbmMm R>oH$m EH$nQ>rV {bhm. [5]

A) {ÌVmb

~) Mm¡Vmb

H$) EH$Vmb

P.T.O.

SEAT No. :
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àíZ 4) ì¶m»¶m {bhm (H$moUË¶mhr nmM) [5]

A) Amamoh

~) Adamoh

H$) nH$S>

S>) dmXrñda

B) {ddmXr ñda

’$) dÁ¶©ñda

àíZ 5) nwT>rbn¡H$s H$moUË¶mhr EH$m g§JrVkmMo OrdZM[aÌ d gm§Jr{VH$ ¶moJXmZ {dñV¥V {bhm. [5]

A) n§. ^r‘goZ Omoer

~) n§. ìhr. Or. OmoJ

H$) CñVmX A‘ra Im§

àíZ 6) nwT>rbn¡H$s H$moUË¶mhr EH$m {df¶mda g{dñVa {bhm. [5]

A) »¶mb Jm¶H$s

~) g§JrV Am{U gm{hË¶

H$) ‘hmamï´>mMo bmoH$g§JrV


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Total No. of Questions : 6]

[5961]-412
S.Y. B.A. (Skill Development in Music) (Semester - IV)

SEC - 2B (22320) : V~bm
(2019 Pattern) (CBCS) (24214)

doi : 2 Vmg]                      [EHy$U JwU : 25

gyMZm : 1) ghmn¡H$s H$moUVohr nmM àíZ gmoS>dm.

2) gd© àíZm§Zm àË¶oH$s 5 ¶mà‘mUo g‘mZ JwU.

3) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PA-4227

àíZ 1) PnVmb‘Ü¶o EH$ H$m¶Xm ^mVI§S>o nÕVrV {bhm. [5]

àíZ 2) Imbrbn¡H$s H$moUË¶mhr EH$m VmbmMm ‘m{hVrgh R>oH$m {bhm. [5]

A) AmS>mMm¡Vmb

~) VrbdmS>m

H$) Pw‘am

àíZ 3) ì¶m»¶m {bhm : [5]

A) noeH$ma

~) H$m¶Xm

H$) aobm

S>) ad (am¡)

B) JV

P.T.O.
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àíZ 4) V~bm dmÚmÀ¶m {Z{‘©Vr g§X^m©Vrb {d{dY ‘Vàdmhm§Mr ‘m{hVr {bhm. [5]

àíZ 5) {Z~§Y {bhm (H$moUVmhr EH$) [5]

A) V~bm dmXZmMo V§Ì

~) {Xëbr ~mO

àíZ 6) OrdZM[aÌ {bhm (H$moUVohr EH$) [5]

A) C. Ah‘XOmZ {WaH$dm±

~) n§. gm‘Vm àgmX

H$) PmH$sa hþgoZ





Total No. of Questions : 4]

[5961]-413
S.Y.B.A.
YOGA

CC-1D : Yog Vidya - IV
(2019 Pattern) (Semester - IV) (24243)

Time : 2½ Hours] [Max. Marks :50
Instructions to the candidates:

All quesitons must be resolved.

PA-3742 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any of the following five questons in one sentence. [5]
a) Which yoga book was written by Maharshi Patanjali?
b) Who wrote the book ‘Goraksha Samhita’?
c) State the names of Pranayama?
d) State the names of five Yama?
e) State the names of five Niyama?
f) State the names of five Karmendriye?
g) Definition of health according to the World Health Organization?

Q2) Write the short note (Any two) [10]
a) Physical Health
b) Mental Health
c) Social Health

Q3) Answer any two of the following questions in 150 words. [20]
a) Explain the need and importance of yoga in the modern age?
b) Explain the importance of Yoga Sangram?
c) Will Practicing Yoga Develop Personality? Discuss?

Q4 Answer any one of the following questions in detail. [15]
a) Discuss the role of yoga in the educational process?
b) Explain the types and importance of pranayama?



P.T.O.
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Total No. of Questions : 4]

[5961]-413
S.Y.B.A.
YOGA

CC-1D : Yog Vidya
(2019 Pattern) (Semester - IV) (24243)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

PA-3742

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr nmM àý§Mr EH$ dm³¶mV CÎmao Úm. [5]
A) ‘h{f© nV§Obr¶m§Zr H$moUVm ¶moJ J«§W {bhrbm.
~) Jmoaj g§§{hVm hm J«§W Hw$Ur {bhrbm.
H$) àmUm¶m‘m§Mr Zmdo gm§Jm.
S>) nmM ¶‘m§Mr Zmdo gm§Jm.
B) nmM {Z¶‘m§Mr Zmdo gm§Jm.
’$) nmM H$‘]ÝÐr¶m§Mr Zmdo gm§Jm.
¶) W.H.O. Zwgma Aamo½¶mMr ì¶m»¶m gm§Jm.

à.à.à.à.à.2) {Q>nm Úm. (H$moUVohr XmoZ) [10]
A) emar[aH$ ñdmñÏ¶
~) ‘mZ{gH$ ñdmñÏ¶
H$) gm‘m{OH$ ñdmñÏ¶

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àým§Mr 150 eãXm§V CÎmao Úm. [20]
A) AYw{ZH$ ¶wJmV ¶moJmMo ‘hËd Am{U JaO ñnï> H$am.
~) ¶moJ g§J«m‘ ¶m J«§WmMo ‘hËd gm§Jm.
H$) ì¶{º$‘Ëd {dH$mg Am{U ¶moJ gamd. MMm© H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àým§Mo g{dñVa CÎma Úm. [15]
A) e¡j{UH$ à{H«$¶oV ¶moJmMr ŷ{‘H$m {dfX H$am.
~) àUm¶m‘m§Mo àH$ma d ’$m¶Xo ñnï> H$am.X





Q1) Answer any eight (Around 20 words each): [16]

a) Define Hotel.

b) What are various types of hotels?

c) Explain the concept of youth hotel.

d) Define motels.

e) What are the components of hotel?

f) Who is founder of Taj hotel chain?

g) What is the importance of hotel in tourism industry?

h) Who was the founder of Oberoi hotel chains?

i) Define capsule hotel.

j) What do you understand by the term "wake up call"?

Q2) Write short notes on any three (Around 50 words each): [18]

a) Explain the concept front office in hotel industry.

b) Elaborate the term accommodation.

c) Explain various types of star hotels.

d) Explain the concept of Dharmasala in India.

Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-415
S.Y. B.A. (Vocational Stream)

TRAVEL AND TOURISM MANAGEMENT
Hotel Management (Theory)

(2019 Pattern) (CBCS) (Semester - IV) (Paper - IV) (24861)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks

3) Draw neat diagrams and sketches wherever necessary.
4) Use of map stencil is allowed.

PA-4261

SEAT No. :

P.T.O.
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Q3) Answer any two (Around 100 words each): [16]

a) What do you mean by American hotel meal plan?

b) Explain various types of hotel rooms.

c) What is the future growth of hotel industry in India?

Q4) Answer in detail any one (Around 500 words each): [20]

a) Explain the procedure of "check in" and "check out".

b) What are new forms of reservation in the hotel that has arisen in last
two decade?





Total No. of Questions : 5]

[5961]-416
S.Y. B.A.

SANSKRIT (g§ñH¥$V)
DSE-2B : AWd©doX Am{U Cn{ZfX

(2019 Credit Pattern) (Semester - IV) (24112)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3745

à.1) Imbrbn¡H$s H$moUË¶mhr Xmohm|Mo gQ>rn ^mfm§Va H$am. [10]

Translate any two of the following with explaination.

1) Am{bJr M {d{bJr M {nVm M ‘mVm M&

{dX²‘ d: gd©Vmo ~ÝÜdagm: qH$ H$[aî¶W&&

2) AZwd«V: {nVw: nwÌmo ‘mÌm ̂ dVw g§‘oZm:&

Om¶m nË¶o ‘Yw‘Vt dmM§ dXVw empÝVdm‘²&&

3) E‘m§ Hw$‘mañVê$U Am dËgmo OJVm gh&

E‘m§ n[aòwV: Hw$å^ Am XÜZ: H$be¡aJw:&&

à.2) Imbrbn¡H$s H$moUË¶mhr EH$mMo g{dñVa CÎma {bhm. [15]

Write a long answer to any one of the following.

1) AWd©doXmMo A§VJ©V ñdê$n content of the Atharvaveda

2) gn©{dfZmeZgyº$‘² (AWd©doX - 5.13)

à.3) H$moUË¶mhr Xmohm|Mo gg§X^© ñnï>rH$aU H$am. [10]

Explain with reference to context (any two).

1) g§ lwVoZ J‘o‘{h ‘m lwVoZ {d am{Y{f&

2) VoZ Ë¶ºo$Z ^wÄOrWm ‘m J¥Y: H$ñ¶pñdÕZ‘²&

3) Z {dÎmoZ Vn©Ur¶mo ‘Zwî¶mo bßñ¶m‘ho {dÎm‘Ðmú‘ MoÎdm&

[Total No. of Pages : 2

SEAT No. :
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à.4) A) H$moUË¶mhr EH$mMo g{dñVa CÎma {bhm. [15]

Write a detailed answer to any one.

1) Amê${UídoVHo$Vwg§dmX:

2) ¶‘Z{MHo$Vgmo: g§dmX:

~) Imbrbn¡H$s H$moUË¶mhr XmoZ Q>rnm {bhm. [10]

Write any two short notes.

1) V¡{Îmar¶mon{ZfX²

2) N>mÝXmo½¶mon{ZfX²

3) ídoVHo$Vw

à.5) g§ñH¥$VmV CÎmao {bhm. (H$moUVohr nmM) [10]

Answer in Sanskrit. (Any five)

1) "^¥Jwd„r' H$ñ¶m: Cn{ZfX: ^mJ:?

2) "doX' B{V eãXñ¶ AW©: H$:?

3) ‘oYmOZZgyº$ñ¶ (AWd©doX 1.1) G {f: XodVm M?

4) N>mÝXmo½¶mon{ZfX: àUoVm H$:?

5) ídoVHo$Vw: H$ñ¶m‘² Cn{Zf{X d{U©V:?

6) "‘ÝÌmon{ZfX²' ZmåZm H$m Cn{ZfX² {d»¶mVm?


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[5961]-417
S.Y.B.A.

HISTORY
DSE-2B : History of west Asia

(2019 Pattern) (Semester - IV) (24173)

Time : 2 ½Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3746 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 300 words any one out of two. [15]
a) Write the information about modernization of Turkestan.
b) Give an account of Arab Israel conflict.

Q2) Answer the following questions in 300 words any one out of two. [15]
a) State the information about Nasser and examine the Suez crises.
b) Discuss about the achievement of Rezashah pahlavi.

Q3) Answer the following questions in 200 words Any two out of four. [20]
a) Examine the zionist movement.
b) Discuss about the rise of Israel.
c) Give an Account of achievement  of Rashid Ali.
d) Explain the Iran-Iraq conflict.

Q4 Write a short notes any four out of six. [20]
a) Turkestan and world war I
b) Balfour Declaration
c) Iran and world war II
d) Wahabi movement
e) Ibn saud
f) Gulf war



P.T.O.
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Total No. of Questions : 4]

[5961]-417
S.Y.B.A.

HISTORY
DSE-2B : History of west Asia

(2019 Pattern) (Semester - IV) (24173)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) gd© àíZm§Zm g‘mZ JwU AmhoV.

PA-3746

à.à.à.à.à.1) Imbrbn¡H$r H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [15]
A) VwH©$ñWmZÀ¶m AmYw{ZH$sH$aUm {df¶r ‘m{hVr {bhm.
~) Aa~ BñÌmB©©b g§Kfm©Mm AmT>mdm ¿¶m.

à.à.à.à.à.2) Imbrbn¡H$r H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [15]
A) Zmgoa{df¶r ‘m{hVr gm§Jm Am{U gwEP H$mbdm g§H$Q>mMo n[ajU H$am.
~) aoPmehm nhbdrÀ¶m H$m‘{Jar {df¶r MMm© H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]
A) {PAm°{ZñQ> MidirMo n[ajU H$am.
~) BñÌmB©bÀ¶m CX¶m{df¶r MMm© H$am.
H$) a{eX AbrÀ¶m H$m‘{JarMm AmT>>mdm ¿¶m.
S>) BamU - BamH$ g§Kf© ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr Mma {Q>nm {bhm. [20]
A) VwH©$ñWmZ Am{U n{hbo ‘hm¶wÕ
~) ~mb’$moa KmofUmnÌ
H$) BamU Am{U Xþgao ‘hm¶wÕ
S>) dhm~r Midi
B) BãZ Am¡X
’$) Jë’$ ¶wÕ


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S.Y. B.A.

DSE - 2B : THEORIES OF PERSONALITY
(2019 Pattern) (Semester - IV) (24222)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4201 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words (Any four): [20]
a) Write the misconceptions of personality.
b) Explain the characteristics of introvert personality.
c) Write the applications of operant conditioning.
d) Define personality.
e) Explain Id, Ego and Superego.
f) Explain OCEAN Model.

Q2) Answer the following questions in 200 words each (any two) [20]
a) Describe the trait theory of Allport.
b) Explain determinants of personality.
c) Explain the characteristics of classical conditioning.
d) Explain need theory of murray.

Q3) Answer the following questions in 400 words (any one) [20]
a) Explain in details Cattell’s factor theory of personality.
b) Explain stimulus-response theory of Dollard and Miller.

Q4) Write short notes (Any two): [10]
a) Inferiority complex.
b) Extrovert personality.
c) Collective unconsciuysness.
d) Sheldon’s classification of personality.


P.T.O.
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Total No. of Questions : 4]

[5961]-418
S.Y. B.A.

DSE - 2B : THEORIES OF PERSONALITY
(2019 Pattern) (Semester - IV) (24222)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4201

à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]
A) ì¶{º$‘Ëdm{df¶r AgUmao J¡ag‘O gm§Jm.
~) A§V‘w©I ì¶{º$‘ËdmMr d¡{eï>²¶o ñnï> H$am.
H$) ì¶mnmaH$ A{^g§YmZmMo Cn¶moOZ {bhm.
S>) ì¶{º$‘ËdmÀ¶m ì¶m»¶m ñnï> H$am.
B) BX²‘, Ah‘² Am{U namh‘² g§H$ënZm ñnîQ> H$am.
’$) AmoeZ (ocean) àmê$n ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) AmënmoQ>© ¶m§Mm JwU{deof {gÕm§V ñnï> H$am.
~) ì¶{º$‘ËdmMr {ZYm©aHo$/{Z¶m‘Ho$ ñnï> H$am.
H$) A{^OmV A{^g§YmZmMr d¡{eï>¶o ñnï> H$am.
S>) ‘ao ¶m§Mm JaO {gÕm§V ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mo 400 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]
A) H°$Q>ob ¶m§Mm ì¶{º$‘ËdmMm KQ>H$ {gÕm§V g{dñVa ñnï> H$am.
~) S>mobmS>© Am{U {‘ba ¶m§Mm CÔrnH$-à{V{H«$¶m {gÕm§V ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr XmoZ) [10]
A) Ý¶yZJ§S> ^md
~) ~{h‘w©I ì¶{º$‘Ëd
H$) gm‘w{hH$ A~moYmdñWm
S>) eoëS>Z ¶m§Mo ì¶{º$‘ËdmMo dJuH$aU


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DEFENCE AND STRATEGIC STUDIES
SEC - 2B : Introduction to Cyber Security/Information Security
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Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3748 [Total No. of Pages : 4
SEAT No. :

Q1) Select the correct option for and rewrite the statement 05 marks. [5]

a) What should be used to protect your device from malware, trojans and
viruses?

i) Bacteria ii) Antivirus

iii) Virus iv) The virus came

b) The opening up of global trade has made it possible to ship our goods
all over the world.

i) World Wide Web ii) Internet

iii) BBC Bulletin iv) Mobile

c) What are the key components of an electronic communication system?

i) One ii) Two

iii) Three iv) Four

d) The growing negative use of social media in the country can be dangerous
for anyone?

i) Human ii) State

iii) Country iv) District

e) Who started the social networking site Orkut?

i) Mark Zuckerberg ii) Reed Hoffman

iii) Jack Dorsey iv) Orkut buyokokten

P.T.O.
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Q2) Write the answers in 100 words (any three) 12 marks. [12]
a) What are the safe instructions when choosing a password?

b) Explain any four concepts of general networking.

c) What is cracking?

d) Explain the types of cyber attacks.

e) What are the principles of cyber security?

Q3) Write the answers in 200 words (any one) 08 Marks [8]
a) What is Internet? explain the importance of the Internet.

b) Describe the types of cyber security and Importance?


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Total No. of Questions : 3]

[5961]-419
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
SEC - 2B : Introduction to Cyber Security/Information Security

(2019 Pattern) (Semester - IV) (24275) (value / skill based course)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) gd© àíZm§Zm g‘mZ JwU AmhoV.

PA-3748

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z {dYmZo naV {bhm. [5]

A) ‘mbdoAa, Q´>moOZ Am{U ìhm¶agnmgyZ Amnë¶m {S>ìhmBgMo g§ajU H$aÊ¶mgmR>r H$m¶ dmnabo
nm{hOo?

i) {OdmUy ii) A±Q>rìhm¶ag

iii) ìhm¶ag iv) {dfmUy

~) OmJ{VH$ ì¶mnmaH$em‘wio Iwbm Pmë¶mZo Amnbm ‘mb gd© OJ^a nmR>{dÊ¶mMr e³¶Vm {Z‘m©U
Pmbr Amho?

i) dëS>© dmBS> do~ ii) B§Q>aZoQ>

iii) ~r.~r.gr. ~wbo{Q>Z iv) ‘mo~mB©b

H$) Bbo³Q´>m°{ZH$ g§àofU àUmbr‘Ü¶o {H$Vr à‘wI KQ>H$m§Mm g‘mdoe hmoVmo?

i) EH$ ii) XmoZ

iii) VrZ iv) Mma

S>) XoemV gmoeb ‘r{S>¶mMm dmT>Vm ZH$mamË‘H$ dmna H$moUmgmR>r KmVH$ R>é eH$Vmo?

i) ‘mZd ii) amÁ¶

iii) Xoe iv) {Oëhm

B) Am°Hw©$Q> ¶m gmoeb ZoQ>d{Hª$J gmBQ²>gMr gwédmV H$moUr Ho$br?

i) ‘mH©$ PwH$a~J© ii) [aS> hm°’$‘Z

iii) O°H$ S>m°agr iv) AmHw©$Q> ~w¶wH$moH$VoZ
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à.à.à.à.à.2) 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [12]

A) g§Ho$VeãX {ZdS>VmZm gwa{jV Aem H$moUË¶m gyMZm {Xë¶m OmVmV.

~) gm‘mÝ¶ ZoQ>d{Hª$JÀ¶m H$moUË¶mhr Mma g§H$ënZm {dfX H$am.

H$) H««°$qH$J åhUOo H$m¶?

S>) gm¶~a hëë¶mMo àH$ma {dfX H$am.

B) gm¶~a gwajoMr VËdo H$moUVr?

à.à.à.à.à.3) 200 eãXmV CÎmao {bhm. (H$moUVmhr EH$) [8]

A) B§Q>aZoQ> åhUOo H$m¶ Vo gm§JyZ ‘hËd WmoS>³¶mV gm§Jm.

~) gm¶~a gwajoMo àH$ma gm§JyZ ‘hËd {dfX H$am.





Q1) Answer the following question in 200 words. (Any one) [10]

a) State the importance of Report writing in social Research.

b) Explain the steps of Social Research.

Q2) Write short notes on (Any three) : [15]

a) Research questions.

b) Hypothesis.

c) Ethics in Research.

d) Variable.

e) Protection of respondents



Total No. of Questions : 2]

[Total No. of Pages : 2
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[5961]-421
S.Y. B.A.

 SOCIOLOGY
SEC-2B : Research Projects : Steps and Protocols

(2019 Pattern) (CBCS) (24375) (Semester - IV)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3750

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo CÎma 200 eãXm§V {bhm. (H$moUVmhr EH$) [10]

A) gm_m{OH$ g§emoYZmVrb Ahdmb boIZmMo _hËd gm§Jm.

~) gm_m{OH$ g§emoYZmÀ`m nm`è`m ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) g§emoYZ àíZ

~) J¥hrVH¥$Ë`

H$) g§emoYZmVrb Z¡{VH$Vm

S>) Mb

B) CÎmaXmË`mMr gwa{jVVm



2



Total No. of Questions : 2]

[Total No. of Pages : 2

[5961]-422
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SKILL ENHANCEMENT COURSE : SEC (PHILOSOPHY)
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(2019 Pattern) (CBCS) (24425)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3751

Q1) Write short note on any three of the following in 50 words each. [15]

a) Patanjalayoga

b) Pranayama

c) Ashtangyoga

d) The concept of Yoga

e) Samadhi

Q2) Answer the following question in 200 words (Any one) : [10]

a) What is mean by 'Samadhi', explain its types.

b) Make the comparison between ‘Hathayoga’ and ‘Rajayoga’.



SEAT No. :

P.T.O.
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[5961]-422
S.Y. B.A. (Semester - IV)

SKILL ENHANCEMENT COURSE : SEC (PHILOSOPHY)
SEC - 2B : A Course on Philosophy and Practice of Yoga

Additional Credit Course
(2019 Pattern) (CBCS) (24425)

(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3751

àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZmda Q>rnm {bhm. [15]

A) nV§Ob`moJ

~) àmUm`m_

H$) Aï>m§J`moJ

S>) `moJ g§H$ënZm

B) g_mYr

àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma {bhm. [10]

A) g_mYr åhUOo H$m` Vo gm§JyZ {VMo àH$ma ñnï> H$am.

~) "hR>`moJ' Am{U "amO`moJ' `m§Mr VwbZm H$am.





Q1) Attempt any eight question (20 words) : [16]

a) Write the definition of Human Resource Development.

b) State the concept of performance Appraisal.

c) Where is the international labour organization head quarters?

d) Definition of stress management.

e) What is mean by 'Motivision'?

f) State the function of Employee Association.

g) In which article of the constitution of India citizens were give the right
to form associations.

h) When was the International labour organization established?

i) Write the definition of 'Strike'.

j) State the definition of 'Discipline'

Q2) Attempt any four short notes (50 words) : [16]

a) Write the importance of Human Resource Development.

b) Explain the Nature of stress management.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-423
S.Y. B.A.

 PUBLIC ADMINISTRATION
(DSE1B) : Personnel Administration (CBCS)
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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SEAT No. :
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c) Write the factors affecting motivation.

d) Explain the objectives of Employee Association.

e) Write the functions of whitley council.

f) Explain the concepts of staff council.

Q3) Attempt any three questions (100 words) : [18]

a) State the challenges before human Resource Development.

b) Explain the Right to Employee association of civil services.

c) State the significance of Accountability.

d) Explain the structure of Whitely council.

Q4) Attempt any two questions (200 words) [20]

a) Describe the meaning, significance, types of motivision.

b) State the causes of corruption.

c) Write the details of types of accountability.


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[5961]-423
S.Y. B.A.

 PUBLIC ADMINISTRATION
 (DSE1B) : Personnel Administration (CBCS)

(2019 Pattern) (Semester - IV)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

PA-3752

àíZ àíZ àíZ àíZ àíZ 1) WmoS>Š`mV CÎmao {bhm. (H$moUVohr AmR>) (20 eãXm§V ) [16]

A) "_mZd g§gmYZ {dH$mg' ì`m»`m {bhm.

~) H$m ©̀{gÕr g§H$ënZm gm§Jm.

H$) Am§Vaamï´>r` H$m_Jma g§KQ>ZoMo _w»` H$m`m©b` H$moR>o Amho.

S>) "VmUVUmd' ì`m»`m {bhm.

B) A{^àoaUm åhUOo H$m`?

\$) H$_©Mm[a g§KQ>Zm§Mr XmoZ H$m ©̀ gm§Jm.

`) ^maVr` amÁ`KQ>ZoVrb H$moUË`m H$b_mV ZmJ[aH$m§Zm g§KQ>Zm ñWmnZm H$aÊ`mMm A{YH$ma
XoÊ`mV Ambm.

a) Am§Vaamï´>rb H$m_Jma g§KQ>ZoMr ñWmnZm Ho$ìhm Pmbr.

b) "g§n' ì`m»`m {bhm.

d) "{eñV' ì`m»`m gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) _mZd g§gmYZ {dH$mgmMo _hËd gm§Jm.

~) VmUVUmdmMo ñdê$n ñnï> H$am.

H$) A{^àoaUog à^m{dV H$aUmao KQ>H$ WmoS>Š`mV {bhm.

3 P.T.O.
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S>) H$_©Mm[a g§KQ>ZoMm CX²Xoe ñnï> H$am.

B) pìhQ>bo n[afXoMr H$m ©̀ {bhm.

\$) H$_©Mm[a (ñQ>m\$) n[afX g§H$ënZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) _mZd g§gmYZ {dH$mgmg_mo[ab AmìhmZo gm§Jm.

~) gZXr godH$m§Mm g§KQ>Zm ñWmnZ H$aÊ`mMm A{YH$ma WmoS>Š`mV ñnï> H$am.

H$) CÎmaXm{`ËdmMo _hËd gm§Jm.

S>) pìhQ>bo n[afXoMr aMZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm (H$moUVohr XmoZ) [20]

A) A{^àoaUm, AW©, _hËd Am{U àH$ma {deX H$am.

~) ^«ï>mMmamMr H$maUo gm§Jm.

H$) CÎmaXm{`ËdmMo àH$ma g{dñVa {bhm.





Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-424
S.Y. B.A. (Semester - IV)

MARATHI (_amR>r)
ì`mdhm[aH$ d Cn`mo{OV _amR>r - ^mJ - 4 (CC-2D)

(2019 Pattern) (24024)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-4213

àíZ 1) Imbrbn¡H$s H$moUË`mhr Mma àíZm§Mr CÎmao 50 eãXm§V {bhm. [20]

i) nm°da nm°BªQ> (PPT) åhUOo H$m`?

ii) ẁ{ZH$moS>Mo _hÎd WmoS>Š`mV ñnï> H$am.

iii) EŠgogMo \$m`Xo WmoS>Š`mV gm§Jm.

iv) g§X ©̂ Zm|Xr_Ü ò H$moUË`m ~m~tMm g_mdoe hmoVmo?

v) _m{hVrÀ`m ñÌmoVm§_Ü ò {d{H${nS>r`mMo _hÎd ñnï> H$am?

vi) kmZH$moe g§§H$ënZm WmoS>Š`mV ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 100 eãXm§V {bhm. [20]

i) B{Vd¥Îm boIZmMo _hÎd ñnï> H$am.

ii) AhdmbmË_H$ B{Vd¥ÎmmMo ñdê$n ñnï> H$am.

iii) {Q>ßnUr boIZmMo ñdê$n d àH$ma {bhm.

P.T.O.
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[5961]-424 2

àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 100 eãXm§V {bhm. [20]

i) g§JUH$mdarb ^mfm{df`H$ _wº$ñÌmoV gmYZm§Mm g{dñVa n[aM` H$ê$Z X²̀ m.

ii) _amR>r ^mfoVrb H$moe dmL²>_`mMr na§nam g{dñVa ñnï> H$am.

iii) {dídH$moemMo \$m`Xo gm§JyZ _hÎd ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎmao 100 eãXm§V {bhm. [10]

i) Zm§oX boIZmMo àH$ma g{dñVa {bhm.

ii) g§JUH$mda _amR>r Q>§H$boIZ Am{U ẁ{ZH$moS>Mm dmna `m§Mm nañna g§~§Y g{dñVa ñnï>
H$am.


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Total No. of Questions : 4]

[5961]-425

S.Y. B.A.
CC - 1D : FRENCH GENERAL

(2019 Pattern) (Semester - IV) (24033)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

All questions are compulsory.

PA-4214 [Total No. of Pages : 3

SEAT No. :

P.T.O.



2[5961]-425



3[5961]-425





Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-426
S.Y.B.A.

HINDI  (qhXr)
CC-2D(G-2) : OZg§Mma ‘mÜ¶‘ Am¡a qhXr

(2019 Pattern) (CBCS) (Semester - IV) (24094)
g‘¶ : 2½ K§Q>o ]                      [nyUmªH$ : 70
gyMZm: 1) g^r àíZ A{Zdm¶© h¢&

2) Xm[hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¢&

PA-3755

àíZ 1) {ZåZ{b{IV ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma {dñVma go {b{IE : [21]
i) ‘w{ÐV ‘mÜ¶‘m| Ho$ {bE ^mfm {H$g àH$ma ‘hËd aIVr h¡?
ii) Q>obr{dOZ g‘mMma H$s ^mfm H$s {deofVmE± {b{IE&
iii) OZg§Mma ‘mÜ¶‘m| Ho$ àH$mam| H$s MMm© H$s{OE &

iv) ao{S>¶mo dmVm© boIZ ‘| {H$Z ~mVm| H$m Ü¶mZ aIZm n‹S>Vm h¡ ?
v) OZg§Mma ‘mÜ¶‘m| H$s AdYmaUm H$mo {deX H$s{OE &

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma {dñVma go {b{IE : [21]
i) H$hmZr boIZ H$m ñdê$n {deX H$aVo hþE VËdm| H$s MMm© H$s{OE &
ii) ao{S>¶mo ZmQ>H$ Ho$ boIZ ‘| Amdí¶H$ ~mV| ~VmBE &

iii) ‘§Mr¶ ZmQ>H$ Am¡a ao{S>¶mo ZmQ>H$ ‘| A§Va H$mo ñnï> H$s{OE &
iv) H${dVm boIZ Ho$ {bE H$m¡Z-gr ~mV| ‘hËdnyU© ‘mZr OmVr h¡?
v) boIm AmboIZ Ho$ àH$mam| H$mo {deX H$s{OE &

àíZ 3) {ZåZ{b{IV ‘| go {H$Ýht VrZ àíZm| Ho$ CÎma {dñVma go {b{IE : [21]
i) S>m°³¶y S´>m‘m Am¡a S>m°³¶y‘|Q´>r ‘| A§Va ñnï> H$s{OE &

ii) Zd-BboQ´>m°{Z³g ‘mÜ¶‘m| na àH$me S>m{bE &
iii) ’$sMa boIZ Ho$ {bE Amdí¶H$ ~mVm| H$s MMm© H$s{OE &
iv) ‘w{ÐV {dkmnZ ‘|o ^mfm H$m ‘hËd ~VmBE &

v) nQ>H$Wm boIZ H$s g§H$ënZm {deX H$s{OE&

SEAT No. :
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àíZ 4) {ZåZ{b{IV ~hþ{dH$ënr¶ gmV àíZm| Ho$ CÎma {b{IE & [7]
i) ’$sMa boIZ H$m ‘w»¶ CX²Xoí¶ h¡ &

A) kmZ d¥pÕ Am) ‘Zmoa§OZ
B) AW©àm{á B©) ¶eàm{á

ii) ao{S>¶m| H$mo {H$g àH$ma H$m g§Mma ‘mÜ¶‘ ‘mZm OmVm h¡?

A) Ñí¶ Am) Ñí¶ - lmì¶
B) lì¶ B©) ‘w{ÐV

iii) EH$ hr ~¡R>H$ ‘| nT>r OmZodmbr {dYm h¡ &

A) H${dVm Am) H$hmZr
B) ZmQ>H$ B©) {’$ë‘

iv) qhXr gm{hË¶ ‘| ZmQ>H$ eãX H$m gd©àW‘ à¶moJ {H$gZo {H$¶m ?

A) Am. ^aV‘w{Z Am) Am. dm‘Z
B) Am. A{^Zd Jwá B©) Am. am‘M§Ð ew³b

v) dV©‘mZ g‘¶ ‘| gyMZm àm¡Úmo{JH$s Ho$ joÌ ‘| H«$m§Vr H$aZo dmbm ZdrZV‘ ‘mÜ¶‘ H$m¡Zgm h¡ ?

A) ao{S>¶mo Am) Q>obr{dOZ
B) B§Q>aZoQ> B©) g‘mMma nÌ

vi) ’$sMa eãX {H$g ^mfm H$m ê$n h¡ ?
A) ’|«$M Am) ’$maer

B) qhXr B©) b¡Q>rZ
vii) ao{S>¶m| ZmQ>H$ H$mo A§Yoao H$m ZmQ>H$ {H$g {dX²dmZ Zo H$hm h¡?

A) S>m°. CX²̂ mZ {‘l Am) S>m°. {gÕZmW Hw$‘ma

B) bwBg ‘¡H$Zrg B©) S>m°. am‘{dbmg e‘m©





Total No. of Questions : 2]

[5961]-428-A
S.Y. B.A.

SANSKRIT (g§ñH¥$V)
SEC-2B : Introduction to Scriptology (Palaeography)

(2019 Pattern) (CBCS) (Semester - IV) (24114)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) All questions are compulsory.
gd© àíZ Amdí¶H$ AmhoV.

2) Figures to the right indicate full marks.
COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-4220

à.à.à.à.à.1) H$moUË¶mhr EH$m àíZmMo g{dñVa CÎma Xçm. [15]

Write an essay type of answer to any one question.

i) ^maVmVrb {bntMm B{Vhmg ¶m {df¶mda {Z~§Y {bhm.

Write an essay on history of scripts in India.

ii) ~«mh²‘r{bnrVrb ñda-ì¶§OZ-g§¶moJ (OmoS>mja) Am{U A§H$-ì¶dñWm ñnï> H$am.

Explain vowels, consonants, consonant chesters and numbers in the

Brahmi Script.

à.à.à.à.à.2) A) emaXm {bnrda {Z~§Y {bhm. [5]

Write an essay on emaXm Script.

qH$dm/OR

nwT>rb CVmè¶mMo J§«W {bnr‘Ü¶o {bß¶§Va H$am.

Transliterate following passage in J«§W Script.

EH$ AmQ>nmQ> ZmdmMo ZJa hmoVo. Ë¶m ZJamV Jmonmb amhV hmoVm. Ë¶mMo Ka JmdmÀ¶m doerbJV hmoVo.
doerdê$Z ¶oUmè¶m-OmUmè¶m bmoH$m§Mo {ZarjU H$aUo, hm Ë¶m§Mm N>§X hmoVm.

[Total No. of Pages : 2

SEAT No. :
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B) [aº$ñWmZm{Z nya¶V (H$mÝ¶{n n#m) [5]

i) {bnreãXo ............ YmVw:&

({bn²/{bI²/{b{J>>± )

ii) ‘ogmonmoQ>o{‘¶màXoeo àmám ¶m {MÌ{b{n: Vñ¶m: Zm‘Yo¶§ .......... B{V&

(H$sbmja‘²/Aja‘²/Üd{Z:)

iii) Üd{Z{b{nfw EH$m ............ {b{n:&

({gÝYw/Iamoð>r/{MÌ)

iv) ^maVXoeo ¶m: {bn¶: Vmgm§ OZZr ........ B{V Aä¶mgH¡$: H$Ï¶Vo&

(dhobwQw>/J«ÝW/~«mh²‘r)

v) b{bV{dñVao ......... {bnrZm§ {ZX}e:&

(32/64/80)

vi) ~«mh²‘r{b{n‘Ü¶o ~hd: {ebmboIm: .......... H$mbo gpÝV&

(MÝÐJwá/AemoH$/gmVH$Uu)





Q1) Answer any Three of the following questions in 100 words : [15]

a) What is the relevance of the Gandhian concept of trusteeship?

b) Explain Gandhiji's outlook on Science and Technology.

c) Briefly explain Gandhiji's views on Role of women.

d) What is the relevance of the Gandhian concept of Swadeshi?

e) Explain briefly Ekadas vrat (vows) of Gandhiji.

Q2) Answer any Two of the following questions in 100 words : [20]

a) Explain briefly Gandhiji's views on Untouchability.

b) What are the structure of human values that explicit in Gandhain
thought? Explain.

c) What are the practices of constructive programme, according to
Gandhiji?

d) According To Gandhiji, what are the problems of poverty?

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-429
S.Y. B.A.

GANDHIAN THOUGHT (Philosophy)
CC-2D : Gandhian Thought and Contemporary Problems

(2019 Pattern) (Semester - IV) (24233)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3758
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Q3) Write a short note (any Three) : [15]

a) Equality of man-Relevance of Gandhian concept.

b) The concept of ecological balance and harmony.

c) Gandhian views on prohibition of Liquor.

d) Gandhian concept of Social reconstruction.

e) Gandhian views on Adult education.

Q4) Answer any One of the following questions in 400 words : [20]

a) Write an essay on 'Gandhiji's views on Varanashramdharma'.

b) Elaborately explain Philosophical and practical significance of
Gandhian theory.





Total No. of Questions : 4]

[5961]-429
S.Y. B.A.

GANDHIAN THOUGHT (Philosophy)
CC-2D : Gandhian Thought and Contemporary Problems

(2019 Pattern) (Semester - IV) (24233)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3758

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. [15]

A) Jm§YrÀ`m {dídñV g§H$ënZoMr àmg§{JH$Vm H$m` Amho?

~) {dkmZ Am{U V§ÌkmZm~Ôb Jm§YrOtMm Ñ{ï>H$moZ ñnï> H$am.

H$) {ó`m§À`m ŷ{_Ho$~Ôb Jm§YrOtMo {dMma WmoS>Š`mV ñnï> H$am.

S>) Jm§YrdmXr ñdXoer g§H$ënZoMr àmg§{JH$Vm H$m` Amho?

B) Jm§YrOtMo EH$Xe d«V WmoS>Š`mV ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 100 eãXmV {bhm. [20]

A) Añn¥í`Vo~Ôb Jm§YrOrMo _V WmoS>Š`mV ñnï> H$am.

~) Jm§Yr {dMmam_Ü ò _mZdr _yë`m§Mr aMZm H$m` Amho? ñnï> H$am.

H$) Jm§YrOtÀ`m _Vo aMZmË_H$ H$m ©̀H«$_mÀ`m nÕVr H$m` AmhoV?

S>) Jm§YrOtÀ`m _Vo, J[a~rÀ`m g_ñ`m H$m` AmhoV?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm (H$moUVohr VrZ). [15]

A) _mUgmMr g_mZVm-Jm§YrdmXr g§H$ënZoMr àmg§{JH$Vm.

~) n`m©daUr` g_Vmob Am{U gMmoQ>r g§H$ënZm.

H$) Xmê$~§Xr~m~V Jm§YrdmXr {dMma.

S>) gm_m{OH$ nwZa©MZoMr Jm§YrdmXr g§H$ënZm.

B) àm¡T> {ejUm~m~V Jm§YrdmXr {dMma.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]

A) "dUm©l_Y_m©~Ôb Jm§YrOtMo {dMma' `m {df`mda {Z~§Y {bhm.

~) Jm§YrdmXr {gÕm§VmMo VmpËdH$ Am{U ì`mdhm[aH$ _hÎd {dñV¥VnUo ñnï> H$am.





Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-430
S.Y. B.A. (Semester - IV)

DEFENCE AND STRATEGIC STUDIES
DSE - 2B  S - 2 : Military Geography

(2019 Pattern) (24272)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3759

Q1) Answer the following question in 100 words each (any three) :[3 × 5 = 15]

a) Explain the meaning and concept of Geo-strategy.

b) Write the uses of Military Geography.

c) What do you mean by sea warfare?

d) What do you mean by Plain warfare?

e) Explain the significance of Military Geography.

Q2) Answer the following question in 300 words each (any one) : [1×15=15]

a) Explain the Jungle warfare.

b) State the importance and scope of geostrategy.

Q3) Answer the following question in 200 words each (any two) :[2×10=20]

a) Explain the logistic management of Desert Warfare.

b) State the importance of Military geography.

c) What are the objectives of Air warfare?

d) Explain the logistic management of warfare in High Altitude Areas.

SEAT No. :

P.T.O.
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Q4) Write short notes (Any four) : [4 × 5 = 20]

a) Plain warfare.

b) Meaning of military geography.

c) Terrain.

d) High Altitude areas warfare

e) Amphibious warfare.

f) Purpose of Defence.


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Total No. of Questions : 4]

[5961]-430
S.Y. B.A. (Semester - IV)

DEFENCE AND STRATEGIC STUDIES
DSE - 2B  S - 2 : Military Geography

(2019 Pattern) (24272)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm¶© Amho.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

àíZ 1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [3 × 5 = 15]
A) ŷ¶wÕ{ZVrMm AW© Am{U g§H$ënZm ñnï> H$am.
~) bîH$ar ŷJmobmMo Cn¶moJ {bhm.

H$) gmJar ¶wÕnÕVr åhUOo H$m¶?
S>) ‘¡XmZr àXoemVrb ¶wÕnÕVr åhUOo H$m¶?
B) bîH$ar ŷJmobmMo ‘hÎd ñnï> H$am.

àíZ 2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr EH$) [1 × 15 = 15]
A) O§Jb‘¶ àXoemVrb ¶wÕnÕVr ñnï> H$am.
~) ŷ¶wÕZrVrMo ‘hÎd Am{U ì¶már gm§Jm.

àíZ 3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [2 × 10 = 20]

A) dmid§Q>r àXoemVrb ¶wÕnÕVrMo nwadR>m ì¶dñWmnZ ñnï> H$am.

~) bîH$ar ŷJmobmMo ‘hÎd gm§Jm.

H$) hdmB© ¶wÕmMr C{Ôï>o H$moUVr?

S>) {h‘mÀN>mXrV àXoemVrb nwadR>m ì¶dñWm ñnîQ> H$am.

PA-3759

P.T.O.
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àíZ 4) {Q>nm {bhm (H$moUVohr Mma) : [4 × 5 = 20]

A) ‘¡XmZr àXoemVrb ¶wÕnÕVr.

~) bîH$ar ŷJmobmMm AW©.

H$) ^yàXoe.

S>) {h‘mÀN>m{XV àXoemVrb ¶wÕnÕVr

B©) Epå’$~rAmog ¶wÕnÕVr.

’$) g§ajUmMm CÔoe.





Q1) Answer the following questions in 50 words each (Any three) : [15]

a) Concept of curriculum development.

b) Write the functions of District Education Officer.

c) Write the concept of Information and Communication Technology
(ICT).

d) Write the functions of Director of Education.

e) Explain constructive approach of curriculum.

Q2) Answer the following questions in 100 words each (Any two) : [20]
a) Write the characteristics of Education management.

b) Explain the characteristics of ICT teacher.

c) Explain the importance of Information Communication Technology
(ICT) in Research.

d) Explain the structure of State Education administration.

Q3) Answer any one question in 300 words : [20]

a) Explain the role of ICT in following fields :

- Learning

- Education Administration

- Education Evaluation.

b) Explain the types of curriculum in details.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-431
S.Y. B.A.

EDUCATION
CC-1D : Practices in Education - II

(2019 Pattern) (Semester - IV) (24303)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3760
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Q4) Write short notes in 50 words each (Any three) : [15]

a) Functions of Balbharati

b) Functions of SCERT

c) Principles of curriculum development

d) Functions of Block Education officer

e) Aims of curriculum


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[5961]-431
S.Y. B.A.

EDUCATION
CC-1D : Practices in Education - II

(2019 Pattern) (Semester - IV) (24303)
(_amR>r ê$nm§Va)

doi :  2½ Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3760

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr VrZ) … [15]

A) Aä`mgH«$_ {dH$gZmMr g§H$ënZm {bhm.

~) {Oëhm {ejUm{YH$mè`mMr H$m }̀ {bhm.

H$) _m{hVr d g§àofU V§ÌkmZmMr (ICT) g§H$ënZm {bhm.

S>) {ejU g§MmbH$mMr H$m }̀ {bhm.

B) Aä`mgH«$_mMm aMZmË_H$ Ñï>rH$moZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm (H$moUVohr XmoZ) … [20]

A) e¡j{UH$ ì`dñWmnZmMr d¡{eï>ço {bhm.

~) I.C.T. {ejH$mMr H$m¡eë ò ñnï> H$am.

H$) _m{hVr d g§àofU V§ÌkmZmMo (ICT) g§emoYZmVrb _hÎd ñnï> H$am.

S>) amÁ` e¡j{UH$ àemgZmMm AmamIS>m ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s EH$m àíZmMo CÎma 300 eãXm§V {bhm … [20]

A) _m{hVr d g§àofU V§ÌkmZmMr (ICT) Imbrb joÌmVrb Cn ẁŠVVm ñnï> H$am.

- AÜ`mnZ àH«$s`m

- e¡j{UH$ àemgZ

- e¡j{UH$ _yë`_mnZ

~) Aä`mgH«$_mMo àH$ma g{dñVa ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) àË òH$s 50 eãXm§V {Q>nm {bhm (H$moUË`mhr VrZ) … [15]

A) ~mb^maVr g§ñWoMr H$m }̀.

~) amÁ` e¡j{UH$ g§emoYZ d à{ejU n[afXoMr (SCERT) H$m }̀.

H$) Aä`mgH«$_ {dH$gUmMr VËdo.

S>) JQ>{ejUm{YH$mè`mMr H$m }̀.

B) Aä`mgH«$_mMr Ü ò̀ o.





Q1) Write answers to the following questions in 100 words (Any three) :
[15]

a) Briefly discuss the Pratyaksha Pramana in Nyaya Dharshan.

b) State the classification of Substance concept of Vaisheshika’s.

c) Explain the concept of Dharma of the Purvamimansaka’s.

d) Briefly explain the concept of ‘Bondeage’ and ‘Liberation’ of
Samkhyas.

e) Explain Shankaracharya’s concept of ‘Moksha’.

Q2) Write answers to the following questions in 100 words. (Any three) :
[15]

a) Explain Shabda Pramana in Nyaya Darshan.

b) State the concept of ‘Suffering’ in Samkhya Philosophy.

c) Discuss ‘Chittavrtti’ and Chittavrtti Nirodha Marga in Yoga Darshan.

d) Elaborate the concept of ‘Karma’ of the Purvamimasaka’s.

e) Explain Shankaracharya’s concept of ‘Maya’.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-432
S.Y. B.A.

PHILOSOPHY (Special - I)
Indian Philosophy : Orthodox Systems

(2019 Pattern) (CBCS) (Semester - IV) (24421)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3761

SEAT No. :

P.T.O.
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Q3) Write short notes. (Any two) : [20]

a) Anuman pramana : Nyaya Darshan.

b) Concept of Causation: Samkhya.

c) Concept of Yama : Yoga Darshan.

d) Apurva : Purvamimamsa.

Q4) Write the answer to the following question in 400 words. (Any one) :
[20]

a) Explain in detail the concept of God in Nyaya and Vaisheshika
Philosophy.

b) Explain in detail the theory of ‘Trividh-Satta’ in Advaita Philosophy.





Total No. of Questions: 4]

[5961]-432
S.Y. B.A.

PHILOSOPHY (Special - I)
Indian Philosophy : Orthodox Systems

(2019 Pattern) (CBCS) (Semester - IV) (24421)
(_amR>r ê$nm§Va)

doi :  2½ Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3761

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) … [15]

A) Ý`m` Xe©ZmVrb àË`j à_mUmMr WmoS>Š`mV MMm© H$am.

~) d¡eo{fH$m§À`m nXmW© g§H$ënZoMo dJuH$aU gm§Jm.

H$) nyd© _r_m§gH$m§Mr Y_© g§H$ënZm ñnï> H$am.

S>) gm§»`m§Mr "~§Y' Am{U "_wŠVr' g§H$ënZm WmoS>Š`mV gm§Jm.

B) e§H$amMm`mªMr "_moj' g§H$ënZm {deX H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) … [15]

A) Ý`m` Xe©ZmVrb eãX à_mU ñnï> H$am.

~) gm§»` Xe©ZmVrb "Xþ…I' g§H$ënZm gm§Jm.

H$) `moJ Xe©ZmVrb "{MÎmd¥Îmr' d {MÎmd¥Îmr{ZamoY _mJm©Mr MMm© H$am.

S>) nyd© _r_m§gH$m§Mr "H$_©' g§H$ënZm {deX H$am.

B) e§H$amMm`mªÀ`m "_m`m' g§H$ënZoMo {ddoMZ H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr XmoZ) … [20]

A) AZw_mZ à_mU… Ý`m` Xe©Z.

~) H$maU g§H$ënZm … gm§»` Xe©Z.

H$) `_ g§H$ënZm … `moJ Xe©Z.

S>) Anyd© … nyd© _r_m§gm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZmMo 400 eãXm§V CÎma {bhm. (H$moUVohr EH$) … [20]

A) Ý`m` Am{U d¡eo{fH$ Xe©ZmVrb B©ída g§H$ënZoMo g{dñVa {ddoMZ H$am.

~) AÛ¡V Xe©ZmVrb {Ì{dY gÎmm {gÕm§V g{dñVa {deX H$am.





[5961]-433
S.Y.B.A (Semester - IV)

URDU 
SEC-2B : Communication Skill 

 (CBCS) (2019 Pattern)  (24074)

PA-3762

Total No. of Questions : 2

[Time : 2 HoursTotal Marks : 25]

   
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Total No. of Questions : 3]

[Total No. of Pages : 4

[5961]-434
S.Y. B.A.

HISTORY
SEC - 2 B : Modi Script

Skill Enhancement Course
(2019 Pattern) (Credit - 2) (Semester - IV) (24175)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3763

Q1) Write answers to the following questions in 200 words. (1 only) [10]
Write information about the types of Modi Script documents.

OR
Write detailed information about archives in Maharashtra.

Q2) Write an essay in Modi Script in 200 words on any one of the following
topics. [10]
i) Our Heritage
ii) Importance of Modi Script
iii) Cht. Shivaji Maharaj

Q3) Translate the following Modi Script passage in Marathi to the (Devanagari
Language) (any one) [5]
Passage - 1

SEAT No. :

P.T.O.
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Passage - 2


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Total No. of Questions : 3]

[5961]-434
S.Y. B.A.

HISTORY
SEC - 2 B : Modi Script

Skill Enhancement Course
(2019 Pattern) (Credit - 2) (Semester - IV) (24175)

(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PA-3763

àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$³V 1) [10]
‘moS>r {bnrÀ¶m H$mJXnÌm§À¶m àH$mam§Mr ‘m{hVr {bhm.

qH$dm
‘hmamï´>mVrb XâVaImÝ¶m§Mr g{dñVa ‘m{hVr {bhm.

àíZ 2) Imbrbn¡H$s H$moUË¶mhr EH$ {df¶mda 200 eãXmV ‘moS>r {bnrV {Z~§Y {bhm. [10]
i) Amnbm dmagm
ii) ‘moS>r {bnrMo ‘hÎd
iii) N>ÌnVr {edmOr ‘hmamO

àíZ 3) Imbrb ‘moS>r {bnr‘Yrb CVmam ‘amR>r/ amo‘Z ^mfoV {bß¶m§Va H$am. (H$moUVmhr EH$) [5]
CVmam - 

P.T.O.
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CVmam - 





Q1) Write short notes on any three of the following : [15]

a) Concept of Scheduled tribe.

b) Isolation.

c) Concept of tribal development.

d) Tribal Freedom Movement.

e) Integration Approach.

Q2) Answer any three of the following questions in 50 words each : [15]

a) What is scheduled Area?

b) Explain the concept of Assimilation.

c) Describe the tribal movement in pre-independence period.

d) What is scheduled tribes?

e) Explain the concept of nomadic tribes.

Q3) Answer any two of the following question in 200 words each : [20]

a) Describe the constitutional provisions for tribal communities.

b) Elaborate missionaries approach in pre-independence period.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-435
S.Y. B.A.

 ANTHROPOLOGY
CC-1DG11 : Tribal Development

(2019 Pattern) (CBCS) (Semester - IV) (24193)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3764

SEAT No. :

P.T.O.



[5961]-435 2

c) Elaborate the De-notified and Nomadic tribes.

d) Explain the contribution of co-operative societies in tribal development.

Q4) Answer any one of the following question in 300 words. [20]

a) Elaborate the causes of tribal movement.

b) Write the Tribal development programmes in details.





Total No. of Questions : 4]

[5961]-435
S.Y. B.A.

 ANTHROPOLOGY
CC-1DG11 : Tribal Development

(2019 Pattern) (CBCS) (Semester - IV) (24193)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3764

àíZ àíZ àíZ àíZ àíZ 1) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ>) [15]

A) AZwgwMrV O_mVrMr g§H$ënZm

~) AbJVm

H$) Am{Xdmgr {dH$mgmMr g§H$ënZm

S>) Am{Xdmgr ñdmV§Í` Midi

B) EH$sH$aU Ñï>rH$moZ

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. [15]

A) AZwgw{MV joÌ åhUOo H$m`?

~) gm{_{Ë`H$aUmMr g§H$ënZm ñnï> H$am.

H$) ñdmV§Í` nwd© H$mimVrb Am{Xdmgr Midi dU©Z H$am.

S>) AZwgw{MV O_mVr åhUOo H$m`?

B) ^Q>Š`m O_mVrMr g§H$ënZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) Am{Xdmgr g_wXm`mgmR>r AgUmè`m KQ>ZmË_H$ VaVwXtMo dU©Z H$am.

~) ñdmV§Í`nwd© H$mimVrb {_eZar Ñï>rH$moZ {deX H$am.

3 P.T.O.
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H$) ^Q>Š`m - {d_wŠV O_mVrMo dU©Z H$am.

S>) Am{Xdmgr {dH$mgmV ghH$mar nVg§ñWmMo AgUmao `moJXmZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm (H$moUVohr EH$) [20]

A) Am{XdmgtÀ`m MidirMr H$maUo {deX H$am?

~) Am{Xdmgr {dH$mg H$m ©̀H«$_ g{dñVa {bhm.





Total No. of Questions : 3]

[Total No. of Pages : 2

[5961]-436
S.Y. B.A.

SEC - 2B : SKILL ENHANCEMENT COURSE
Basic Counselling Skills

(2019 Pattern) (Semester - IV) (24224)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4216

Q1) Write the answer of the following questions (any 1) : [10]

a) What is counselling? Explain the nature and scope of counselling.

b) Discuss the ethical issues in counselling.

Q2) Write the answer of the following questions (any 1) : [10]

a) Describe the dimensions and core conditions of helping relations.

b) Discuss on communication skills & action skills in counselling.

Q3) Give short notes (any 1) [5]

a) Getting support.

b) Gender aware helping.


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Total No. of Questions : 3]

[5961]-436
S.Y. B.A.

SEC - 2B : SKILL ENHANCEMENT COURSE
Basic Counselling Skills

(2019 Pattern) (Semester - IV) (24224)
(_amR>r ê$nm§Va)

doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.

2) CO{dH$S>rb A§H$ JwU Xe©{dVmV.

àíZ 1) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr 1) [10]
A) g‘wnXoeZ åhUOo H$m¶? g‘wnXoeZmMo ñdê$n d ì¶már ñnï> H$am.

~) g‘wnXoeZmVrb Z¡{VH$ ‘wX²X¶m§da MMm© H$am.

àíZ 2) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr 1) [10]

A) ‘XV H$aUmè¶m ZmVog§~§Ym§À¶m n[a{‘VtMo Am{U ‘w»¶ n[apñWVrMo dU©Z H$am.

~) g‘wnXoeZmVrb "g§dmX H$m¡eë¶o' Am{U "H¥$Vr H$m¡eë¶o' ¶mda MMm© H$am.

àíZ 3) {Q>nm {bhm. (H$moUVmhr 1) [5]

A) g‘W©Z {‘iUo.

~) qbJ OmJê$H$Vm ‘XV H$aUo.



PA-4216



Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-437
S.Y. B.A.

G - 2 : HOME ECONOMICS
CC 1D : Indian Family Welfare

(2019 Pattern) (24263) (Semester - IV)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figures to the right indicate full marks.

PA-3766

Q1) Write the answers to the following questions in 20 words each (Any Eight):[16]
a) When was the Hindu Marriage Act Enacted?
b) According to which section free and compulsory education is given to

children below 14 years?
c) What is Family Welfare?
d) What is the final stage of Family break up?
e) State two Consequences of Family break up.
f) What is Family organization.
g) Marriage is one of the sixteen rites in Hinduism?
h) Describe the type of Marriage that depends on the number of spouses.
i) Explain the classification of Marriage.
j) Explain Marriage.

Q2) Write the answers to the following questions in 50 words each (Any Four):[16]
a) Explain the concept of 'Family Welfare'.
b) Explain the constitutional provisions regarding Child Welfare.
c) Explain the concept of Family organization.
d) Explain the nature of Family organization.
e) Explain the types of Marriages based on relationships.
f) Explain the concept of Marriage Institution in India.

SEAT No. :
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Q3) Write the answers to the following questions in 150 words each (Any Three):[18]
a) Explain the various problems of Women in India.
b) Explain the importance of Family Welfare.
c) Explain the reasons for Family break up.
d) Explain the nature of Marriage institution in Indian Society.

Q4) Write the answers to the following questions in 300 words each (Any Two):[20]
a) What is Marriage? Explain the different types of marriage.
b) What is Child Welfare? Explain in detail the services provided by the

government for Child Welfare.
c) What is Social Stratification? Explain the Features of Social Stratification.


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Total No. of Questions : 4]

[5961]-437
S.Y. B.A.

G - 2 : HOME ECONOMICS
CC 1D : Indian Family Welfare

(2019 Pattern) (24263) (Semester - IV)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
3) COdrH$S>rb AZoH$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3766

àíZ 1) Imbrb àíZm§Mr CÎmao àË òH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]
A) qhXÿ {ddmh H$m`Xm Ho$ìhm H$aÊ`mV Ambm?
~) H$moUË`m H$b_mZwgma 14 dfm©Imbrb ~mbH$m§Zm _mo\$V d gŠVrMo {ejU {Xbo OmVo?
H$) Hw$Qy>§~ H$ë`mU åhUOo H$m`?
S>) Hw$Qy>§~ {dKQ>ZmMr A§{V_ AdñWm H$moUVr Amho?
B) Hw$Qy>§~ {dKQ>ZmMo XmoZ n[aUm_ gm§Jm.
\$) Hw$Qy>§~ g§KQ>Z åhUOo H$m`?
`) {ddmh hm qhXÿ Y_m©Vrb gmoim gñH$mam§n¡H$s {H$Vdm g§ñH$ma Amho.
a) OmoS>rXmamÀ`m g§» òdê$Z nS>Umao {ddmhmMo àH$ma gm§Jm.
b) {ddmhmMo dJuH$aU gm§Jm.
d) {ddmhmMr ì`m»`m Úm.

àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr Mma>) [16]
A) "Hw$Qy>§~ H$ë`mU' g§H$ënZm ñnï> H$am?
~) ~mb H$ë`mUmg§X^m©V Ho$boë`m KQ>ZmË_H$ VaVyXr ñnï> H$am?
H$) "Hw$Qy>§~ g§KQ>Z' g§H$ënZm ñnï> H$am?
S>) Hw$Qy>§~ g§KQ>ZmMo ñdê$n ñnï> H$am?
B) ZmVog§~§YmÀ`m AmYmao AgUmao {ddmhmMo àH$ma ñnï> H$am?
\$) ^maVmVrb {ddmh g§ñWoMr g§H$ënZm ñnï> H$am?

P.T.O.
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àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s 150 eãXm§V {bhm. (H$moUVohr VrZ>) [18]
A) ^maVmVrb {ñÌ`m§À`m {d{dY g_ñ`m ñnï> H$am.
~) Hw$Qy>§~ H$ë`mUmMo _hËd ñnï> H$am.
H$) Hw$Qy>§~ {dKQ>ZmMr H$maUo ñnï> H$am.
S>) ^maVr` g_mOmVrb {ddmh g§ñWoMo ñdê$n ñnï> H$am.

àíZ 4) Imbrb àíZm§Mr CÎmao àË òH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ>) [20]
A) {ddmh åhUOo H$m`? {ddmhmMo  {d{dY àH$ma ñnï> H$am.
~) ~mb H$ë`mU åhUOo H$m`? ~mb H$ë`mUmgmR>r gaH$maH$Sy>Z nwa{dë`m OmUmè`m godm

g{dñVa {deX H$am.
H$) gm_m{OH$ ñVarH$aU åhUOo H$m`? gm_m{OH$ ñVarH$aUmMr d¡{eï>ço ñnï> H$am.





Q1) Attempt any Five of the following : [10]

a) Evaluate 2lim 2 t t t

t
e i e j e k  


   

 
.

b) Find the gradient vector field of the function f (x, y) = x2 sin 5y.
c) Obtain the parametric representation for the elliptic paraboloid.

x = 5y2 + 2z2 – 10.

d) Find the curl if .F F xi yj zk  
   

e) Show that  1, 2  is linearly independent in   over  .

f) If f : V  W is linear, define the ker f and the image of f.
g) For which value(s) of the constant k does the system.

x – y = 3
2x – 2y = k

have no solution.

Q2) Attempt any Four of the following : [20]
a) Find T̂  and N̂  for the plane curve ( ) cos sinr t a ti a tj 

   of a circle of
radius a.

b) Solve the inital value problem for ( )r t  where ( )d r t ti tj tk
dt

   
  with

initial condition (0) 2 3 .r i j k  
 

Total No. of Questions : 4]

[Total No. of Pages : 3

[5961]-438
S.Y. B.A.

MATHEMATICS
DSE-1B : MS-3 Problem Course Based ON MG-4 and

AMG-4
(2019 Pattern) (Semester - IV)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3767
SEAT No. :

P.T.O.
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c) Evaluate (6 ) ( 2 ) ,
C

y x dx y x dy    where C is the circle (x – 2)2 +
(y – 3)2 = 4.

d) Solve
x + y + 2z = 9
2x + 4y – 3z = 1
3x + 6y – 5z = 0

by using Gauss Elimination method.
e) Prove that the intersection of two subspaces of a vector space V is also

subspace of V.
f) Find the Basis and Dimension of subspace S = {(x, y, z, w) | x = y, z = w}

of 4 .

Q3) Attempt any Four of the following : [20]

a) Evaluate 
2

21

4(6 6 ) 3t i t j k
t

     
 

dt.

b) Evaluate the integral 2 2( ) 2
C

x y dx xydy  along the curve

C : x = t, y = 2t2, 0 < t < 1. where t = sin u for 0 < u < .
2


c) Prove that the vector field 2 3 2 4(4 )F x yi z y xy j z k   
 

is solenoidal.

d) Determine whether the set S = {(2,2,2), (0,0,3), (0,1,1)} span 3 .
e) Find the rank and nullity of the matrix A given by

1 2 2 3 1
3 6 1 1 7

2 4 3 8 4

  
    
   

f) Find ker T, where T : 3   2  defined by
T (x, y, z) = (x + y, y – z).
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Q4) Attempt any Two of the following : [20]

a) Using the divergence theorem evaluate ˆ
S
F ndp  where

3 2sin( ) ( 4 )F x i zy j z x k   
 

 and S is the surface of the box
–1 < x < 2, 0 < y < 1 and 1 < z < 4. Note all six sides of the box are
included in S.

b) Find the flux of 2F yz i x j z k  
 

 through the parabolic cylinder

y = x2,  0 < x < 1, 0 < z < 4.

in the direction of ˆ.n

c) Prove that the set   of  real numbers is a vector space over  .
d) Determine the value of k so that the following system in unknown x,y,z,

has
i) a unique solution
ii) no solution
iii) an infinite number of solutions

kx + y + z = 1
x + ky = z = 1
x + y + kz = 1.





Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-439
S.Y. B.A. (Semester - IV)

MARATHI (_amR>r)
Sahitya Samiksha

gm{hË` g_rjm (DSE 2B)
(2019 Pattern) (CBCS) (24022)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3768

àíZ 1) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [10]

A) gm{hË` g_rjoMr g§H$ënZm {deX H$am.

~) AmñdmXmMo ñdê$n {deX H$am.

H$) gm{hË`mMr OrdZ_yë ò {deX H$am.

àíZ 2) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 150 eãXm§V {bhm. [20]

A) gm{hË` g_rjoMo ñdê$n {deX H$am.

~) g_mOemñÌr` g_rjoMo H$m ©̀ d ñdê$n ñnï> H$am.

H$) gm{hË` ì`dhmamVrb g_rjoMo _hÎd {bhm.

àíZ 3) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]

A) gm{hË`H¥$Vr Am{U g_rjH$ `m§Mo nañna g§~§Y ñnîQ> H$am.

~) gm{hË` g_rjoVrb AmñdmX, AmH$bZ d _yë`_mnZ `m§Mo _hÎd {deX H$am.

H$) gm{hË`H¥$Vr Am{U dmMH$ `m§Mo nañna g§~§YmMo _hÎd {deX H$am.

P.T.O.

SEAT No. :
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àíZ 4) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]

A) g_rjH$mÀ`m A§Jr H$moUH$moUVo JwU Agm`bm nm{hOoV `mMr MMm© H$am.

~) gm{hË` g_rjoVrb ^m{fH$, gm{hpË`H$ _yë`ì`dhmamMr MMm© H$am.

H$) J«§W g_rjm åhUOo H$m`? Vo gm§JyZ J«§W g_rjoMo _hÎd {deX H$am.


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S.Y.B.A (Semester - IV)

URDU 
DSE-2B Special Study of Poets 

 (CBCS) (2019 Pattern) (24072)

PA-3769

Total No. of Questions : 5

[Time :2½ HoursTotal Marks : 70]

P.T.O.

   

 (1

  (2

 :1 




 2 




 3 




 4 

 

[15]

SEAT No.

Total No. of Pages : 2

[10]

[15]

[10]



 5 
  (1    

  (2       

 (3

  (4

  (5

  (6

  (7

 5 
 (1


 (2


 (3


 (4        


  (5        


 (6     


 (7




[10]

- 2 - [5961]-440
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Total No. of Questions : 4]

[5961]-441
S.Y.B.A.

POLITICAL SCIENCE
DSE-2B : Political Journalism

(2019 Pattern) (CBCS) (Semester - IV) (24162)

Time : 2 ½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3770 [Total No. of Pages : 4
SEAT No. :

Q1) Write short answer (any eight) [16]

a) What is paid News?

b) Name the two national political parties in India.

c) Write two types of print media.

d) Write two types of paid News.

e) Write the defination of Mediatisation.

f) Name two types of Media.

g) What is Public opinion?

h) Name two types of social media.

i) Write down the two duties of the media regarding pubic opinion.

j) Write two methods of mediatisation.

Q2) Write the answer in 50 words (any four) [16]
a) Formation of public opinion.

b) Social media war Room.

c) Advertising.

d) Loksabha Election 2014 and Media.

e) Restrictions on paid News.

f) Loksabha Election 2019 and media.

P.T.O.
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Q3) Write the answers in 100 words (any three). [18]
a) What is the saturation of Media?

b) Explain the concept of Mediatisation of Politics.

c) Explain the role of media in a political party.

d) Explain the disadvantages of Paid News.

Q4 Write the answer in 200 words (any two). [20]
a) Explain the factors that affect public opinion

b) Explain the importance of journalism in the Indian political process.

c) Explain the challenges facing political Journalism.


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Total No. of Questions : 4]

[5961]-441
S.Y.B.A.

POLITICAL SCIENCE
DSE-2B : Political Journalism

(2019 Pattern) (CBCS) (Semester - IV) (24162)
(‘amR>r ê$nm§Va)

doi :2 ½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«oOr àíZ n{ÌH$m nhmdr.

PA-3770

à.à.à.à.à.1) WmoS>³¶mV CÎmao {bhm. (H$moUVohr AmR>) [16]
A) noS> Ý¶wO åhUOo H$m¶?

~) ^maVmVrb XmoZ amï´>r¶ amOH$s¶ njm§Mr Zmdo gm§Jm.

H$) qàQ> ‘mÜ¶‘mMo XmoZ àH$ma {bhm.

S>) noS> Ý¶wO Mo XmoZ àH$ma {bhm.

B) ‘mÜ¶‘rH$aUmMr ì¶m»¶m {bhm.

’$) ‘mÜ¶‘mMo XmoZ àH$ma gm§Jm.

¶) gmd©O{ZH$ ‘V åhUOo H$m¶?

a) gmoeb {‘S>r¶mMo XmoZ àH$ma gm§Jm.

b) gmd©O{ZH$ ‘Vm~m~V ‘mÜ¶‘m§Mo XmoZ H$V©ì¶o {bhm.

d) ‘mÜ¶‘rH$aUmÀ¶m XmoZ nÕVr {bhm.

à.à.à.à.à.2) 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]
A) gmd©O{ZH$ ‘VmMr {Z{‘©Vr

~) gmoeb {‘S>r¶m dm°a é‘

H$) Om{hamV

S>) bmoH$g^m {ZdS>UyH$ 2014 d ‘mÜ¶‘o

B) noS> Ý¶wO ~m~V ~§YZo

’$) bmoH$g^m 2019 {ZdS>UyH$ d ‘mÜ¶‘o
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à.à.à.à.à.3) 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) ‘mÜ¶‘m§Mo g°À¶waoeZ åhUOo H$m¶?

~) amOH$maUmMo ‘mÜ¶‘rH$aU hr g§H$ënZm ñnï> H$am.

H$) amOH$s¶ njmVrb {‘S>r¶mMr ŷ{‘H$m ñnï> H$am.

S>) noS> Ý¶wO Mo VmoQ>o {bhm.

à.à.à.à.à.4) 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) gmd©O{ZH$ ‘Vmda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.

~) ^maVr¶ amOH$s¶ à{H«$¶oV nÌH$m[aVoMo ‘hËd ñnï> H$am.

H$) amOH$s¶ nÌH$m[aVo g‘moarb AmìhmZo ñnï> H$am.





Total No. of Questions : 3]

[5961]-442
S.Y.B.A.

HISTORY
SEC-2B - Popular Indian Culture

(2019 Pattern) (Semester - IV) (24177)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3771 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 200 words. (any one) [10]
a) What is High culture? Explain with examples.

OR
b) Write information about modern Indian Theatre.

Q2) Answer the following questions in 200 words. (any one) [10]
a) Explain the Role of the Internet in the propagation of Indian culture.

OR
b) Explain the importance of Mythological stories in Indian culture.

Q3) Short note  (any one) [5]
a) Film and Television Institute of India (F.T.I.I.).

OR
b) National Festivals.



P.T.O.
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Total No. of Questions : 3]

[5961]-442
S.Y.B.A.

HISTORY
SEC-2B - Popular Indian Culture

(2019 Pattern) (Semester - IV) (24177)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©dVmV.

PA-3771

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm (’$º$ 1) [10]

A) Cƒ g§ñH¥$Vr åhUOo H$m¶ ho CXmhaUmgh ñnï> H$am.

qH$dm

~) AmYw{ZH$ ^maVr¶ a§J‘§M ¶m~X²Xb ‘m{hVr {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ 1) [10]

A) ^maVr¶ bmoH${à¶ g§ñH¥$VrÀ¶m àMma - àgmam‘Ü¶o B§Q>aZoQ>Mr ŷ{‘H$m ñnï> H$am.

qH$dm

~) nm¡am{UH$ H$Wm§Mo ^maVr¶ g§ñH¥$Vr‘Ü¶o AgUmao ‘hÎd {deX H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVrhr 1) [5]

A) ^maVr¶ {’$ë‘ Am{U Q>o{bpìhOZ g§ñWmZ (F.T.I.I.)

qH$dm

~) amï´>r¶ gU





Total No. of Questions : 4]

[5961]-443
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-1(B) SPL.-1 : India’s Internal Security-II
(CBCS 2019 Pattern) (Semester - IV) (24271)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3772 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 100 words each. (Any Three) [3×5=15]
a) Explain in brief Background of Article 370.
b) Explain the Naxalism in Bihar.
c) Explain the Meaning and Concept of Terrorism.
d) Explain the Meaning and Concept of Cyber Crime.
e) What is Counter-Terrorism?

Q2) Answer the following question in 300 words each. (any one) [1×15=15]
a) Explain in detail the Problem of Jammu and Kashmir issue.
b) What are the Causes of Terrorism? Explain.

Q3) Answer the following questions in 200 words each. (Any Two) [2×10=20]
a) Explain the Strategic and Military Importance of Jammu and Kashmir.
b) Describe in brief the Naxalite movement in Maharashtra and state the

measures taken by the government.
c) What are the Preventive measures of Terrorism?
d) What are the Events of Cyber Crime and provision against cyber Crime?

Q4) Write Short Notes (Any Four) [4×5=20]
a) Article 35-A
b) Naxalism
c) Nature of Terrorism
d) Counter Terrorism Policy
e) Cyber Crime Laws
f) Article 370



P.T.O.
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Total No. of Questions : 4]

[5961]-443
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-1(B) SPL.-1 : India’s Internal Security-II
(CBCS 2019 Pattern) (Semester - IV) (24271)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

PA-3772

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [3×5=15]
A) H$b‘ 370 Mr nmíd©̂ y‘r WmoS>³¶mV ñnï> H$am.
~) {~hma ‘Yrb ZjbdmX ñnï> H$am.
H$) XheVdmXmMm AW© Am{U g§H$ënZm ñnï> H$am.
S>) gm¶~a JwÝøm§Mm AW© d g§H$ënZm ñnï> H$am.
B) à{VXheVdmX åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [1×15=15]
A) Oå‘y Am{U H$mí‘raMr g‘ñ¶m g{dñVa ñnï> H$am.
~) XheVdmXmMr H$maUo H$moUVr? ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [2×10=20]
A) Oå‘y Am{U H$mí‘raMr gm‘[aH$ Am{U bîH$ar ‘hËd ñnï> H$am.
~) ‘hmamï´>mVrb ZjbdmXr Midi WmoS>³¶mV gm§JyZ gaH$maZo Ho$boë¶m Cnm¶ ¶moOZm gm§Jm.
H$) XheVdmXm {déÕMo à{V~§YmË‘H$ Cnm¶ H$moUVo?
S>) gm¶~a JwÝøm§À¶m KQ>Zm Am{U Ë¶m {déÕÀ¶m VaVwXr H$moUË¶m?

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr Mma) [4×5=20]
A) H$b‘ 35-A
~) ZjbdmX
H$) XheVdmXmMo ñdê$n
S>) à{V XheVdmXmMo YmoaU
B) gm¶~a JwÝøm§g§~YrMo H$m¶Xo
’$) H$b‘ 370





Total No. of Questions :4]

[5961]-444
S.Y.B.A.

MATHEMATICS
DSE 2B : MS-4 : Computational Geometry

(2019 Pattern) (Semester - IV)  (24342)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3773 [Total No. of Pages : 3
SEAT No. :

Q1) Attempt any five of the following: [10]
a) Write a 2×2 transformation matrix that represent shearing in y direction

by 7 and apply it on the point  0 3 .A

b) Find the image of point  3 1P under the rotation by an angle 50° about
the origin.

c) Define the term ‘Overall scalling’. Give an example of overall scaling
transformation.

d) State the term ‘Plane geometric projection’.
e) Write the parametric equation of line passing through the points (2,3)

and (4,–3).
f) Write the methods for representation of spline curves.
g) Find an angle   to generate 24 equally spaced points on the circle

3 2 81.x y 

Q2) Attempt any four of the following. [20]
a) Find the combined 2×2 transformation matrix for the following sequence

of transformations.
i) Rotation about the origin through an angle 50°.
ii) Shearing in y direction by –2.1 units.

b) A line segment joining the points  3 4A and   5 6B  is transformed to

the line segment A B by transformation matrix 
2 1

.
1 4

T  
  
 

Find the

midpoint of line .A B 
c) Find the transforme image * * *A B C of the triangle ABC with vertices

     1 1 , 2 2 , 3 3A B C obtained by rotating through an angle 90° about
the point  2 4 .

P.T.O.
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d) Find the transformd image the line segment joining
   0 0 1 , 2 1 0A B obtained by rotating about y axis through an angle

90°.

e) Determine the transormation matrix for trimetric projection formed by
rotation about y axis through an angle 45°, followed by rotation about x
axis through 60°, followed by orthogonal projection on 0z  plane. Apply

it on the object 
0

1 2 3 1
1 5 2 1

3 2 1 1
X

 
   
  

f) Determine the parametric equation of a Be’ zier curve determined by
control points        0 1 2 21 1 , 2 3 , 4 3 and 3 1 .B B B B 

Q3) Attempt any four of the following: [20]

a) A circle 2 2 2x y r  having area 49cm2 is transformed using linear

transformation 
1 2
1 2

T  
   

. Find the area of transformed circle.

b) Let 

0 0 1 1
1 0 1 1
5 5 1 1
0 0 0 1
1 0 0 1
5 5 0 1

X

 
 
 
 

  
 
 
 
 

. Find the cabinet projection of X with 30 .  

c) Write an algorithm to generate uniformly spaced n points on a parabolic
segment 2 4y ax in the first quadrant for the given range of x co-ordinate.

d) Let    1 0 1 , 0 1 4A B  and  3 3 0C be vertices of triangle .ABC Find
the perspective projection of ABC onto 0z   plane with center of
projection at 10cZ   on the z axis
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e) Find the concatenated transformation matrix for the following sequence
of transformations.
i) Translation by – 2,3 and 5 units along ,x y and z  axes respectively.
ii) Perspective projection on 0z  plane from the center of projection

on z axis at 50.cz 
f) Find the transformed image * * *A B C of the triangle ABC with vertices

     2 2 , 3 3 , 0 0A B C obtained by rotating through an angle 90°
about the point  1 1 .

Q4) Attempt any two of the following. [20]
a) Generae uniformly spaced 5 points on the arc of a circle 2 2 49x y  in

the first quadrant.

b) Generate uniformly spaced 7 points on the arc of an ellipse 
2 2

1
25 16
x y

  in

the first quadrant.
c) Find the concatenated transformation matrix for the following sequence

of transformations and apply it on point  3 2 1P
i) Translation in x,y and z directin by –1,2 and 1 units respectively.
ii) Rotation about axis by 90°
iii) Reflection in xy plane.

d) Find the concatenated transformation matrix for reflection through the
line 2 4 0y x    Apply it to find transformed image of ,ABC where
     1 1 , 0 4 and 2 0 .A B C 





Total No. of Questions : 4]

[5961]-445
S.Y.B.A.

PHILOSOPHY
DSE-2B : Modern Western Philosophy (Special-2)
(2019 Pattern) (CBCS) (Semester - IV) (24422)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3774 [Total No. of Pages : 2
SEAT No. :

Q1) Write answers to the following questions in 100 words (Any three) [15]
a) Explain Descartes’ idea of innate.
b) State John Locke’s reasons for rejecting Descartes’ conception of innate.
c) Briefly state Spinoza’s Moral Philosophy.
d) Explain Kant’s concept of ‘Understanding’
e) Briefly analyze Berkeley’s statement, ‘Esse Est Percipi.’

Q2) Write answers to the following questions in 100 words. (Any three) [15]
a) State Spinoza’s pantheism.
b) Elaborate Descartes’ thoughts on soul.
c) Discuss Hume’s ideas of ‘Impressions’ and ‘Imaginations’.
d) Explain John Locke’s Tabula Rasa Idea in brief.
e) Elaborate Hegel’s concept of dialectical developement.

Q3) Write short notes. (Any two) [20]
a) Concept of ‘Attribute’ and ‘Mode’ - Spinoza.
b) Skepticism - Descartes.
c) Absolute idea - Hegel.
d) Causation Theory - Hume

Q4) Write the answer to the following questions in 400 words. (Any one) [20]
a) Discuss in detail Kant’s concept of Categorical Imperative.
b) Discuss in detail Descartes’ body-mind theory.



P.T.O.
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Total No. of Questions : 4]

[5961]-445
S.Y.B.A.

PHILOSOPHY
DSE-2B : Modern Western Philosophy (Special-2)
(2019 Pattern) (CBCS) (Semester - IV) (24422)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3774

à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]
A) XoH$mV©Mr OÝ‘OmV H$ënZm {deX H$am.
~) Om°Z bm°H$Zo XoH$mV©Mr OÝ‘OmV H$ënZm ZmH$maì¶mMr H$maUo gm§Jm.
H$) pñnZmoPmMo Z¡{VH$ VÎdkmZ WmoS>³¶mV gm§Jm.
S>) H$m§Q>Mr "AmH$bZ' g§H$ënZm ñnï> H$am.
B) ~H$b}À¶m "ApñVÎd åhUOo àË¶¶' {dYmZmMo WmoS>³¶mV {díbofU H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]
A) pñnZmoPmMm "gd}ídadmX' gm§Jm.
~) XoH$mV©Mo AmË‘ {df¶H$ {dMma {deX H$am.
H$) hçÿ‘À¶m "R>go Am{U H$ënZm' {dMmam§Mr MMm© H$am.
S>) Om°Z bm°H$Mr "H$moar nmQ>r H$ënZm' (Tabula Rasa) WmoS>³¶mV gm§Jm.
B) hoJobMr "Û§Û-{dH$mg' H$ënZm {deX H$am.

à.à.à.à.à.3) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr XmoZ) [20]
A) "JwU' d "{dH$ma' g§H$ënZm - pñnZmoPm
~) g§e¶dmX - XoH$mV©
H$) {Zanoj H$ënZm-hoJob
S>) H$maU {gÕm§V - hçÿ‘

à.à.à.à.à.4) Imbrb àíZmMo 400 eãXm§V CÎma {bhm. (H$moUVohr EH$) [20]
A) H$m§Q>À¶m {Zê$nm{YH$ AmXoe g§H$ënZoMr g{dñVa MMm© H$am.
~) XoH$mV©À¶m eara - ‘Z {df¶H$ {gÕm§VmMo g{dñVa {ddoMZ H$am.





Total No. of Questions : 4]

[5961]-446
S.Y.B.A.

POLITICAL SCIENCE
G2-CC1D (3)-An Introduction to Political  Ideologies

(2019 Pattern) (Semester - IV) (Credit System) (24164)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3775 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any Eight questinos (20 words) [16]

a) In which book has Karl Marks elaborated his views on the state?

b) Dr B.R. Ambedkar advocated which democratic system.

c) What types of non-violence did Mahatma Gandhi mentioned.

d) Name any four Indian intellectuals advocated feminism?

e) According to Mahatma Gandhi what is non violence?

f) What is class, According to Karl Marks?

g) In which century did feminism emerge?

h) Write the Satyagraha tools of Mahatma Gandhi

i) What is “Surplus Value”?

j) Name two books of Dr. Babasaheb Ambedkar

P.T.O.
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Q2) Attempt any four questions (50 words) [16]

a) Thought at mahatma phule on Caste System.

b) Mahatma Gandhi’s views on ‘truth’.

c) How did feminism develop? Explain

d) Explain karl marx’s concept of class

e) Explain the concept of feminism

f) Review at Dr. Babasaheb Ambedkars views on Equality

Q3) Attempt any three questions (100 words) [18]

a) Reveiw the Liberal feminism

b) Explain econmic thought of mahatma Gandhi

c) Explain the position of women in Patriarchal system.

d) Tak a review of Neo-murxism.

Q4) Attempt any two quesitons (200 words) [20]
a) Review the theory ‘Surplus value’ of marx’s

b) Evalute Mahatma Gandhis thoughts

c) Explain Babasaheb Ambedkar’s views on  ‘Parliamentary Democracy?


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Total No. of Questions : 4]

[5961]-446
S.Y.B.A.

POLITICAL SCIENCE
G2-CC1D (3)-An Introduction to Political  Ideologies

(2019 Pattern) (Semester - IV) (Credit System) (24164)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3775

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V>) [16]

A) ‘m³g© Zo Amnbo amÁ¶{df¶H$ {dMma H$moUË¶m J«§WmV ‘m§S>bo AmhoV?

~) S>m°. ~m~mgmho~ Am§~oS>H$a H$moUË¶m bmoH$emhr nÕVrMm nwañH$ma H$aVmV?

H$) ‘. Jm§YrZr AqhgoMo H$moUVo àH$ma gm§{JVbo AmhoV?

S>) ñÌrdmXmMm nwañH$ma H$aUmè¶m H$moUË¶mhr Mma ^maVr¶ VËddoË¶mMr Zmdo gm§Jm.

B) ‘. Jm§YrOrÀ¶m ‘Vo Aqhgm åhUOo H$m¶?

’$) ‘m³g© À¶m ‘Vo dJ© åhUOo H$m¶?

¶) ñÌrdmXmMm CX¶ H$moUË¶m eVH$mV KSy>Z Ambm?

a) ‘hmË‘m Jm§YrOrMr gË¶mJ«hmMr Mma gmYZo {bhm.

b) A{V[aº$ ‘yë¶ åhUOo H$m¶?

d) S>m°. ~m~mgmho~ Am§~oS>H$amÀ¶m H$moUË¶mhr XmoZ J«§WmMr Zmdo {bhm?
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à.à.à.à.à.2) H$moUË¶mhr Mma àíZm§Mr CÎmao {bhm. (50 eãXm§V) [18]

A) ‘hmË‘m ’w$bo ¶m§Mo OmVrì¶dñWo{df¶H$ {dMma ñnï> H$am.

~) ‘. Jm§YrMo gË¶{df¶H$ {dMma ñnï> H$am.

H$) ñÌrdmXmMm {dH$mg H$emàH$mao KSy>Z Ambm Vo gm§Jm.

S>) ‘m³g©Mr "dJ©' g§H$ënZm {deX H$am.

B) "ñÌrdmX' g§H$ënZm ñnï> H$am.

’$) S>m°. ~m~mgmho~ Am§~oS>H$amÀ¶m g‘Vm {df¶H$ {dMmam§Mm AmT>mdm ¿¶m.

à.à.à.à.à.3) H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [16]

A) CXma‘VdmXr ñÌrdmXmMm AmT>mdm ¿¶m.

~) ‘. Jm§Yr ¶m§Mo Am{W©H$ {dMma ñnï> H$am.

H$) {nV¥gÎmmH$ ì¶dñWoVrb {ñÌ¶m§Mo ñWmZ {deX H$am.

S>) Zd ‘m³g©dmXmMm g{dñVa AmT>mdm ¿¶m.

à.à.à.à.à.4) H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) ‘m³g©À¶m A{V[aº$ ‘w»¶ {gÕm§VmMm AmT>dm ¿¶m.

~) ‘. Jm§YrÀ¶m {dMmam§Mo ‘yë¶‘mnZ H$am.

H$) S>m°. ~m~mgmho~ Am§~oS>H$am§Mo g§gXr¶ bmoH$emhr {df¶H$ {dMma ñnï> H$am.





Q1) Answer the following questions in 300 words (Any one) : [15]

a) Take a review of the Ancient Indian Ashram system.

OR

b) Discuss the various types of marriages in Ancient India.

Q2) Answer the following questions in 300 words. (Any one) : [15]

a) Take a review of various Universities in Ancient India.

OR

b) Discuss about the Industries in Ancient India.

Q3) Answer the following questions in 200 words (Any two) : [20]

a) Take a review of the life of women in Ancient India.

b) State the importance of Ancient Indian Sacraments.

c) Explain the nature of internal trade in Ancient India.

d) State the various phases of the development of Ancient Indian Coins.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-447
S.Y. B.A.

ANCIENT INDIAN HISTORY, CULTURE AND
ARCHAEOLOGY (General Paper - II)

CC-2D : Socio-Economic Institutions of Ancient India
(2019 Pattern) (Semester - IV) (24183)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4262

SEAT No. :

P.T.O.
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Q4) Short Notes (Any four) : [20]

a) Demerits of Varna system.

b) Gurukula education system.

c) Ancient Indian Agriculture.

d) Guilds.

e) India - South East Asia Trade.

f) Ancient Weights.





Total No. of Questions: 4]

[5961]-447
S.Y. B.A.

àmMrZ ^maVr` B{Vhmg, g§ñH¥$Vr Am{U nwamVËdemó
(General Paper - II)

CC-2D : àmMrZ ^maVmVrb gm_m{OH$ d Am{W©H$ g§ñWm
(2019 Pattern) (Semester - IV) (24183)

(_amR>r ê$nm§Va)
doi :  2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ Amdí`H$ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

PA-4262

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVmhr EH$) … [15]

A) àmMrZ ^maVr` Aml_ì`dñWoMm AmT>mdm ¿`m.

qH$dm

~) àmMrZ ^maVmV ApñVËdmV Agboë`m {d{dY {ddmh àH$mam§Mr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 300 eãXmV CÎma Úm. (H$moUVmhr EH$) … [15]

A) àmMrZ ^maVmVrb {d{dY {dÚmnrR>m§Mm AmT>mdm ¿`m.

qH$dm

~) àmMrZ ^maVr` CÚmoJm§{df`r MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZmMo 200 eãXmV CÎma Úm. (H$moUVohr XmoZ) … [20]

A) àmMrZ ^maVr` ór-OrdZmMm AmT>mdm ¿`m.

~) àmMrZ ^maVr` g§ñH$mam§Mo _hÎd gm§Jm.

H$) àmMrZ ^maVmÀ`m A§VJ©V ì`mnmamMo ñdén ñnï> H$am.

S>) àmMrZ ^maVmVrb ZmÊ`m§À`m {dH$mgmMo {d{dY Q>ßno gm§Jm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) Q>rnm {bhm. (H$moUË`mhr Mma) … [20]

A) dU©ì`dñWoMo Xmof

~) JwéHw$b {ejU nÕVr

H$) àmMrZ ^maVr` eoVr

S>) loUr

B) ^maV-Am½Zò  Am{e`m ì`mnma

\$) àmMrZ _mno





Total No. of Questions :5]

[5961]-448
S.Y.B.A.

FUNCTIONAL ENGLISH
Advanced writing Skills and Introduction to Electronic  Media

(2019 Pattern) (Semester - IV)  (24851) (Paper-III)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3777 [Total No. of Pages : 2
SEAT No. :

Q1) Attempt any two of the following. [16]
a) You are supposed to be the university Representative of your college

your Principal has asked you to conduct a survey of the facilities available
on the college campus. Present your report to the Principal considering
the following points.
* Library
* Laboratories
* Canteen
* Playing Ground
* Health facilities

b) Rotary club of your city organized ‘Road safety Rally.’ You are the
reporter of a local newspaper write a News Report of the rally by
considering following points:
* Time and date
* Objectives
* Nature of the activity
* Participants

c) What is a News Report? State main points to be considered in drafting a
News Report.

Q2) a) Attempt any one of the following. [10]
i) Recently, your college held a seminar on Education After

COVID-19. Write an anchoring script of the seminar by considering
the following points.
* Introduction of the Programme
* Felicitation
* Speeches
* Vote of thanks

ii) Explain the outline of anchoring script.

P.T.O.
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b) Attempt any one of the following [10]
i) Write a short note on ‘Blogwriting’
ii) Write a ‘Blog’ on the ‘use of ICT in Teaching and Learning’

Q3) Attempt any two of the following. [12]
a) What are the functions of a Radio studio?
b) Radio is a medium of Education. Explain.
c) What is a Radio Talk? Explain with examples.

Q4) Attempt any two of the following. [12]
a) TV is a medium of information. Explain.
b) What are the functions of a TV studio?
c) Consider Television as an effective medium for language education.

Discuss and comment on the present situation of Television in India in
this regard.

Q5) Attempt any two of the following. [10]
a) Compare Radio and Television as effective media for entertainment.
b) What are the disadvantages of News on Television?
c) What is the essential difference between the ‘use of language’ for Radio

and for Television Programmes?





Total No. of Questions : 3]

[5961]-449
S.Y.B.A.

MARATHI (‘amR>r)
MODERN INDIAN LANGUAGES

MIL-2 : Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§gmR>r ‘amR>r
(2019 Credit Pattern) (Semester - IV) (24011)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3778

à.à.à.à.à.1) g§kmnZmVrb Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§Mo ñWmZ ñnï> H$am. [10]

qH$dm

Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§À¶m {d{dY àH$mam§Mm WmoS>³¶mV AmT>mdm ¿¶m.

à.à.à.à.à.2) ãbm°J boIZmMo doJionU {deX H$am. [10]

qH$dm

ì¶mdgm{¶H$ nÌì¶dhmamMo ‘hÎd ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUVrhr EH$ Q>rn {bhm. [5]

A) Zd‘mÜ¶‘o Am{U g‘mO‘mÜ¶‘m§{df¶H$ XjVm

~) Q²>{dQ>a



[Total No. of Pages : 1
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[5961]-450        
S.Y.B.A.
URDU

 DSE-1B History of Urdu Literature (Poetry)
( 2019 Credit Pattern) (Semester-IV) (24071)

Time :2½ Hours] [Max. Marks : 70

                                               
             

[15]  


 19901900

[15]  




[15]  


   

  
[15] 




P.T.O.

PA-3779

Total No. of Questions : 5]

[Total No. of Pages :2

SEAT No. :



[10]   
 a

 b

 c

 d
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Total No. of Questions : 4]

[5961]-451
S.Y.B.A.

ECONOMICS
DSE-1B : Micro Economics - II

(2019 Credit Pattern) (Semester - IV)  (24151)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3780 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following questions in the 20 words each.(Any 8) [16]

a) What does it mean by wage?

b) Define welfare economics.

c) What does it mean by total cost?

d) Define perfect competition.

e) Define Duopoly.

f) What is mean by Market?

g) What is mean by fixed cost?

h) What does it mean by innovation?

i) Define Rent.

j) What does it mean by marginal Productivity?

Q2) Answer the following questions in the 50 words each. [16]
a) Explain the importance of opportunity cost.

b) Explain the features of Monopoly.

c) State the concept of Quasi Rent.

d) Explain the concept of Gross Interest.

e) State the concept of total variable cost.

f) Explain the concept of Product difference.

P.T.O.
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Q3) Answer the following questions in 100 words (Any 3) [18]
a) Why is long-run average cost curve ‘U’shaped?
b) Explain the types of price discrimination.
c) Expalin the modern theory of wages.
d) State the Amartya Sen thought on welfare economics.

Q4) Answer the following questions in the 200 words (Any 2) [20]
a) State the short run equilibrium under monopoly.
b) Explain the uncertainty bearing theory of profit.
c) Explain the Classification of market structure.

eeee
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Total No. of Questions : 4]

[5961]-451
S.Y.B.A.

ECONOMICS
DSE-1B : Micro Economics - II

(2019 Credit Pattern) (Semester - IV)  (24151)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) gd© àíZm§Zm g‘mZ JwU AmhoV.

PA-3780

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm.(H$moUVohr AmR>) [16]

A) doVZ åhUOo H$m¶?

~) H$ë¶mUH$mar AW©emómMr ì¶m»¶m Xçm.

H$) EHy U IM© åhUOo H$m¶?

S>) nwU© ñnY©oMr ì¶m»¶m Xçm.

B) pìX{dH«o$Vm{YH$mamMr ì¶m»¶m Xçm.

’$) ~mOma åhUOo H$m¶?

¶) pñWa IM© åhUOo H$m¶?

a) ZdàdV©Z åhUOo H$m¶?

b) I§S>mMr ì¶m»¶m Xçm.

d) {g‘m§V CËnmXH$Vm åhUOo H$m¶?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm.(H$moUVohr Mma) [16]

A) g§YrË¶mJ IMm©Mo ‘hËd ñnï> H$am.

~) ‘ºo$XmarMr d¡{eï>²¶o ñnï> H$am.

H$) Am^mgr I§S> hr g§H$ënZm gm§Jm.

S>) gH$i ì¶mO hr g§H$ënZm ñnï> H$am.

B) EHy$U ~XbVm IM© hr g§H$ënZm gm§Jm.

’$) dñVw ôX hr g§H$ënZm ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 100 eãXm§V {bhm.(H$moUVohr VrZ) [18]

A) {XK©H$mbrZ gamgar IM© dH«$ B§J«Or ‘Yrb ‘U’ AmH$mamMm H$m AgVmo?

~) ‘wë¶ ôXmMo àH$ma ñnï> H$am.

H$) doVZmMm AmYw{ZH$ {gÜXm§V ñnï> H$am.

S>) A‘Ë¶© goZ ¶m§Mo H$ë¶mUH$mar AW©emó {df¶rMo {dMma gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm.(H$moUVohr XmoZ) [20]

A) ‘ºo$XmarVrb AënH$mbrZ g§VwbZ gm§Jm.

~) Zâ¶mMm A{ZpíMVVm dhZ {gÜXm§V ñnï> H$am.

H$) ~mOma g§aMZoMo dJuH$aU ñnï> H$am.

eeee



Total No. of Questions : 4]

[5961]-452
S.Y.B.A.

GEOGRAPHY
DSE-1B  Gg.210(B) : Population Geography - II
(2019 Credit Pattern) (Semester - IV)  (24202)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams whenever necessary.
4) Use of Map stencil is allowed.

PA-3781 [Total No. of Pages : 4
SEAT No. :

Q1) Write Answer to the following questions in 20 words each.(Any 8) [16]

a) Write the definition of Minimum population.

b) Write two measures of population control suggested by the Malthus.

c) Write any two problems of Indian population growth.

d) Write a definition of birth control policy.

e) Which is the apex body for determining the health Index in India.

f) Write the name of any two countries with Human Development Index in
top ten in the world rankings?

g) What is the level of Measuring human Development Index?

h) Write the names of any two ancient cities in India.

i) Write the names of any two cities established by the British.

j) Write any two environmental issues of Urbanization.

Q2) Write notes in about about 50 words each (Any three). [18]
a) Benefits of optimum Population.

b) National Populaion Policy.

c) Gender Development Index.

d) Urbanization and Crime.

P.T.O.
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Q3) Write the Answer following questions in 100 words each (Any two) [16]

a) Explain the characteristics of over Population.

b) Explain the background of the concept of Population as a social capital.

c) Explain the impact of Urbanization on the environment.

Q4) Write the Answer following questions in 300 words each (any one) [20]

a) Explain in detail the theory of Malthus about  Population growth.

b) Write the Problems of Urbanization in India.


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Total No. of Questions : 4]

[5961]-452
S.Y.B.A.

GEOGRAPHY
DSE-1B Gg.210(B) : Population Geography - II
(2019 Credit Pattern) (Semester - IV)  (24202)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.

PA-3781

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) Ý¶yZV‘ bmoH$g§»¶oMr ì¶m»¶m {bhm.

~) ‘mëWgZo gwM{dbobo bmoH$g§»¶m {Z¶§ÌUmMo XmoZ Cnm¶ {bhm.

H$) ^maVr¶ bmoH$g§»¶oÀ¶m dmT>rÀ¶m H$moUË¶mhr XmoZ g‘ñ¶m gm§Jm.

S>) OZZ {Z¶§ÌH$ YmoaUMr ì¶m»¶m {bhm.

B) ^maVm‘Ü¶o Amamo½¶ {ZX}em§H$ {ZpíMV H$aUmar {eIa g§ñWm H$moUVr Amho?

’$) OmJ{VH$ H«$‘dmarV n{hë¶m Xhm‘Ü¶o ‘mZd {dH$mg {ZX}em§H$ Agboë¶m H$moUË¶mhr XmoZ Xoem§Mr
Zmdo {bhm.

¶) ‘mZdr {ZX}em§H$ ‘moOUr H$aÊ¶mMr nmVir H$m¶ Amho?

a) ^maVmVrb H$moUË¶mhr XmoZ àmMrZ eham§Mr Zmdo {bhm.

b) {~«Q>rem§Zr dgdboë¶m H$moUË¶mhr XmoZ eham§Mr Zmdo {bhm.

d) ZmJarH$aUmÀ¶m H$moUË¶mhr XmoZ n¶m©daUr¶ g‘ñ¶m {bhm.
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à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXmV {Q>nm {bhm. (H$moUVohr {VZ) [18]

A) n¶m©á bmoH$g§»¶oMo ’$m¶Xo

~) amï´>r¶ bmoH$g§»¶m YmoaU

H) qbJ {dH$mg {ZX}em§H$

S) ZmJarH$aU A{U JwÝhoJmar

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) A{Var³V bmoH$g§»¶oMr d¡{eîQ>ço ñnï> H$am.

~) bmoH$g§»¶m EH$ gm‘m{OH$ ^m§S>db ¶m g§H$ënZoMr nmíd©̂ y‘r ñnï> H$am.

H$) ZmJarH$aUmMo n¶m©daUmdarb n[aUm‘ ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXmV CÎmao {bhm. [20]

A) H$mb© ‘m³g©Mm bmoH$g§»¶m {df¶H$ {gÕm§V ñnï> H$am.

~) ^maVmVrb ZmJarH$aUmÀ¶m g‘ñ¶m {bhm.





Q1) Write answers of the following questions in 200 words (Any one) :
[10]

a) Explain the Directive principles of foreign policy?

b) Explain the demerits of fundamental duties?

Q2) Write answers of the following questions in 200 words (Any one) :
[10]

a) Explain the Social Directive principles of state policy?

b) Explain the Fundamental Duties.

Q3) Write notes (Any one) : [5]

a) Importance of Fundamental duties.

b) Importance of Directive principles of state policy.



Total No. of Questions : 3]

[Total No. of Pages : 2

[5961]-453
S.Y. B.A.

PUBLIC ADMINISTRATION
SEC-2B : Basics of Indian Constitution

(2019 Pattern) (CBCS) (Semester - IV) (24444)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4217

SEAT No. :

P.T.O.



Total No. of Questions : 3]

[5961]-453
S.Y. B.A.

PUBLIC ADMINISTRATION
SEC-2B : Basics of Indian Constitution

(2019 Pattern) (CBCS) (Semester - IV) (24444)
(_amR>r ê$nm§Va)

doi :  2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-4217

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$ŠV 1) … [10]

A) amÁ`mÀ`m YmoaUmMr naamï´> g§~§Y {df`H$ _mJ©Xe©H$ VÎdo {bhm.

~) _yb^yV H$V©ì`m§Mo Xmof ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$ŠV 1) … [10]

A) amÁ`mÀ`m YmoaUmMr gm_m{OH$ _mJ©Xe©H$ VËdo ñnï> H$am.

~) _yb^yV H$V©ì`o ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) {Q>nm {bhm. (H$moUVohr EH$) … [5]

A) _yb ŷV H$V©ì`m§Mo _hÎd

~) amÁ`mÀ`m YmoaUmÀ`m _mJ©Xe©H$ VÎdm§Mr Cn ẁŠVVm.


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Total No. of Questions : 4]

[5961]-454
S.Y.B.A.

MARATHI (‘amR>r)
CC-1D (3) ^m{fH$ H$m¡eë¶ {dH$mg Am{U AmYw{ZH$ ‘amR>r gm{hË¶àH$ma :b{bVJÚ

(2019 Pattern) (Semester - IV) (24023)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo JwU Xe©{dVmV.

PA-3783

à.à.à.à.à.1) nmM n¡H$s VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§n¶ªV {bhm. [15]

A) JwJbMo ñdê$n ñnï> H$am.

~) ¶w Q²>¶y~ åhUOo H$m¶?

H$) b{bV JÚ åhUOo H$m¶?

S>) "eãX «̂‘ d AW©̂ «‘' Ame¶ ñnï> H$am.

B) g§Ü¶m a§Jmar ¶m§À¶m "nmIa§' ¶m b{bVboImVrb g‘mOOrdZ {M{ÌV H$am.

à.à.à.à.à.2) VrZn¡H$s XmoZ àíZm§Mr CÎmao àË¶oH$s 150 eãXm§n¶ªV {bhm. [20]

A) JwJb ³gmbê$‘Mo ’$m¶Xo ñnï> H$am.

~) b{bV JÚmMo àH$ma {bhm.

H$) B.g. 1990 Z§VaÀ¶m b{bV JÚmMr dmQ>Mmb ñnï> H$am.

[Total No. of Pages : 2
SEAT No. :

P.T.O.
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à.à.à.à.à.3) VrZn¡H$s XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§n¶ªV {bhm. [20]

A) em§Vm eoiHo$ ¶m§À¶m "J«§Wào‘' hm Ho$di N>§X Zmhr Va Y‘© Agë¶mMr à{MVr ¶oVo. WmoS>³¶mV {bhm.

~) "ghmdo gwI' ¶m b{bVboImMm Ame¶ Vw‘À¶m eãXmV C>bJSy>Z XmIdm.

H$) "h¶m Ýh¡À¶m n¡bVS>r' ¶m boImV Jmdm{df¶rMr AmR>dU H$emàH$mao ì¶º$ hmoVo.

à.à.à.à.à.4) XmoZn¡H$s EH$m àíZmMo CÎma 300 eãXm§n¶ªV {bhm. [15]

A) "VwÂ¶m ZmXmZ§ nm{hbr, VwPrM ao n§T>ar' ¶m boImMm Ame¶ g{dñVa ñnï> H$am.

~) gm{hË¶a§J ‘Yrb H$moUË¶mhr nmM b{bVboIm§Mm Ame¶ {deX H$am.





[5961]- 455
S.Y.B.A. (Semester-IV)

Arabic 
 CC-1D:Grammar and Translation

(2019 Pattern ) (24141)

PA-4228

Total No. of Questions : 3

[Time : 2½ HoursTotal Marks : 70]

Instructions to candidates :

1) Attempt all questions.
2) Figures to the right side indicate full marks.

Q.1 Define and Illustrate any three of the following Grammar .    [30]
 

      (a

       (b

       (c

     (d

Q.2  Translate the following Passage into English only :  [20]
     










SEAT No.

Total No. of Pages : 2



Q.3 Translate the following Passage into Arabic only :  [20]
These American engineers are very hardworking. The president
called the Iranian diplomats for an important meeting. The  
lecturers of the university returned to their homes in the 
evening. The Army men killed many terrorists in the mountains.
I read many English magazines last month. The nurses are 
working in those hospitals. The students go to different libraries
in the evening.  

    

                      
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Total No. of Questions : 4]

[5961]-456
S.Y.B.A.

POLITICAL SCIENCE
DSE-1B : Western Political Thought

(2019 Pattern) (CBCS) (Semester - IV) (24161)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3785 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions [16]

a) Give the two demerits of Social Contract theory of Rousseau’s.

b) Who wrote the book ‘The Emile’.

c) In Heqel dialectic stands on its head, dialectical Materialism turned it
right way up who’s say.

d) Name two important book of Heqel.

e) State the two kinds of freedom suggested by J.S. Mill.

f) State the eligibility of voter as suggested by J.S. Mill.

g) Why does Marx consider for state as an Instrument Exploitation in the
land of Ruling Class?

h) Who wrote Communist Manifesto

i) Give the two demerits of state of Nature Russeau’s.

j) Define Class-Struggle in Marxism.

P.T.O.
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Q2) Attempt any four questions in (50 words). [16]

a) Rousseau’s view’s on Government.

b) Rousseau’s state of Nature.

c) Hegel’s concept of Rights and Liberty.

d) Hegel’s Contribution of Political thought.

e) J.S. Mill’s views on Utilitaranism.

f) Marxian concept of class struggle.

Q3) Attempt any three questions in (100 words). [18]

a) Explain Rousseau’s concept of General will.

b) Explain Hegels views on Idealism.

c) Discuss J.S. Mill’s thought on Liberty.

d) Explain Marxian views on Revolution.

Q4) Attempt any two questions (500 words). [20]

a) Discuss the Hegel’s dialecticism.

b) Explain J.S. Mill’s concept of Representative Governmant.

c) critically examine the Marxian theory of Historical Materialism.


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Total No. of Questions : 4]

[5961]-456
S.Y.B.A.

POLITICAL SCIENCE
DSE-1B : Western Political Thought

(2019 Pattern) (CBCS) (Semester - IV) (24161)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3785

à.à.à.à.à.1) H$moUVohr AmR> àíZ gmoS>dm. (20 eãXmV) [16]

A) ê$gmoÀ¶m gm‘m{OH$ H$ama {gÕmVm§Mo XmoZ Xmof gm§Jm.

~) "{X E{‘b' hm J«§W H$moUr {bhrbm?

H$) hoJobMm Û§ÛdmX S>mo³¶mda C^m hmoVm, Vmo ‘r nm¶mda C^m Ho$bm Ago H$moUr åhQ>bo Amho?

S>) hoJobÀ¶m ‘hËdmÀ¶m XmoZ J«§WmMr Zmdo {bhm.

B) {‘bZo gwM{dbobo ñdmV§Í¶mMo XmoZ àH$ma gm§Jm.

’$) {‘bZo gwM{dbobo ‘VXmam§À¶m nmÌVoMo XmoZ {ZH$f gm§Jm.

¶) amÁ¶ ho amÁ¶H$Ë¶m© dJm©À¶m hmVmVrb {nidUwH$sMo gmYZ Amho Ago ‘m³g©bm H$m dmQ>Vo?

a) "H$å¶w{ZñQ> ‘°{Z’o$ñQ>mo' Mo boIH$ H$moU?

b) ê$gmoÀ¶m {ZgJm©dñWoMo XmoZ Xmof gm§Jm.

d) ‘m³g©dmXmVrb dJ©H$bhmMr ì¶m»¶m H$am.
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à.à.à.à.à.2) H$moUVohr Mma àíZ gmoS>dm. (50 eãXmV) [16]

A) ê$gmoMo emgZ {df¶H$ {dMma

~) ê$gmoMr {ZgJm©dñWm

H) hoJobMr A{YH$ma Am{U ñdmV§Í¶ g§H$ënZm

S) hoJobMo amOH$s¶ {dMmamVrb ¶moJXmZ

B) Oo. Eg. ‘rb Cn¶wº$VmdmX

’$) ‘m³g©Mr dJ© g§Kfm©Mr g§H$ënZm

à.à.à.à.à.3) H$moUVohr VrZ àíZ gmoS>dm. (100 eãXmV) [18]

A) ê$gmoMr gm‘mÝ¶ B©hm g§H$ënZm ñnï> H$am.

~) hoJobMo AmXe©dmX {df¶H$ {dMma ñnï> H$am.

H$) Oo.Eg. {‘bMo ñdmV§Í¶m{df¶H$ {dMmam§Mr MMm© H$am.

S>) ‘m³g©Mo H«$m§Vr{df¶H$ {dMma ñnï> H$am.

à.à.à.à.à.4) H$moUVohr XmoZ àíZ gmoS>dm. (500 eãXmV) [20]

A) hoJobÀ¶m Û§ÛdmXmMr MMm© H$am.

~) Oo. Eg. {‘bMo à{V{Z{YH$ emgZmg§~§YrMo {dMma ñnï> H$am.

H$) ‘m³g©À¶m Eo{Vhm{gH$ ^m¡{VH$dmXmMo {Q>H$mË‘H$ narjU H$am.





Total No. of Questions : 4]

[5961]-457
S.Y. B.A.

DSE - 1B : PSYCHOLOGY OF ABNORMAL BEHAVIOUR - II
(2019 Credit Pattern) (Semester - IV) (24221)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figure to the right indicate full marks.

PA-4199 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words (Any four): [20]
a) Write the symptoms of Schizophrenia.
b) State the nature of Schizoaffective Disorder.
c) Write the symptoms of Avoident Personality disorder.
d) What is the Bulimia Nervosa?
e) State the long term effects of Alcohol.
f) Write the causes of Internet Addiction Disorder.

Q2) Answer the following questions in 200 words (Any Two): [20]
a) Explain the nature of Schizophrenia Disorder. State the diagnostics criteria

of Schizophrenia disorder.
b) Define Personality Disorder. Explain the characteristics of Personality

Disorder.
c) Describe the types of Sleep Disorder.
d) Explain the types of Learning Disorder.

Q3) Answer the following questions in 400 words (Any One): [20]
a) Answer in details the types of Dramatic, Emotional or Eccentric Behavior

Personality Disorder.
b) Explain the nature of Attention deficit Hyper-activity Disorder (ADHD).

Write the Diagnostic criteria of ADHD.

Q4) Short notes on: [10]
a) Schizoaffectiv Disorder.
b) Delusional Disorder.
c) Anorenia Nervosa.
d) Gambling Disorder.


P.T.O.
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Total No. of Questions : 4]

[5961]-457
S.Y. B.A.

DSE - 1B : PSYCHOLOGY OF ABNORMAL BEHAVIOUR - II
(2019 Credit Pattern) (Semester - IV) (24221)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-4199

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]
A) {N>Þ‘ZñH$Vm {dH¥$VrMo bjUo {bhm.
~) {N>Þ^mdmË‘H$ {dH¥$VrMo ñdê$n gm§Jm.
H$) à{V~§YmË‘H$ ì¶{º$‘Ëd {dH¥$VrMo bjUo {bhm.
S>) jwYm{VaoH$ MoVmnXem åhUOo H$m¶?
B) ‘Xç-àmeZmMo {XK©H$mbrZ n[aUm‘ gm§Jm.
’$) «̂‘UÜdZr Amg³Vr {dH¥$VrMo H$maUo {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) {N>Þ‘ZñH$Vm {dH¥$VrMo ñdê$n ñnï> H$am. {N>Þ‘ZñH$Vm {dH¥$VrMo {ZXmZmË‘H$ {ZH$f gm§Jm.
~) ì¶{º$‘Ëd {dH¥$VrMr ì¶m»¶m {bhm. ì¶{º$‘Ëd {dH¥$VrMo d¡{eï>²¶o {bhm.
H$) {ZÐm {dH¥$VrÀ¶m àH$mam§Mo g{dñVa dU©Z H$am.
S>) AÜ¶¶Z {dH¥$VrMo àH$ma ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mo 400 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]
A) ZmQ>H$s, ^md{ZH$ AWdm bhar dV©Z ì¶{º$‘Ëd {dH¥$VrMo àH$ma g{dñVa ñnï> H$am.
~) A{V{H«$¶merbVm {dH¥$Vr AWdm AdYmZ ÌwQ>rnwaH$ {dH¥$VtMo ñdê$n ñnï> H$am. A{V{H«$¶merbVm

{dH¥$Vr AWdm AdYmZ ÌwQ>rnwaH$ {dH¥$VrMo {ZXmZmË‘H$ {ZH$f {bhm.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr XmoZ) [10]
A) {N>Þ^mdmË‘H$ {dH¥$Vr
~) g§^«mÝVr {dH¥$Vr
H$) jwYm^md MoVmnX²gm
S>) OwJmar {dH¥$Vr





Total No. of Questions :5]

[5961]-458
S.Y.B.A.

ENGLISH
DSC-2B :  Appreciating Poetry

Mirage : An Anthology of English Poetry
(2019 Pattern) (Semester - IV)  (24332)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3787 [Total No. of Pages : 2
SEAT No. :

Q1) Attempt any Three of the following. [15]

a) What do you understand of the Duke’s character in ‘My Last Duchess’.

b) Why has the speaker come to ‘Byzantium’ in ‘Sailing to Byzantium’

c) Comment on the title of the poem ‘Sailing to Byzantium’.

d) How does wilfred owen describe the sun in the poem, ‘Futility’?

e) Explain the significance of the title, ‘Futility’.

Q2) Attempt any Three of the following. [15]

a) What is the poet’s reaction to the bird in the poem, ‘A Bird came Down
the walk’?

b) Comment on the central theme of Emily Dickinson’s poem, ‘A Bird
came Down the walk’.

c) Why does the apple tree insist that it is not dead in, ‘Talking in Their
sleep’?

d) Explain the use of personification in the poem, ‘Talking in their sleep’.

e) Write a note on the theme of death in John clare’s ‘What is Life.’

P.T.O.
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Q3) Attempt any Three of the following. [15]
a) Why do you think the poet poul Dunbar identifies with the bird in

sympathy’?
b) Comment on the central theme of the poem, ‘The Awakening’.
c) Write a note on, ‘The Awakening’ in the backdrop of Harlem renaissence.
d) Explain Amy Lowell’s poem, ‘The wind’ as an imagistic poem.
e) Critically appreciate the poem, ‘The wind’ with reference to civil rights

movement.

Q4) Attempt any Three of the following. [15]
a) Explain the theme of ‘freedom’ explored by Rabindranath Tagore in the

poem, ‘Freedom’.
b) Maya Angelou talks about racial discrimination, Segregation and

domination. Explain the statement with reference to the poem ‘Caged
Bird’.

c) Comment on Form, Structure and poetic devices in the poem, ‘Caged
Bird’.

d) What is the central theme of ‘Space Between’? How does the imagery
and language used in the poem  reflect and enhance this theme?

e) Critically analyse the connection between the title ‘Space Between’ and
the text of the poem.

Q5) Explain with reference to context. (Any two) [10]
a) That’s my last Duchess painted on the wall,

Looking as if she were alive.
b) Or set upon a golden bough to sing

 To lords and ladies of Byzantium
of what is past, or passing, or to come.

c) Then what is Life?-when stripp’d of its diguise
 A thing to be desir’d it cannot be;
Since every thing that meets out foolish eyes
Gives proof sufficient of its vanity.

d) Laughing, dancing, Sunny wind,
Whistling, howling, rainy wind,
Nort, South, East and West,
Each is the wind I like the best.





Total No. of Questions : 4]

[5961]-459
S.Y.B.A.

SOCIOLOGY
DSE- 2B : Indian Society : Understanding Issues
(CBCS 2019 Pattern) (Semester - IV)  (24372)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3788 [Total No. of Pages : 2
SEAT No. :

Q1) Write short notes (Any three). [15]
a) Meaning of Development.
b) Role of sociology.
c) Issues of youth- Drug abuse.
d) Urban poverty.
e) Good Governance.

Q2) Answer the following question in 50 words each (Any three). [15]
a) Explain the concept of Displacement.
b) Define Rural Poverty.
c) Describe the process of unequal development.
d) Explain the role of NGOS in society.
e) Explain the concept of social justice.

Q3) Answer the following question in 200 words each. (Any two). [20]
a) Discuss the senior citizens Issues.
b) Describe the causes of Displacement.
c) Explain the Role of state.
 d) Write the Role of civil society and organizations.

Q4) Answer the following questions in 300 words each. (Any one) [20]
a) Discuss various problems of youth in India.
b) What is poverty? Explain the causes of poverty

P.T.O.
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Total No. of Questions : 4]

[5961]-459
S.Y.B.A.

SOCIOLOGY
DSE- 2B : Indian Society : Understanding Issues
(CBCS 2019 Pattern) (Semester - IV)  (24372)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3788

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ {Q>nm {bhm. [15]
A) {dH$mg ¶m g§H$ënZoMm AW©
~) g‘mOemómMr ŷ{‘H$m
H$) ¶wdH$m§Mo àíZ… ‘mXH$ Ðì¶m§Mo godZ
S>) ehar Xm[aÐ¶
B) gwemgZ

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]
A) {dñWmnZmMr g§H$ënZm ñnï> H$am.
~) J«m‘rU Xm[aÐ¶mMm AW© ñnï> H$am.
H$) Ag§Vw{bV {dH$mgmÀ¶m à{H«$¶oMo dU©Z H$am.
S>) {~Ja emgH$s¶ g§KQ>Zm§Mr g‘mOmVrb ŷ[‘H$m ñnï> H$am.
B) gm‘m{OH$ Ý¶m¶mMr g§H$ënZm ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr 200 eãXm§V CÎmao {bhm. [20]
A) d¥Õm§À¶m {d{dY g‘ñ¶m§{df¶r MMm© H$am.
~) àmXo{eH$ Ag‘VmobmMr H$maUo dU©Z H$am.
H$) gm‘m{OH$ g‘ñ¶o g§X^m©V amÁ¶mÀ¶m ŷ[‘H$m ñnï> H$am.
S>) ZmJar g§ñWm Am{U g§KQ>Zm§À¶m ŷ{‘H$sMo dU©Z H$am.

à.à.à.à.à.4) Imbrbn¡H$r H$moUË¶mhr EH$m àíZm§Mo CÎma 300 eãXm§V {bhm. [20]
A) ^maVmVrb ¶wdH$m§À¶m {d{dY g‘ñ¶m ñnï> H$am.
~) Xm[aÐ¶ åhUOo H$m¶? gm§JyZ Xm[aÐ¶mMr H$maUo ñnï> H$am.





Total No. of Questions : 4]

[5961]-460
S.Y. B. A.

PUBLIC ADMINISTRATION
CC - 1D : District Administration

(2019 Credit Pattern) (Semester - IV) (24443)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3789 [Total No. of Pages : 4

SEAT No. :

Q1) Write any Eight of the following Questions (20 words) [16]

a) What is District Police Administration?

b) What is the head of district police administration called?

c) What is the meaning of L.C.B.

d) Under whom does the Taluka Court function?

e) What is District Consumer Court?

f) What is District Jail?

g) State two problems of District Jail.

h) Under whom does police Patil work?

i) What is District planning Committee?

j) State two objectives of District Rural Development Organization.

P.T.O.
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Q2) Write any four of the following questions (50 words) [16]

a) Importance of police Administration.

b) Police Patil.

c) Structure of Taluka Court.

d) District Sessions Court Composition.

e) Structure of District Jail.

f) District Rural Development Institution.

Q3) Write any three of the following questions. (100 words) [18]

a) State the powers and functions of District superintendent of Police.

b) State the function of District Court.

c) State the problems and reforms facing the District Court.

d) State the types of district disaster management.

Q4) Write any two of the following questions. (200 words) [20]

a) State police administration and general citizen relations.

b) State the information about the district planning committee.

c) State the problems and improvments in District Jail administration.


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Total No. of Questions : 4]

[5961]-460
S.Y. B. A.

PUBLIC ADMINISTRATION
CC - 1D : District Administration

(2019 Credit Pattern) (Semester - IV) (24443)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

PA-3789

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXmV) [16]

A) {Oëhm nmo{bg àemgZ åhUOo H$m¶?

~) {Oëhm nmo{bg àemgZ à‘wImg H$m¶ åhUVmV?

H$) L.C.B. Mm AW© H$m¶?

S>) VmbwH$m Ý¶m¶mb¶ H$moUmÀ¶m A§VJ©V H$m¶© H$aVo?

B) {Oëhm J«mhH$ Ý¶m¶mb¶ åhUOo H$m¶?

’$) {Oëhm H$mamJ¥h åhUOo H$m¶?

¶) {Oëhm H$mamJ¥hmÀ¶m XmoZ g‘ñ¶m gm§Jm.

a) nmo{bg nmQ>rb H$moUmÀ¶m A§VJ©V H$m¶© H$aVmo?

b) {Oëhm {Z¶moOZ g{‘Vr åhUOo H$m¶?

d) {Oëhm J«m‘rU {dH$mg g§ñWoMo XmoZ C{Ôï> gm§Jm.
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à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma Q>rnm {bhm. (50 eãXmV) [16]

A) nmo{bg àemgZmMo ‘hÎd

~) nmo{bg nmQ>rb

H$) VmbwH$m Ý¶m¶mb¶mMr aMZm

S>) {Oëhm gÌ Ý¶m¶mb¶mMr aMZm

B) {Oëhm H$mamJ¥hmMr aMZm

’$) {Oëhm J«m‘rU {dH$mg g§ñWm

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXmV) [18]

A) {Oëhm nmo{bg A{YjH$mMo A{YH$ma d H$m¶© gm§Jm.

~) {Oëhm Ý¶m¶mb¶mMo H$m¶© gm§Jm.

H$) {Oëhm Ý¶m¶mb¶mg‘moarb g‘ñ¶m Am{U gwYmaUm gm§Jm.

S>) {Oëhm AmnÎmr ì¶dñWmnZmMo àH$ma gm§Jm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXmV) [20]

A) nmo{bg àemgZ Am{U gm‘mÝ¶ ZmJ[aH$ g§~§Y gm§Jm.

~) {Oëhm {Z¶moOZ g{‘VrMr ‘m{hVr gm§Jm.

H$) {Oëhm H$amJ¥h àemgZmÀ¶m g‘ñ¶m Am{U gwYmaUm gm§Jm.


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[Total No. of Pages : 4

[5961]-461A
S.Y. B.A. (Semester - IV)
SEC - 1B : SOCIOLOGY

G - 2 : Population and Indian Society
(2019 Pattern) (CBCS) (24373)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4284

Q1) Write short notes on (Any Three) : [15]

a) Types of sterility.

b) International migration.

c) Cairo summit.

d) Family planning.

e) National population policy.

Q2) Answer the following questions in 50 words each (Any Three) : [15]

a) Describe the pre-independence population policy of India.

b) Write the definition and meaning of population education.

c) State the two types of migration.

d) State the definition and meaning of fertility.

e) Describe two characteristics of Indian population.

SEAT No. :

P.T.O.
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Q3) Answer the following questions in 200 words each (Any Two) : [20]

a) Define fertility. State the social cultural factors affecting fertility.

b) Write the effects of migration on human life.

c) Evaluate the family planning programme in India.

d) State the factors affecting mortality.

Q4) Answer the following questions in 300 words (Any One) : [20]

a) Describe the social and cultural factors of population dynamics.

b) Write an essay on "National Rural Health Mission".


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Total No. of Questions : 4]

[5961]-461A
S.Y. B.A. (Semester - IV)
SEC - 1B : SOCIOLOGY

G - 2 : Population and Indian Society
(2019 Pattern) (CBCS) (24373)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-4284

àíZ 1) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) d§Ü`ËdmMo àH$ma

~) AmV§aamï´>r` ñWbm§Va

H$) H¡$amo n[afX

S>) Hw$Qw>§~ {Z`moOZ

B) amï´>r` bmoH$g§»`m YmoaU

àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXmV {bhm. (H$moUVohr VrZ) [15]

A) ^maVmMo ñdmV§Ì nyd© bmoH$g§»`m YmoaUmMo dU©Z H$am.

~) bmoH$g§»`m {ejUmMr ì`m»`m d AW© {bhm.

H$) ñWbm§VamMo XmoZ àH$ma {bhm.

S>) OZZmMr ì`m»`m d AW© {bhm.

B) ^maVr` bmoH$g§» òMr XmoZ d¡{eï>m§Mo dU©Z H$am.

P.T.O.
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àíZ 3) Imbrb àíZm§Mr àË òH$s 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) OZZmMr ì`m»`m {bhm. OZZmda n[aUm_ H$aUmao gm_m{OH$ gm§ñH¥${VH$ KQ>H$ ñnï> H$am.

~) ñWbm§VamMo _mZdr OrdZmda hmoUmam n[aUm_ {bhm.

H$) ^maVmVrb Hw$Qw>§~ {Z`moOZ H$m ©̀H«$_mMo _yë`_mnZ H$am.

S>) _Ë ©̀Voda n[aUm_ H$aUmao KQ>H$ {bhm.

àíZ 4) Imbrb àíZm§Mr 300 eãXmV CÎma {bhm. (H$moUVohr EH$) [20]

A) bmoH$g§»`m J{V_mZVoMo gm_m{OH$ d gm§ñH¥${VH$ KQ>H$m§Mo dU©Z H$am.

~) ""amï´>r` J«m_rU Amamo½` A{^`mZ' `mda {Z~§Y {bhm.





Q1) Attempt any Three of the following. [15]
a) Write a short note on verb-phrase. Give suitable examples.

b) Explain the term 'Subject - verb concord'. Give suitable examples.

c) Write a short note on imperative sentences.

d) Differentiate between compound and complex sentence with suitable
examples.

e) Write a note on 'Tag questions'.

Q2) Attempt any Three of the following. [15]

a) Define the term 'Clause'. Explain the parts of clauses in brief.

b) Write a note on the structural classification of sentence.

c) Write a note on Syntax as a branch of linguistics.

d) Write a note on semantics.

e) Differentiate between connotative and denotative meaning of a sentence.

Total No. of Questions : 4]

[Total No. of Pages : 2

[5961]-462
S.Y.B.A.

OLD GENERAL ENGLISH (Paper - II)
SEC - 1B - 24333 : Advanced Study of English Language

(2019 Pattern) (Semester - IV)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3791
SEAT No. :

P.T.O.
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Q3) Attempt any four of the following. [20]

a) Write a note on Synonymy and Antonymy with suitable examples.

b) Compare Homonymy and polysemy.

c) What is metonymy? give suitable examples.

d) Differentiate between Homography and Homophony. Give suitable
examples.

e) Explain the term 'Superordination' with suitable examples.

f) Write a note on the types of meaning.

Q4) Attempt any four of the following. [20]

a) Write a note on 'Pragmatics' as a branch of linguistics.

b) Explain J.L. Austin's taxonomy in brief.

c) Write a note on direct and indirect speech acts. Give suitable examples.

d) Write a note on Searle's classification of Illocutionary acts.

e) Explain the term cooperative principle and its maxims.

f) Write a note on politeness principle. Explain the maxims of politeness
principle in brief.





Q1) Write short notes (Any Three) : [15]

a) PCPNDT Act 1994

b) Issues of LGBTQ

c) Migrant Labour

d) Xenophobia

e) Article 29

Q2) Answer the following questions in 50 words each (Any Three) : [15]

a) Discuss the issues of identity and citizenship in India.

b) Describe the nature of child labour in India.

c) Write on Equality of employment opportunities.

d) Write the role of National Commission for minorities.

e) Explain the Issues of womens health in India.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-463
S.Y. B.A.

SOCIOLOGY
SEC-1B-G2 : Welfare, Justice and Citizenship

(2019 Pattern) (CBCS) (Semester - IV) (24374)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3792

SEAT No. :

P.T.O.



[5961]-463 2

Q3) Answer the following questions in 200 words each. (Any Two) [20]

a) Explain the nature of Law against womens trafficking.

b) Examine the nature of Pradhan Mantri Suraksha Bima Yojana.

c) Discuss the provisions of the citizenship Amendment Act in India.

d) State the provisions of the National Register of Citizens (NRC) Act.

Q4) Answer the following questions in 300 words. (Any one) [20]

a) Critically examine the nature and challenges of women's reservation
policy.

b) Analyse in detail the legislations and provisions for workers in India.





Total No. of Questions : 4]

[5961]-463
S.Y. B.A.
g_mOemó

SEC-1B-G2-H$ë`mU, Ý`m` Am{U ZmJ[aH$Ëd
(2019 Pattern) (CBCS) (Semester - IV) (24374)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àýn{ÌH$m nhmdr.

PA-3792

àíZ àíZ àíZ àíZ àíZ 1) WmoS>Š`mV {Q>nm {bhm (H$moUVohr VrZ) : [15]

A) qbJ {ZdS> MmMUr à{V~§Y H$m`Xm, 1994

~) LGBTQ Mm àíZ

H$) ñWbm§V[aV H$m_Jma

S>) PoZmo\$mo{~`m

B) H$b_ 29

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXmV {bhm. (H$moUVohr VrZ) [15]

A) ^maVmVrb AmoiI Am{U ZmJarH$ËdmÀ`m àíZm§Mr MMm© H$am.

~) ^maVmVrb ~mbH$m_Jmam§À`m ñdê$nmMo dU©Z H$am.

H$) amoOJma g§YrMr g_mZVm `m {df`r {bhm.

S>) amï´>r` Aëng§»`mH$ Am`moJmÀ`m ŵ{_Ho$da {bhm.

B) ^maVmVrb _hrbm§À`m Amamo½`mMm àíZ ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) _hrbm VñH$ar {dê$Õ H$m`X²̀ mMo ñdén ñnï> H$am.

~) àYmZ_§Ìr gwajm {d_m `moOZoMo ñdén ñnï> H$am.

H$) ^maVmVrb ZmJarH$Ëd gwYmaUm H$m`X²̀ mVrb VaVwXrda MMm© H$am.

S>) Z°eZb a{OñQ>a Am°\$ {g{Q>PZ (EZ Ama gr) H$m`X`mVrb VaVwXr gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 300 eãXmV {bhm. (H$moUVohr EH$) [20]

A) ^maVmVrb _{hbm AmajU YmoaUmMo ñdén d AmìhmZm§Mo {M{H$ËgmË_H$ narjU H$am.

~) ^maVr` g§{dYmZmVrb H$m_Jmam§gmR>r Agbobo H$m`Xo d VaVwXrMo g{dñVa {díbofU H$am.





Total No. of Questions : 4]

[Total No. of Pages : 3

[5961]-464
S.Y.B.A.

HINDI  (qhXr)
DSE - 2B : ‘Ü¶¶wJrZ H$mì¶ VWm ZmQ>H$ gm{hË¶ (S-2)

(2019 Pattern) (Credit System) (Semester - IV) (24092)
nmR²>¶nwñVH$ : 1) ‘Ü¶¶wJrZ H$mì¶ - g§. àmo. S>m°. gXmZ§X ^mogbo

2) ‘hm^moO - boIH$ - ‘Þw §̂S>mar
doi : 2½ K§Q>o]                      [nyUmªH$ : 70
gyMZmE± : 1) g^r àíZ A{Zdm¶© h¢&

2) Xm[hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¢&

PA-3793

àíZ 1) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]
A) ahr‘ Ho$ H$mì¶ ‘| ì¶º$ g‘mO Xe©Z H$mo ñnï> H$s{OE &

Am) ahr‘ H$s ^{º$ ^mdZm na àH$me S>m{bE&

B) ahr‘ Zr{V H$mì¶ Ho$ gd©loð> H${d h¡, ñnï> H$s{OE &

B©) ahr‘ Ho$ ì¶{º$Ëd Ed§ H¥${VËd H$m n[aM¶ Xr{OE &

àíZ 2) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]
A) {~hmar Ho$ ì¶{º$Ëd H$m n[aM¶ Xr{OE &

Am) {~hmar H$s ^{º$^mdZm na àH$me S>m{bE &

B) {~hmar H$s ^mfme¡br na àH$me S>m{bE &

B©) {~hmar ar{VH$mb Ho$ gd©loð> H${d h¡, {gÕ H$s{OE &

àíZ 3) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]
A) ‘emb gmám{hH$ H$s OmZH$mar Xr{OE &

Am) Xm gmh~ H$m M[aÌ {MÌU {b{IE &

B) ‘hm^moO ZmQ>H$ Ho$ erf©H$ H$s gmW©H$Vm {b{IE &

B©) ‘hm^moO ZmQ>H$ H$s a§J‘§Mr¶Vm H$mo ñnï> H$s{OE &

SEAT No. :

P.T.O.
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àíZ 4) gg§X ©̂ ì¶m»¶m & [7]

A) {ZåZ{b{IV ‘| {H$gr EH$ H$mì¶ n§{º$ H$s g§gX ©̂ ì¶m»¶m H$s{OE &

i) Oo Jar~ na {hV H$a¢, Vo ahr‘ ~‹S> bmoJ &

H$hm± gwXm‘m ~mnwamo, H¥$îU {‘VmB© OmoJ &&

ii) a{h‘Z CObr àH¥$V H$mo, Zht ZrM H$mo g§J &

H$[a¶m ~mgZ H$a Jho, H$m{bI bmJV A§J &&

Am) {ZåZ{b{IV ‘| go {H$gr EH$ H$mì¶ n§{º$ H$s g§gX ©̂ ì¶m»¶m {b{IE & [7]

i) ""H$ZH$ H$ZH$ V| gm¡ JwZr ‘m{XH$Vm A{YH$mB &

C{h ImE ~m¡amE OJ, Bqh nmE ~m¡amB©&&''

ii) H$hV, ZQ>V, arPV, {IPV, {‘bV, {IbV b{O¶mV &

^ao ^m¡Z ‘| H$aV h¢, Z¡Z{Z ‘| g~ ~mV&&

B) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s g§gX ©̂ ì¶m»¶m {b{IE & [7]

i) ""AmR> ‘{hZo nhbo hr Vmo Nw>Q>H$a Am¶m h¡

Z ¶o b‹S>H$m? gwHw$b ~m~y Ho$ g‘¶ ‘| Mma gmb VH$ Oob H$m{Q> h¡ BgZo?''

ii) ""Aao dmo H$moB© Hw$íVr ‘| WmoS>o hr ‘mam J¶m h¡

Omo Iob - {IbmS>r ‘| XmoJo! XoImo, Ý¶yyyO Om¶oJr ’«§$Q> - noO na, g‘Po&''

àíZ 5) {ZåZ{b{IV ~hþ{dH$ënr¶ àíZm| Ho$ CÎma {b{IE & [7]

i) "‘XZmï>H$' J«§W Ho$ aMZmH$ma H$m¡Z h¡

A) H$~ra Am) {~hmar

B) ahr‘ B©) gyaXmg

ii) ahr‘ H$s H$mì¶^mfm H$m¡Z gr h¡?

A) ~«O Am) AdYr

B) I‹S>r ~mobr B©) {~hmar qhXr

iii) {~hmar Ho$ H$mì¶ H$m à‘wI ag H$m¡Z gm h¡?

A) l¥§Jma Am) dra

B) em§V B©) H«$moY
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iv) {~hmarXmg Ho$ {nVm H$m Zm‘ ³¶m h¡?

A) Ho$edam¶ Am) gyaXmg

B) H$~ra B©) Om¶gr

v) BZ‘| go H$m¡Z gm ‘hm^moO H$m nmÌ Zht h¡?

A) {~gy Am) XþO©Z qgh

B) ‘hoe B©) q~Xm

vi) {~gy Ho$ ‘m¡V H$s N>mZ~rZ H$m¡Z H$aVm h¡?

A) Eg. nr Am) S>r. dm¶. Or.

B) ‘hoe B©) ^dmZr

vii) BZ‘| go ‘Þw §̂S>mar Or H$m ZmQ>H$ H$m¡Z gm h¡?

A) A§Ym¶wJ Am) H$~ram I‹S>m ~mOma ‘|

B) A±Yoa ZJar B©) ‘hm^moO





Total No. of Questions : 3]

[Total No. of Pages : 2

[5961]-465
S.Y. B.A. (Semester - IV)

HISTORY
Skill Enhancement Course

SEC - 2B : Travel Agency & Tour Business
(2019 Pattern) (CBCS) (24178)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates :

1) All the questions are compulsory.
2) Figures to the right indicate full marks.

PA-3794

Q1) Answer the following questions in 200 words (any 1) [10]

a) Explain in detail the types of Hotel accommodation

OR

b) What is mean Traven agency? Explain the History of Travel agency.

Q2) Answer the following questions in 200 words (any 1) [10]

a) Write in detail about the trip or field visit you have mode.

OR

b) What is mean Travel agent? Explain the types of Travel agent.

Q3) Write short notes (Any 1) [5]

a) Tour Operators.

b) Resort Hotel.



SEAT No. :

P.T.O.
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Total No. of Questions : 3]

[5961]-465
S.Y. B.A. (Semester - IV)

HISTORY
Skill Enhancement Course

SEC - 2B : Travel Agency & Tour Business
(2019 Pattern) (CBCS) (24178)

(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) CO{dH$S>rb A§H$ àíZm§Mo EHw$U JwU Xe©{dVmV.

àíZ 1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$³V 1) [10]
A) hm°Q>ob {ZdmgmMo àH$ma g{dñVa ñnï> H$am.

qH$dm

~) àdmgr g§ñWm åhUOo H$m¶? Vo gm§JyZ àdmgr g§ñWoMm B{Vhmg g{dñVa H$am.

àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$³V 1) [10]

A) Vwåhr nm{hboë¶m ghbrMm qH$dm joÌ ôQ>rMm d¥Îmm§V Vw‘À¶m eãXm§V g{dñVa {bhm.

qH$dm

~) àdmgr EO§Q>/àdV©H$ åhUOo H$m¶? Vo gm§JyZ àdmgr EO§Q>/àdV©H$mMo àH$ma ñnï> H$am.

àíZ 3) {Q>nm {bhm. (H$moUVmhr 1) [5]

A) ghb Am¶moOH$ H$Vm©.

~) [agm°Q>© hm°Q>ob.



PA-3794



Q1) Attempt any ONE of the following: [10]

a) Your friend Suraj thinks that travelling by bus is better than travelling
by bike. But you think that travelling by bike is better than travelling
by bus. Write a dialogue showing your agreement & disagreement.

b) Saurav has just returned from Delhi. Shiram wants to know which
places Saurav visited at Delhi. Write a dialogue on the given situation.

Q2) Attempt any ONE of the following: [10]

a) You could not attend you friend's marriage reception. Write a dialogue
of an apology.

b) What is vocabulary building. How will you improve your vocabulary.

Q3) Attempt any ONE of the following: [5]

a) Your locality is facing a problem of water supply. Write a dialogue of
complaint.

b) You have to deliver a speech on "Environmental Day". Write 5 points.



Total No. of Questions : 3]

[Total No. of Pages : 1

[5961]-466
S.Y. B.A.

ENGLISH (Skill Enhancement Course)

SEC -2B : A Certificate Course in Skill Development
(2019 Pattern) (Semester - IV) (CBCS) (24334)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-3795

SEAT No. :



Total No. of Questions : 3]

[Total No. of Pages : 1

[5961]-467
S.Y. B.A.

qhXr (HINDI)
MIL - 2 : qhXr ̂ mfm {ejU (Hindi Bhasha Shikshan)

nmR²>¶nwñVH$ - qhXr ̂ mfm {ejU - g§nmXH$ : àmo. S>m°. gXmZ§X ̂ mogbo
(2019 Pattern) (Semester - IV) (24012)

doi : 2 K§Q>o]                      [nyUmªH$ : 25
gyMZmE± : 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa Ho$ A§H$ àíZ Ho$ nyUmªH$ h¡&

PA-3796

àíZ 1) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) dm³¶ H$s n[a^mfm XoVo hþE, dm³¶ Ho$ Ad¶dm| H$mo ñnï> H$s{OE&
~) {‘l dm³¶ H$s n[a^mfm XoVo hþE, A{lV Cndm³¶ Ho$ àH$mam| H$mo ñnï> H$s{OE&
H$) g§¶w³V dm³¶ H$s n[a^mfm XoVo hþE, g§¶w³V dm³¶m| Ho$ g‘mZm{YH$aU Cndm³¶m| Ho$ g§~§Ym|

H$mo ñnï> H$s{OE&
S>) AW© Ho$ AZwgma dm³¶m| Ho$ ôXm| H$mo ñnï> H$s{OE&

àíZ 2) {ZåZ{b{IV àíZm| ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) JmonmbXmg g³goZm "ZraO' H$m n[aM¶ Xr{OE&
~) "AmX‘r hÿ± AmX‘r go ß¶ma H$aVm hÿ±' JrV ‘| ZraO ñd¶§ H$mo AnamYr ³¶mo§ ‘mZVo h¢?
H$) "’y$bm| Ho$ a§J go, {Xb H$s H$b‘ go' JrV ‘§o ào‘r ~ma-~ma OZ‘ ³¶m|o boZm MmhVm h¡?
S>) "OrdZ H$s ~{J¶m ‘hHo$Jr, bhHo$Jr, MhHo$Jr' JrV ‘| ào‘r Am¡a ào{‘H$m Zo ‘Ywa OrdZ H$s

H$ënZm {H$g àH$ma H$s h¡?

àíZ 3) {ZåZ{b{IV àíZm| ‘| go {H$gr EH$ àíZ H$m CÎma {b{IE& [5]
A) {H«$¶m {deofU Cndm³¶ Ho$ àH$mam| H$mo ñnï> H$s{OE&
~) "O¡go amYm Zo ‘mbm Onr í¶m‘ H$s' JrV ‘| ào{‘H$m {à¶V‘ H$mo {H$g àH$ma nmZm MmhVr h¡?



SEAT No. :
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S.Y.B.A (Semester - IV)

URDU 
24013:MIL-2-MAKING SENTENCES & GRAMMAR   

 (2019 Pattern) 

PA-3797

Total No. of Questions : 4

[Time :2 HoursTotal Marks : 25]

P.T.O.

 N.B: 1) Attempt All Questions.

2) Figuers to the left indicate full marks.s

5-  :1 
 (1     

 (2          

  (3          

   (4           

 (5         

 (6         

 (7         

  2 
 ______  (1


 ______  (2


 ______  (3



[5]

SEAT No.

Total No. of Pages : 2

[5]



 ______  (4


 ______  (5


  3 
 (1

 (2           

 (3           

 (4          

 (5          

 :3 
 (2  (1

 (4  (3

 (5

  4 
 (5  (4  (3  (2  (1

 4 
1)   India is a democratic Country.

2)   Allama Iqbal was a great poet and Philosopher of Hi era.

3)  Maulana Abdul kalam Azad is the first Education Minister of

      independent India.

4)   Harry Porter became popular all over the world.

               
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Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-469
S.Y. B.A.

HISTORY OF CIVILISATION
CC-1D : Cultural History of Maharashtra and Heritage

(Maratha Period)
(2019 Pattern) (Semester - IV) (24253)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3798

Q1) Answer the following questions in 300 words (any one) : [15]

a) Write detailed information about the origin and development of Marathi
language.

OR

b) Discuss religious life in the medieval period.

Q2) Answer the following question in 300 words (any one) : [15]

a) Discuss the life of women during the Maratha period.

OR

b) Write information about Festivals and Celebration of Maratha period.

Q3) Answer the following question in 200 words. (any two) [20]

a) Explain the concept of Maharashtra Dharma.

b) Explain the concepts of Quarter and Sardeshmukhi.

c) Write information about Balutedari system during Maratha period.

d) Give information about lavani dance form.

SEAT No. :

P.T.O.
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Q4) Write a Short Notes. (any four) [20]
a) Two reasons for the rise of Marathi power.
b) Swarajya.
c) Trade centers during the Maratha period
d) Above
e) Fortress
f) Powada


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Total No. of Questions : 4]

[5961]-469
S.Y. B.A.

HISTORY OF CIVILISATION
CC-1D : Cultural History of Maharashtra and Heritage

(Maratha Period)
(2019 Pattern) (Semester - IV) (24253)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo JwU Xe©{dVmV.

PA-3798

àíZ 1) Imbrb àíZmMo 300 eãXm§V CÎma X¶m. (H$moUVohr EH$) [15]

A) ‘amR>r ^mfoMm CJ‘ d {dH$mg ¶mda g{dñVa ‘m{hVr {bhm.

qH$dm

~) ‘Ü¶¶wJrZ H$mimVrb Ym{‘©H$ OrdZm{df¶r MMm© H$am.

àíZ 2) Imbrb àíZmMo 300 eãXm§V CÎma X¶m. (H$moUVohr EH$) [15]

A) ‘amR>mH$mbrZ ñÌr OrdZm{df¶rMo {ddoMZ H$am.

qH$dm

~) ‘amR>mH$mbrZ gU d CËgdm {df¶r ‘m{hVr {bhm.

àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) ‘hmamï´> Y‘© hr g§H$ënZm ñnï> H$am.

~) Mm¡WmQ>© d gaXoe‘wIr ¶m g§H$ënZm ñnï> H$am.

H$) ‘amR>mH$mbrZ ~bwVoXmar nÕVr{df¶r ‘m{hVr {bhm.

S>) bmdUr ¶m Z¥Ë¶àH$mam {df¶r ‘m{hVr {bhm.

P.T.O.
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àíZ 4) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) ‘amR>r gÎmoÀ¶m CX¶mMr XmoZ H$maUo

~) ñdamÁ¶

H$) ‘amR>mH$mbrZ ì¶mnmar H|$Ðo

S>) Cnar

B) JT>r

’$) nmodmS>m





Q1) Answer any Three of the following questions in 50 words : [15]
a) Explain symmetry as relation.

b) What is an individual constant?

c) Describe Existential proposition.

d) What is propositional function?

e) State nontransitive relation.

Q2) Write short notes on any Three of the following in 50 words : [15]
a) Singular propositions.

b) Universal quantifier.

c) Symbolize the following relational propositions. (Any five) :

i) Shirur is between Pune and Ahmednagar. (Bxyz, s, p, a)

ii) Meena is older than Rakhi. (Ozy, m, r)

iii) Rajesh like books more than film. (Lxyz, r, b, f)

iv) Mother loves with her daughter. (Lxy, m, d)

v) Mango is more tasty than apples. (Txy, m, a)

vi) Something attracts something. (Axy, x attracts y)

vii) John loves Mary. (Lxy, J, M)

d) Instantiation.

e) Nonreflexive relations.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-470
S.Y. B.A.
LOGIC

Logic and Principles of Reasoning
CC-2D : Quantification and Relational Logic

(2019 Pattern) (Semester - IV) (24424)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3799

SEAT No. :
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Q3) Answer Two of the following questions in 200 words : [20]

a) Explain preliminary quantificational rules of Universal Instantiation
[UI] and Existential Instantiation [EI].

b) Symbolize the following propositions. (Any five) :

i) All books are readable. (Bx. Rx)

ii) No women are men. (Wx, Mx)

iii) Some trees are green. (Tx, Gx)

iv) Some workers are not active. (Wx, Ax)

v) Students are healthy. (Sx, Hx)

vi) Not a single pencil is eraser. (Px, Ex)

vii) Snakes are not poisonous. (Sx, Px)

c) Describe nature of direct proof with example.

Q4) Answer any One of the following questions in 400 words : [20]

a) What is relational logic? Explain transitive and intransitive relations.

b) What is quantification? Explain preliminary quantificational rules of
Universal Generalization [UG] and Existential Generalization [EG].





Total No. of Questions: 4]

[5961]-470
S.Y. B.A.
LOGIC

Logic and Principles of Reasoning
CC-2D : Quantification and Relational Logic

(2019 Pattern) (Semester - IV) (24424)
(_amR>r ê$nm§Va)

doi :  2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3799

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 50 eãXmV {bhm … [15]

A) g__mÌVm g§~§Y ñnï> H$am.

~) ì`ŠVr Ma åhUOo H$m`?

H$) A§edmMr {dYmZ ñnï> H$am.

S>) {dYmZ \$bZ åhUOo H$m`?

B) {df_ àdm{hÎmVm g§~§Y ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZ Q>rnm 50 eãXmV {bhm … [15]

A) EH$dmMr {dYmZ.

~) gd©dmMr g§»`rH$maH$.

H$) Imbrb g§~§YdmMr {dYmZmMo MrÝhm§H$U H$am.

i) {eê$a ho nwUo Am{U Ah_XZJa `m§Mo_Ü ò Amho. (Bxyz, s, p, a)

ii) _rZm {hamIrnojm _moR>r Amho. (Ozy, m, r)

iii) amOoebm nwñVH$m§nojm {MÌnQ> OmñV AmdS>Vmo. (Lxyz, r, b, f)

iv) AmB© {VÀ`m _wbrda OmñV ào_ H$aVo. (Lxy, m, d)

3 P.T.O.
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v) Am§~m g\$aM§Xmnojm MdXma Amho. (Txy, m, a)

vi) H$mhrVar H$í`mbmVar AmH${f©V H$aVo. (Axy, x attracts y)

vii) Om°ZMo _oarda ào_ Amho. (Lxy, J, M)

S>) CXmhaUrH$aU

B) AnamdVuVVm

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎma 200 eãXmV {bhm … [20]

A) g§»`rH$aUmMo àmW{_H$ gmd©{ÌH$ CXmhaUrH$aU [UI] d A§edmMr CXmhaUrH$aU [EI]
{Z`_ ñnï> H$am.

~) Imbrb g§»`rH$maH$s` {dYmZmMo MrÝhm§H$U H$am (H$moUVohr nmM) …

i) gd© nwñVHo$ dmMZr` AmhoV. (Bx. Rx)

ii) EH$hr ór nwéf Zmhr. (Wx, Mx)

iii) H$mhr PmS>o {hadr AmhoV. (Tx, Gx)

iv) H$mhr H$m_Jma g{H«$` ZmhrV. (Wx, Ax)

v) {dÚmWu {ZamoJr AgVmV. (Sx, Hx)

vi) EH$hr nopÝgb ImoS> a~a Zmhr. (Px, Ex)

vii) gmn {dfmar ZgVmV. (Sx, Px)

H$) CXmhaUmgh àË`j {gÕVoMo ñdê$n dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma 400 eãXmV {bhm … [20]

A) g§~§YdmMr VH©$emó åhUOo H$m` gm§JyZ Ë`mMo àH$ma åhUyZ àdmhrVVm, A-àdmhrVVm d
ñnï> H$am.

~) g§»`rH$aU åhUOo H$m`? g§»`rH$aUmMo àmW{_H$ gmd©{ÌH$ gm_mÝ`rH$aU [UG] d
A§edmMr g_mÝ`rH$aU [EG] {Z`_ {deX H$am.





Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-471
S.Y. B.A. (Semester - IV)

PHILOSOPHY (General - II)
CC - 1D : Introduction to Applied Ethics

(2019 Pattern) (CBCS) (Regular) (24423)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3800

Q1) Answer the questions in 50 words (Any Three) : [15]

a) Explain the concept of applied ethics.

b) Describe the need of Environmental Ethics.

c) Explain the concept of Inter - Cast marriage.

d) State the Hippocratic Oath.

e) Explain in short’ “Marriage is cultural ceremony” in India.

Q2) Answer the questions in 200 words (Any Three) : [15]

a) Explain the nature of Environmental ethics.

b) Discuss the principle of beneficence as a principle of Medical Ethics.

c) Explain the types of marriage in Hinduism.

d) Discuss about the preservation of animals.

e) Write about responsibility of the media during pandemic.

SEAT No. :

P.T.O.
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Q3) Write Short notes on any two in 200 words each. [20]

a) Special Marriage act.

b) Social moral impact of Pandemic.

c) Animal rights.

Q4) Answer any one of the following questions in 400 words. [20]

a) State fully the nature of ‘Indian health care system’.

b) Explain shortly about marriage and status of women according Simone
de Beauvoir.


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Total No. of Questions : 4]

[5961]-471
S.Y. B.A. (Semester - IV)

VËdkmZ (General - II)
CC - 1D : Cn`mo{OV {ZVremñÌmMr AmoiI

(2019 Pattern) (CBCS) (Regular) (24423)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3800

àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. [15]

A) Cn`mo{OV Zr{VemñÌmMr g§H$ënZm ñnï> H$am.

~) n`m©daUmÀ`m Zr{VemñÌmMr JaO dU©Z H$am.

H$) Am§VaOmVr` {ddmh g§H$ënZm ñnï> H$am.

S>) {hßnmoH«o${Q>H$Mr enW gm§Jm.

B) "^maVmV {ddmh hm EH$ g§ñH¥${VH$ gmohim AgVmo'. WmoS>Š`mV ñnï> H$am?

àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. [15]

A) n`m©daUr` Zr{VemñÌmMo ñdê$n ñnï> H$am.

~) d¡ÚH$s` Zr{VemñÌmMo VÎd åhUyZ "namonH$ma' `m VÎdmMr MMm© H$am.

H$) qhXÿ Y_m©Vrb {ddmhmMo àH$ma gm§Jm.

S>) àmÊ`m§À`m g§JmonZmg§~§Yr MMm© H$am.

B) gmWrÀ`m amoJmÀ`m doir _mÜ`_mMr ŷ{_H$m `mda WmoS>Š`mV {bhm.

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZda 200 eãXm§V g§{já {Q>nm {bhm. [20]

A) {ddmh {df`H$ {deof H$m`Xm

~) _hm_marMm g_m{OH$ Z¡{VH$ à^md

H$) àmÊ`m§Mo hŠH$

àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]

A) "^maVr` Amamo½` godm àUmbrMo' ñdê$n g{dñVa gm§Jm.

~) {g_m± X ~modydm±À`m Ñï>rH$moUmVyZ {ddmh d ñÌr`m§Mo ñWmZ WmoS>Š`mV ñnï> H$am.





Q1) Answer in 20 words each (Any five) : [10]

a) What is active sensors?

b) Define Remote Sensing.

c) Write the full form of NRSC.

d) What are the components of remote sensing?

e) Write two uses of image enhancement.

f) List out the applications of remote sensing.

g) What is tone?

Q2) Write short notes in about 100 words (Any two) : [8]

a) Visual image interpretation.

b) Unsuperwised Classification.

c) Layer stacking.

Total No. of Questions : 3]

[Total No. of Pages : 4

[5961]-472
S.Y. B.A.

GEOGRAPHY
SEC 2B : Introduction to Remote Sensing

(2019 Pattern) (CBCS) (Semester - IV) (24206)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Use of map stencil is allowed.

PA-3801

P.T.O.

SEAT No. :
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Q3) Write the answer of questions in 150 words (Any one) : [7]

a) Write detailed information on interpretation of satellite images.

b) Explain electromagnetic spectrum.





Total No. of Questions : 3]

[5961]-472
S.Y. B.A.

GEOGRAPHY
SEC 2B : Introduction to Remote Sensing

(2019 Pattern) (CBCS) (Semester - IV) (24206)
(_amR>r ê$nm§Va)

doi : 2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

3) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.

4) ZH$mem ñQ>oÝgrb dmnaÊ`mg nadmUJr Amho.

5) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

PA-3801

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr nmM) [10]

A) gH«$s` g§doXH$ åhUOo H$m`?

~) gwXÿa g§doXZ ì`m»`m {bhm.

H$) EZ.Ama.Eg.gr (NRSC) Mo nyU© ê$n [bhm.

S>) gwXÿa g§doXZmMo KQ>H$ H$moUVo?

B) à{V_m dY©ZmMo XmoZ Cn`moJ {bhm.

\$) gwXÿa g§doXZ Cn`moOZm§Mr `mXr H$am.

`) Q>moZ åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 2) àË òH$s 100 eãXm§V {Q>nm {bhm. (H$moUVohr XmoZ) [8]

A) Ñî` à{V_m dU©Z

~) An ©̀do{jV dJuH$aU

H$) Wam§Mo EH$ÌrH$aU (Layer Stacking)

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 150 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [7]

A) CnJ«h à{V_m§Mo {díbofZ (Interpretation) `mda g{dñVa _mhrVr {bhm.

~) {dÚwV M§w~H$s` dU©nQ> {deX H$am.





Q1) Answer the following questions in 100 words each (any four) : [20]

a) Write the assumptions and goals of positive psychology.

b) Write relationship between clinical psychology and positive psychology.

c) Explain the relationship between gender and happiness.

d) Explain relationship between positive affect and meaningfull - life.

e) Describe the social health resources.

f) State the meaning of contours of positive life.

Q2) Answer the following questions in 200 words each (any two) : [20]

a) What is positive psychology? Explain the importance of positive
emotions by the Nun study.

b) Describe the psychological health resources.

c) Explain meaning and basic concept of Logo therapy.

d) Discuss on materialism and discontents.

Q3) Answer the following questions in 400 words (any one) : [20]

a) What is happiness? Write in details the two tradition of happiness.

b) What is resilience? Explain the perspectives of resilience.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-473
S.Y. B.A.

SEC-1B : POSITIVE PSYCHOLOGY
(2019 Pattern) (Semester - IV) (24223)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4245

SEAT No. :

P.T.O.
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Q4) Write short notes (any two) : [10]

a) The disease model.

b) Health psychology and positive psychology.

c) Human virtues.

d) Mindfulness.





Total No. of Questions : 4]

[5961]-473
S.Y. B.A.

SEC-1B : gH$mamË_H$ _mZgemó
(2019 Pattern) (Semester - IV) (24223)

(_amR>r ê$nm§Va)
doi :  2½ Vmg     ] [ EHy$U JwU : 70

gyMZm :

1) gd© àíZ Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4245

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 100 eãXm§V> CÎmao {bhm (H$moUVohr Mma) … [20]

A) gH$mamË_H$ _mZgemómMo J¥hrVH$ Am{U Ü ò̀ o {bhm.

~) {M{H$Ëgm _mZgemó Am{U gH$mamË_H$ _mZgemó `mVrb g§~§Y {bhm.

H$) qbJ Am{U AmZ§X `mVrb g§~§Y {bhm.

S>) gH$mamË_H$ ^mdZm Am{U AW©nyU© OrdZ `mVrb g§~§Y ñnï> H$am.

B) gm_m{OH$ Amamo½` gmYZm§Mo dU©Z H$am.

\$) gH$mamË_H$ OrdZmÀ`m énaofm§Mm AW© {bhm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mo 200 eãXm§V CÎmao {bhm (H$moUVohr XmoZ) … [20]

A) gH$mamË_H$ _mZgemó åhUOo H$m`? Zg© Aä`mgmVrb ^mdZoMo _hÎd ñnï> H$am.

~) _mZ{gH$ Amamo½` gmYZm§Mo dU©Z H$am.

H$) bmoJmo WoanrMm AW© Am{U _yb ŷV g§H$ënZm ñnï> H$am.

S>) ^m¡{VH$dmX Am{U Ë`mVrb Ag§Vwï>Vm `mda MMm© H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mo 400 eãXmV CÎma {bhm (H$moUVmhr EH$) … [20]

A) AmZ§X åhUOo H$m`? AmZ§XmÀ`m XmoZ na§nam g{dñVa {bhm.

~) pñWVr ñWmnH$Ëd åhUOo H$m`? pñWVr ñWmnH$ËdmMo Ñï>rH$moZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUVohr XmoZ) … [10]

A) {dH$ma àmén

~) Amamo½` _mZgemó Am{U gH$mamË_H$ _mZgemó

H$) _mZ{d gX²JwU

S>) _ZgOJVm / ^mZmdñWm





Q1) Write answer of the questions about 20 words each (Any Eight) : [16]

a) Write any two major crops in maharashtra.

b) Write the names any two sugarcane producing district in maharashtra.

c) Write any two natural problems of agriculture in maharashtra.

d) What is rural-urban migration?

e) Write the formula for calculating the sex-ratio?

f) Which are ideal villages in Ahmednagar district?

g) State any two schemes for rural development.

h) Write the names of villages developed by Shri. Bhaskarrao Pere and
Popatrao Pawar?

i) Write the any two places with accommodation of Maharashtra Tourism
Development Corporation.

j) Write any two hill stations in maharashtra.

Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-474
S.Y. B.A.

GEOGRAPHY
Gg-210 (B) : DSE-1B : Geography of Maharashtra - II

(2019 Pattern) (CBCS) (Semester - IV) (24201)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of map stencils is allowed.
4) Draw neat diagrams wherever necessary.

PA-3803

P.T.O.
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Q2) Write Short Notes in about 50 words (Any three) : [18]

a) State the favourable geographical conditions for pomegranate crop.

b) Linear and square settlement pattern.

c) Maharashtra Tourism Development Corporation.

d) Rural Development Schemes.

Q3) Write the answers of questions in 100 words each (Any two) : [16]

a) Explain the problems of urban settlement.

b) Explain various schemes implemented by Hivrebazar villages.

c) Write detailed information of sugarcane in maharashtra based on the
following points

i) Climate

ii) Soil

iii) Major varities of sugarcane

iv) Sugarcane growing region

Q4) Write the answer of the questions in 300 words (Any one) : [20]

a) Explain various problems of agriculture in maharashtra.

b) Write detailed information about tourism development in maharashtra.





Total No. of Questions : 4]

[5961]-474
S.Y. B.A.

GEOGRAPHY
Gg-210 (B) : DSE-1B : Geography of Maharashtra - II

(2019 Pattern) (CBCS) (Semester - IV) (24201)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo A{Zdm ©̀ AmhoV.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

3) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.

4) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.

5) g§X^m©gmR>r _wi  B§J«Or àíZn{ÌH$m nhmdr.

PA-3803

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXm§V CÎmao {bhm (H$moUVohr AmR>) … [16]

A) _hmamï´>mVrb H$moUVohr XmoZ _w»` {nHo$ {bhm.

~) _hmamï´>mVrb Cg CËnmXZ H$aUmè`m H$moUË`mhr XmoZ {Oëhm§Mr Zmdo {bhm.

H$) _hmamï´>mVrb eoVrÀ`m H$moUË`mhr XmoZ Z¡g{J©H$ g_ñ`m {bhm.

S>) J«m_rU-ehar ñWbm§Va åhUOo H$m`?

B) qbJ JwUmoÎma H$mT>Ê`mMo gwÌ {bhm.

\$) Ah_XZJa {OëhmVrb AmXe© Jmdo H$moUVr AmhoV.

`) J«m_rU {dH$mgmÀ`m H$moUË`mhr XmoZ `moOZm {bhm.

a) lr ^mñH$aamd noao d nmonQ>amd ndma `m§Zr {dH$grV Ho$boë`m Jmdm§Mr Zmdo {bhm.

b) _hmamï´> n ©̀Q>Z {dH$mg _hm_§S>imMr {Zdmg ì`dñWm Agbobr XmoZ {R>H$mUm§Mr Zmdo {bhm.

d) _hmamï´>mVrb H$moUVohr XmoZ W§S> hdoMr {R>H$mUo gm§Jm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) àË òH$s 50 eãXmV {Q>nm {bhm (H$moUVohr 3) [18]

A) S>mqi~ {nH$mgmR>r AZwHw$b ^m¡Jmo{bH$ n[apñWVr

~) aofmH¥$Vr d Mm¡agmH¥$Vr dgmhV AmH¥$Vr~§Y

H$) _hmamï´> n ©̀Q>Z {dH$mg _hm_§S>i

S>) J«m_rU {dH$mgmÀ`m `moOZm

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXmV CÎmao {bhm (H$moUVohr XmoZ) … [16]

A) ehar dgmhVrÀ`m g_ñ`m ñnï> H$am.

~) {hdEo ~mOma JmdmZo am~{dboë`m {d{dY `moOZm ñnï> H$am.

H$) _hmamï´>mVrb Cg {nH$m§Mr g{dñVa _mhrVr Imbrb _wÔ`m§À`m AmYmao {bhm.

i) hdm_mZ

ii) _¥Xm

iii) CgmÀ`m à_wI OmVr

iv) Cg CËnmXH$ àXoe

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË òH$s 300 eãXmV CÎmao {bhm (H$moUVohr EH$) … [20]

A) _hmamï´>mVrb eoVrÀ`m {d{dY g_ñ`m g{dñVa ñnï> H$am.

~) _hmamï´>mVrb n ©̀Q>Z {dH$mgm~Ôb g{dñVa _mhrVr {bhm.





[5961]-475
S.Y.B.A (Semester - IV)

URDU 
24073 CC- 1D  Modern Prose & Poetry  

 (2019 Pattern) (CBCS)

PA-3804

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

P.T.O.

   

 (1
 (2

 :1 




  2 




 3 


 

[12]

SEAT No.

Total No. of Pages : 2

[12]

[12]



   4 
 

  
 

 5 
 (1    

 (2       

 (3

  (4

  (5

  (6

   (7          

 (8         

  (9          

   (10         



[10]

- 2 - [5961]-475
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[14]



àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE & [21]

A) à~§Y H$mì` H$m n[aM` Xr{OE &

~) I§S> H$mì` H$m ñdê$n ñnï> H$s{OE &

H$) Jr{VH$mì` H$m n[aM` Xr{OE &

S>) _hmH$mì` H$m g§jon _| n[aM` Xr{OE &

B) JX²`H$mì` Ho$ ñdê$n na àH$me S>m{bE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE & [21]

A) CnÝ`mg {dÚm H$m n[aM` Xr{OE &

~) H$hmZr Ho$ VËdm§o H$m n[aM` Xr{OE &

H$) {Z~§Y {dÚm na àH$me S>m{bE &

S>) H$hmZr Am¡a CnÝ`mg _| Š`m A§Va h¡?

B) CnÝ`mg H$s n[a^mfm XoVo hþE CgHo$ ñdê$n na àH$me S>m{bE &

P.T.O.

Total No. of Questions : 4]

[Total No. of Pages : 3

[5961]-476
S.Y. B.A.

{hÝXr (HINDI)

DSE-1B (S - 1) : gm{hË` Ho$ ^oX
(2019 Pattern) (CBCS) (Semester - IV) (24091)

g_` : 2½ K§Q>o ] [ nyUmªH$ : 70
gyMZmE± :

1) g^r àíZ A{Zdm ©̀ h¢ &

2) Xm{hZr Amoa àíZ Ho$ nyUmªH$ h¢ &

PA-3805

SEAT No. :
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àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE & [21]

A) ZmQ>H$ {dÚm H$m gm_mÝ` n[aM` Xr{OE &

~) ao{S>`mo ZmQ>H$ H$m ñdê$n ñnï> H$s{OE &

H$) XÿaXe©Z ZmQ>H$ Am¡a a§J_§Mr` ZmQ>H$ _| Š`m A§Va h¡?

S>) EH$m§H$s ZmQ>H$ Ho$ VËd {b{IE &

B) ZmQ>H$ H$s n[a^mfm XoVo hþE CgHo$ ñdê$n na àH$me S>m{bE &

àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| H$m ghr {dH$ën MwZH$a {b{IE & [7]

1) {ZåZ{b{IV _| go H$m¡Z-gm H$mì` gJ©~Õ hmoVm h¡ &

A) _wº$H$ H$mì` ~) I§S> H$mì`

H$) JX²̀  H$mì` S>) ZmQ>` H$mì`

2) _hmH$mì` _| A{YH$ go A{YH$ {H$VZo gJ© hmoVo h¢ &

A) 12 ~) 15

H$) 24 S>) 30

3) "{Z~§Y JX` H$s H$gm¡Q>r h¡' {H$gH$m H$WZ h¡?

A) ào_M§X ~) hOmar àgmX {×doXr

H$) am_M§Ð ewŠb S>) O`e§H$a àgmX

4) {ZåZ{b{IV _| go H$hmZr H$m VËd Zht h¡ -

A) H$WmdñVw ~) nmÌ

H$) g§dmX S>) g§JrV

5) {ZåZ{b{IV _| go lì`ZmQ>H$ {dÚm h¡ -

A) XÿaXe©Z ~) ao{S>`mo

H$) a§J_§Mr` S>) Zw¸$S>
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6) a§J_§Mr` ZmQ>H$ H$m à_wI VËd H$m¡Z-gm h¡?

A) Üd{Z ~) àH$me

H$) g§dmX S>) A{^Z`

7) EH$m§H$s ZmQ>H$ _| {H$VZo A§H$ hmoVo h¢?

A) 3 ~) 4

H$) 1 S>) 15





Total No. of Questions : 4]

[Total No. of Pages : 4

[5961]-477
S.Y. B.A.

HISTORY
DSE - 1B (3) S1  - MEDIEVAL INDIA : MUGHAL PERIOD

(2019 Pattern) (Semester - IV) (24171)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3806

Q1) Answer the following questions in 300 words (any one) : [15]

a) Evaluate the role played by Babur as the founder of Mughal Empire.

OR

b) Explain Akbar’s contribution to the expansion of the Mughal Empire.

Q2) Answer the following questions in 300 words (any one) : [15]

a) Write in details about central and provincial Administration during Mughal
period.

OR

b) Discuss about the trade and industry during Mughal period.

Q3) Answer the following questions in 200 words. (any two) [20]

a) State the causes of the first battle of Panipat.

b) Explain the religious policy of Emperor Akbar.

c) Write information about judicial system during Mughal Period.

d) Describe the position of women during Mughal Period.

SEAT No. :

P.T.O.
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Q4) Short Notes. (any four) [20]
a) Babarnama
b) Battle of Khanwa
c) Mansabdari system
d) Raja Todarmal
e) Mirbakshi
f) Science and Technology


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Total No. of Questions : 4]

[5961]-477
S.Y. B.A.

HISTORY
DSE - 1B (3) S1  - MEDIEVAL INDIA : MUGHAL PERIOD

(2019 Pattern) (Semester - IV) (24171)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.

PA-3806

àíZ 1) Imbrb àíZmMo 300 eãXm§V CÎma X¶m. (H$moUVmhr EH$) [15]

A) ‘wKb gm‘«mÁ¶mMm g§ñWmnH$ ¶m ZmË¶mZo ~m~aÀ¶m H$m‘{JarMo ‘yë¶‘mnZ H$am.

qH$dm

~) ‘moJb gÎmoÀ¶m gm‘«mÁ¶{dñVmam‘Ü¶o AH$~amMo ¶moJXmZ ñnï> H$am.

àíZ 2) Imbrb àíZmMo 300 eãXm§V CÎma X¶m. (H$moUVmhr EH$) [15]

A) ‘wKbH$mbrZ H|${Ð¶ Am{U àm§{VH$ àemgZì¶dñWoMr g{dñVanUo ‘m{hVr {bhm.

qH$dm

~) ‘moJbH$mbrZ ì¶mnma d CX²¶moJY§X¶m§{df¶r MMm© H$am.

àíZ 3) Imbrb àíZm§Mr 200 eãXm§V CÎmao X¶m. (H$moUVohr XmoZ) [20]

A) nm{ZnVÀ¶m n{hë¶m bT>mB©Mr H$maUo gm§Jm.

~) g‘«mQ> AH$~amMo Ym{‘©H$ YmoaU ñnï> H$am.

H$) ‘wKb H$mimVrb Ý¶m¶ì¶dñWoMr ‘m{hVr {bhm.

S>) ‘wKbH$mbrZ {ó¶m§Mr pñWVr dU©Z H$am.

P.T.O.
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àíZ 4) Q>rn {bhm. (H$moUVohr Mma) [20]

A) ~m~aZm‘m

~) ImZdmMr bT>mB©

H$) ‘Zg~Xmar

S>) amOm VmoS>a‘b

B) ‘ra~jr

’$) {dkmZ d V§ÌkmZ





Total No. of Questions : 3]

[Total No. of Pages : 2

[5961]-478
S.Y. B.A.

HISTORY
SEC - 2B - MEDIEVAL INDIAN ARTS & ARCHITECTURE

(2019 Pattern) (Semester - IV) (CBCS) (24176)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3807

Q1) Answer any one of the following in 200 words : [10]

a) With the help of examples, write about the architecture of the sultanate
period, with special referance to Arches and Domes.

OR

b) Write a review of the architecture of the vijaynagar Empire.

Q2) Answer any one of the following in 200 words : [10]

a) Write a note on the features of Mughal paintings.

OR

b) With the help of examples write a detailed note on the architecture of the
reign of Shahjahan.

Q3) Write a short note on anyone. [5]

a) Features of the Daulatabad fort.

b) Jama Masjid.



SEAT No. :

P.T.O.
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Total No. of Questions : 3]

[5961]-478
S.Y. B.A.

HISTORY
SEC - 2B - MEDIEVAL INDIAN ARTS & ARCHITECTURE

‘Ü¶¶wJrZ ^maVr¶ H$bm Am{U dmñVwH$bm
(2019 Pattern) (Semester - IV) (CBCS) (24176)

(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) gd© àíZ gmoS>{dUo A{Zdm¶©.

2) COdrH$S>rb AmH$S>o JwU Xe©dVmV.

PA-3807

àíZ 1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo 200 eãXm§V CÎma {bhm. [10]

A) gwbVmZemhrÀ¶m H$mimVrb dmñVwH$boVrb H$‘mZr Am{U Kw‘Q> ¶m§Mm Cn¶moJ H$moU H$moUË¶m
dmñVwV Ho$bm Amho Vo CXmhaU XodyZ ñnï> H$am.

qH$dm

~) {dO¶ZJaÀ¶m gm‘«mÁ¶mVrb dmñVwH$boMm AmT>mdm ¿¶m.

àíZ 2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo 200 eãXm§V CÎmao {bhm. [10]

A) ‘wKb {MÌH$boMr d¡{eï>o {bhm.

qH$dm

~) ehmOhmZÀ¶m H$mimVrb dmñVwH$boMr gmoXmhaUmgh d¡{eï>¶o {bhm.

àíZ 3) {Q>nm {bhm. (H$moUVrhr EH$) [5]

A) Xm¡bVm~mX {H$ë¶mMr d¡{eï>o.

~) Om‘m ‘pñOX.





Q1) Answer in 20 words each (any five) : [10]

a) Define the concept of 'Tourist'.

b) What is mean by 'Adventure Tourism'?

c) Write any two names of 'Hill stations' in Maharashtra?

d) What is local tourism?

e) What is mean by 'Communication'?

f) Write any two types of accommodation used by tourists?

g) What is 'Tourist guide'?

Q2) Write a short notes in 100 words (any two) : [8]

a) Road Transport and tourism.

b) Religious tourism.

c) Safety of tourists

Total No. of Questions : 3]

[Total No. of Pages : 4

[5961]-479
S.Y. B.A.

GEOGRAPHY
SEC-2B : Applied Course of Travel and Tourism
(2019 Pattern) (CBCS) (Semester - IV) (24207)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of stencil is allowed.
4) Draw neat diagrams wherever necessary.

PA-3808

SEAT No. :

P.T.O.
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Q3) Answer in 150 words each (any one) : [7]

a) Explain the types of tourism based on the distance?

b) Explain the role of historical factors in local tourism?





Total No. of Questions : 3]

[5961]-479
S.Y. B.A.

GEOGRAPHY
SEC-2B : Applied Course of Travel and Tourism
(2019 Pattern) (CBCS) (Semester - IV) (24207)

(_amR>r ê$nm§Va)
doi :  2 Vmg     ] [ EHy$U JwU : 25
gyMZm :

1) gd© àíZ gmoS>{dUo A{Zdm ©̀ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.
4) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
5) g§X^m©gmR>r _yi B§J«Or àíZ n{ÌH$m nhmdr.

PA-3808

àíZ àíZ àíZ àíZ àíZ 1) àË òH$s 20 eãXm§V CÎmao {bhm (H$moUVohr nmM) … [10]

A) "n ©̀Q>H$' `m g§H$ënZoMr ì`m»`m {bhm.

~) "gmhg n`©Q>Z' åhUOo H$m`?

H$) _hmamï´>mVrb XmoZ W§S> hdoÀ`m {R>H$mUm§Mr Zmdo {bhm.

S>) "ñWm{ZH$ n ©̀Q>Z' åhUOo H$m`?

B) "XiUdiU' åhUOo H$m`?

\$) n ©̀Q>H$m H$Sy>Z dmnaë`m OmUmè`m {ZdmgñWmZm§Mo XmoZ àH$ma {bhm.

`) "n ©̀Q>H$ _mJ©Xe©H$' (JmB©S>) åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 2) àË òH$s 100 eãXm§V {Q>nm {bhm (H$moUË`mhr XmoZ) … [8]

A) añVo dmhVyH$ d n`©Q>Z

~) Ym{_©H$ n`©Q>Z

H$) n ©̀Q>H$m§Mr gwa{jVVm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) àË òH$s 150 eãXm§V CÎma {bhm. (H$moUVohr EH$) … [7]

A) A§Vamda AmYm[aV n ©̀Q>ZmMo àH$ma ñnï> H$am.

~) ñWm{ZH$ n ©̀Q>ZmV Eo{VhmgrH$ KQ>H$m§Mr ŷ{_H$m ñnï> H$am.





Q1) Answer any three questions of the following: (3 out of 5) [15]

a) Explain the significance of the 'Prologue' in 'The Fire and The Rain'.

b) Discuss the Plot structure of 'The Fire and The Rain'.

c) Draw a character sketch of Raibhya in 'The Fire and The Rain'.

d) Why do priests want to see the performance of a play?

e) What does Nittilai symbolize in the play 'The Fire and The Rain'?

Q2) Answer any three questions of the following: (3 out of 5) [15]

a) What does Arvasu expect from Nittilai?

b) Discuss the importance of 'epilogue' in 'The Fire and the Rain'.

c) Write a short note on the character of Vishaka.

d) Explain the title 'The Fire and the Rain' in your own words.

e) How does the fire sacrifice symbolize power in the play 'The Fire and
The Rain'?

Total No. of Questions : 5]

[Total No. of Pages : 2

[5961]-480
S.Y. B.A.

ENGLISH (Special Paper - I)
DSE -1B : Appreciating Drama

Texts : A)   Arms and The Man : G.B. Shaw
   B)  The Fire and the Rain: Girish Karnad

(2019 Pattern) (Semester - IV) (CBCS) (24331)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks

PA-3809

SEAT No. :

P.T.O.
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Q3) Answer any one question out of the following: (1 out of 2) [10]

a) Comment on the character of Sergius in 'Arms and The Man'.

b) Comment on the plot construction of 'Arms and The Man'.

Q4) Answer any one question out of the following: (1 out of 2) [10]

a) Discuss 'Arms and The Man' as an anti-romantic comedy.

b) Comment on the character of Raina Petkoff in the play Arms and The
Man.

Q5) Answer any four of the following : (4 out of 6) [20]

a) What effect fire sacrifice has on Aravasu?

b) Why does the king select Parvasu as the chief priest for the fire sacrifice?

c) Why does Vishaka Suffer in The Fire and The Rain?

d) Who Kills Nittilai? Why?

e) Why is Vishaka Unwilling to live with Parvasu?

f) What are the two questions Nittilai wants to ask to Yavakri?





Total No. of Questions : 3]

[5961]-481
S.Y.B.A.

MARATHI (‘amR>r)
SEC-2B(2) : Cn¶mo{OV boIZ H$m¡eë¶o

(2019 Pattern) (Semester - IV) (24025)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) gd© àíZm§Zm g‘mZ JwU AmhoV.

PA-3810

à.à.à.à.à.1) Imbrb XmoZ àíZm§n¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

A) Om{hamVrMo g§{hVmboIZ H$go Ho$bo OmVo ñnï> H$am.

qH$dm

~) Om{hamV åhUOo H$m¶ Vo gm§JyZ Om{hamVrMo àH$ma ñnï> H$am.

à.à.à.à.à.2) Imbrb XmoZ àíZm§n¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

A) ‘wbmIV åhUOo H$m¶ Vo gm§JyZ ‘wbmIVrMr nyd© V¶mar H$er Ho$bo OmVo?

qH$dm

~) AmH$medmUr darb ‘wbmIVrMo ñdê$n ñnï> H$am.

à.à.à.à.à.3) Imbrb XmoZ àíZm§n¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [5]

A) kmZH$moem {df¶r ‘m{hVr {bhm.

qH$dm

~) {dœH$moem{df¶r ‘m{hVr {bhm.



[Total No. of Pages : 1

SEAT No. :



Total No. of Questions : 3]

[5961]-482
S.Y. B. A.

POLITICAL SCIENCE
SEC-2B(2) : Basics of Indian Constitution

(2019 CBCS Pattern) (Semester - IV) (24165)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3811 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any one question (200 words) [10]

a) Explain the defects of fundamental duty?

b) Explain the classification of Directive principles of state policy?

Q2) Attempt any one question (200 words) [10]

a) Explain the Fundamental Duties.

b) Explain the scope of Directive principles of state policy.

Q3) Write Short Note (any one) [5]

a) Importance of Fundamental Duties.

b) Economic Directive principles.



P.T.O.
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Total No. of Questions : 3]

[5961]-482
S.Y. B. A.

POLITICAL SCIENCE
SEC-2B(2) : Basics of Indian Constitution

(2019 CBCS Pattern) (Semester - IV) (24165)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3811

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) ‘yb^yV H$V©ì¶m§Mo Xmof ñnï> H$am?

~) amÁ¶mÀ¶m YmoaUmÀ¶m ‘mJ©Xe©H$ VËdm§Mo dJuH$aU H$am?

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) ‘yb^yV H$V©ì¶o ñnï> H$am?

~) amÁ¶ YmoaUmÀ¶m ‘mJ©Xe©H$ VËdm§Mr ì¶mßVr {bhm?

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) ‘yb ŷV H$V©ì¶m§Mo ‘hÎd

~) Am{W©H$ ‘mJ©Xe©H$ VËdo





Total No. of Questions : 4]

[5961]-483
S.Y. B.A.

HISTORY
CC-2D :  History of Marathas (1707 - 1818)

(2019 Pattern) (Semester - IV) (24174)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3812 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 300 words.(Any One) [15]
a) State the causes and effects of Khed war.

OR
b) Discuss the causes and effects of the Third battle of Panipat.

Q2) Answer the following question in 300 words (Any one) [15]
a) Review the second Anglo-Maratha war.

OR
b) Describe in detail the occupation of Peshwa.

Q3) Answer the following questions in 200 words. (Any Two) [20]
a) Explain the merits of Peshwa Bajirao I.
b) Take a look Peshwa Balaji Bajirao’s politics in the North.
c) Discuss the relationship between Peshwa Bajirao II and the British.
d) Explain the merits and demerits of the ‘Maratha Mandal’ idea.

Q4) Short notes (Any Four) [20]
a) Vatandari
b) Battle of Udgir
c) Chandrasen Jadhav
d) Tready of Salabai
e) Trade under the Peshwa period
f) Baluteduri


P.T.O.
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Total No. of Questions : 4]

[5961]-483
S.Y. B.A.

HISTORY
CC-2D :  History of Marathas (1707 - 1818)

(2019 Pattern) (Semester - IV) (24174)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-3812

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXmV CÎma X²¶m. (H$moUVmhr EH$) [15]
A) IoS>À¶m ¶wÕmMr H$maUo d n[aUm‘ gm§Jm.

qH$dm
~) nm{ZnVÀ¶m Vrgè¶m ¶wÕmÀ¶m H$maUm§Mr d n[aUm‘m§Mr MMm© H$am.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXmV CÎma X²¶m. (H$moUVmhr EH$) [15]
A) Xþgè¶m B§J«O-‘amR>m ¶wÕmMm AmT>mdm ¿¶m.

qH$dm
~) noedoH$mbrZ CÚmoJ ì¶dgm¶mMo g{dñVa dU©Z H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr 200 eãXmV CÎmao X²¶m. (H$moUVohr XmoZ) [10]
A) noedm n{hbm ~mOramd ¶m§Mr ¶mo½¶Vm ñnï> H$am.
~) noedm ~mbmOr ~mOramdm§À¶m CÎmaoH$S>rb amOH$maUmMm AmT>mdm ¿¶m.
H$) noedm Xþgao ~mOramd d B§J«O g§~§Ym§Mr MMm© H$am.
S) ‘amR>m ‘§S>imMo JwU-Xmof ñnï> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]
A) dVZXmar
~) CXJraMr bT>mB©
H$) M§ÐgoZ OmYd
S>) gmb~B©Mm Vh
B) noedoH$mbrZ A§JV©J ì¶mnma
’$) ~bwVoXmar





Total No. of Questions : 5]

[5961]-484
S.Y. B.A.

COMPULSORY ENGLISH
Text Book - Panorama

(2019 Pattern) (Semester - IV) (24001)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3813 [Total No. of Pages : 4
SEAT No. :

Q1) a) Answer the following questions in one/two sentences each. (Any six)[6]

i) What was the theme of Swami Vivekananda’s speech in ‘The
Chicago speech?

ii) In the Chicago speech what does the term ‘August assemblies’
mean?

iii) What has drenched the earth with human blood?

iv) What ‘list of drawings’ does Masha refer to in ‘The Lottery Ticket’?

v) What enchanted Masha’s thoughts in ‘The Lottery Ticket’?

vi) Why does Ivan Dimitritch call his relations ‘reptiles’ in ‘The Lottery
Ticket’?

vii) Who is Vera? in ‘The Open Window’?

viii) What does framton know about Mrs. Sappleton?

ix) What questions does Mrs. Sappletion’s husband ask as he comes
in through the window?

b) Attempt the following: (Any two) [14]
i) What were some of the things that Ivan Dimitrich would have liked

to do had his wife won the lottery?

ii) According to Swami Vivekananda, what are the evils that prevent
the advancement of society?

iii) Analyse the character of the fifteen year old, based on her words,
actions, and the author’s words about her.

P.T.O.
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Q2) a) Answer the following questions in one/two sentences each. (Any Six)[6]

i) How does God help the wrens in the poem ‘On Another’s Sorrow’?

ii) What can the poet see in ‘On Another’s Sorrow’?

iii) What qualities of God are mentioned in the poem ‘On Another’s
Sorrow’?

iv) What is Masefield’s advice to the readers in the poem ‘Laugh and
Be Merry’?

v) What does the Phrase ‘Joy of Earth’ mean in the poem ‘Laugh and
Be Merry’?

vi) What is man’s span of life compared to in the poem ‘Laugh & Be
Merry’?

vii) What happened to the ‘Foolish Bubble’ at the end of the poem
‘The Rock and the Bubble’?

viii) What does rock symbolize in ‘The Rock and the Bubble’?

ix) Who is sturdy and strong in the poem ‘The Rock and The Bubble’?

b) Attempt the following questions (Any two) [14]

i) What is the message of the poem “On Another’s Sorrow’?

ii) Write a critical appreciation of the poem ‘The Rock and the Bubble’.

iii) What is the theme of the poem ‘Laugh and Be Merry’?

Q3) a) Add question tags to the following (Any Four) [4]

i) The bus skidded on the wed road.

ii) Make some tea.

iii) Seema looked Pretty in the green dress.

iv) It is quite late.

v) She will have some work.

vi) Kunal cannot play the Violin.
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b) Identify the type of sentence. (simple, complex, compound) (Any three)
[3]

i) He is rich, yet he is unhappy.
ii) The moon is bright.
iii) Oh hearing about his Father’s arrival, Kamal rushed home.
iv) The man who lives next door is my friend’s brother in law.
v) Alka ran all the way, but she was late for college.

c) Change the degree without changing the meaning (Any three) [3]
i) No other city in England is as larger as London. (Change into

superlative)
ii) Lead is heavier than all other metals. (Change into superlative)
iii) He is better than the other players in his team. (Change into

superlative)
iv) Bill Gates is the richest person in the world. (Change into

comparative)
v) Ashoka was one of the greatest kings (Change into Comparitive)

Q4) a) Specify whether the under lined collocation is right or wrong (Any 4)[4]
i) My sister does her homework after dinner.
ii) It is easy to do a mistake.
iii) Please, keep quiet when I am on the phone.
iv) It is good at see you again.
v) He has been asked to give a presentation on cyber crime.
vi) Mary whispered softly in San’s ear.

b) Fill in the blanks with correct phrasal verbs. (Any three) [3]
i) At least, fifty people _______ the job.

(apply for / apply to / apply with)
ii) Burglars _______ the house at midnight.

(break away / break down / break into)
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iii) The gardener ______ gardening inspire of the rain.
(carryout / carry on / carry over)

iv) Nidhi is _______ a bad time in office.
(going through / going about / going into)

v) He has ______ a wonderful idea of the picnic.

(come into / come by / come up with)

c) Complete the sentences with an appropriate word chosen from those in
the brackets. (Any three) [3]

i) We were taken round the company’s ______(premises / premise)

ii) Everyone in my family is vaccinated _________ for my nephew.
(accept / except)

iii) She drew a circle on a ______ of paper. (Piece / Peace)

iv) I ______ for them everyday. (pray / prey)

v) This is a ______ point, so we have to discuss it. (moot / mute)

Q5) Answer the following questions in brief (Any two) [10]

a) Why is examining results an important step in problem solving?

b) How does analytical thinking help one to evaluate the problem?

c) How does poor time management affect a Person’s life?

 



Total No. of Questions : 4]

[5961]-485
S.Y. B.A.

DEFENCE & STRATEGIC STUDIES
CC-1D-G-2 : Chhatrapati Shivaji Maharaj Military System

(2019 Pattern) (Semester - IV) (24273)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3814 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 100 words each. (Any Three) [15]
a) State the Characteristics of the military system of Chhatrapati Shivaji

Maharaj.
b) What are the types of forts.
c) State the Strategic importance of forts.
d) Explain the importance of sea forts in the time of Chhatrapati Shivaji

Maharaj.
e) State the naval policy of Chhatrapati Shivaji Maharaj.

Q2) Answer the following questions in 300 words each. (Any one)[15]
a) Explain the organization of forts under the leadership of Chhatrapati

Shivaji Maharaj.
b) Explain the organization and structure of the Maratha army under the

Leadership of Chhatrapati Shivaji Maharaj.

Q3) Answer the following questions in 200 words each. (Any Two) [20]
a) What are the characteristic of the fort system of Chhatrapati Shivaji

Maharaj?
b) Explain Chhatrapati Shivaji Maharaj’s policy regarding armor.
c) Explain the strategy of Chhatrapati Shivaji Maharaj.
d) What are the principles of guerrilla warfare?

Q4) Write Short notes (Any Four) [20]
a) Vision of Chhatrapati Shivaji Maharaj in naval development.
b) Fort
c) Chhatrapati Shivaji Maharaj the father of Indian Navy
d) Characteristic of guerrilla warfare.
e) Cavalry
f) Guerrilla warfare


P.T.O.
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Total No. of Questions : 5]

[5961]-485
S.Y. B.A.

DEFENCE & STRATEGIC STUDIES
CC-1D-G-2 : Chhatrapati Shivaji Maharaj Military System

(2019 Pattern) (Semester - IV) (24273)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-3814

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [15]
A) N>ÌnVr {edmOr ‘hmamOm§À¶m bîH$ar ì¶dñWoMr d¡{eï>²¶o gm§Jm.
~) {H$ë¶m§Mo àH$ma H$moUVo?
H$) {H$ë¶m§Mo gm‘[aH$ ‘hÎd gm§Jm.
S>) N>ÌnVr {edmOr ‘hmamOm§À¶m H$mimVrb gmJar {H$ë¶m§Mo ‘hÎd ñnï> H$am.
B) N>ÌnVr {edmOr ‘hmamOm§Mo Zm{dH$ YmoaU gm§Jm.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [15]
A) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb {H$ë¶m§Mr g§KQ>Zm ñnï> H$am.
~) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb ‘amR>m g¡Ý¶mMo g§KQ>Z d g¡Ý¶mMr aMZm {deX H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) N>ÌnVr {edmOr ‘hmamOm§À¶m {H$„m ì¶dñWoMr d¡{eï>²¶o H$moUVr?
~) N>ÌnVr {edmOr ‘hmamOm§Mo Ama‘mam~m~VMo YmoaU ñnï> H$am.
H$) N>ÌnVr {edmOr ‘hmamOm§Mr ¶wÕZrVr gm§Jm.
S>) J{Z‘r H$mdm ¶wÕnÕVrMo VËdo H$moUVr?

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr Mma) [20]
A) Zm¡Xb {dH$mgmVrb N>ÌnVr {edmOr ‘hmamOm§Mr XÿaÑï>r
~) {H$„o
H$) N>ÌnVr {edmOr ‘hmamO ^maVr¶ Zm¡XbmMo OZH$
S>) J{Z‘r H$mdm ¶wÕnÕVrMr d¡{eï>²¶o
B) KmoS>Xb
’$) J{Z‘r ¶wÕV§Ì





Total No. of Questions : 4]

[5961]-486
S.Y. B.A.

G-2 : ECONOMICS
CC - 1D :  Financial System - II

(2019 Pattern) (Semester - IV) (24153)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Daigrams must be drawn whenever necessary.
3) Figures to the right indicate full marks.

PA-3815 [Total No. of Pages : 4

SEAT No. :

Q1) Write the answers of the following questions in 20 words each (Any Eight)[16]

a) Describe the two numerical tools of monetary policy.

b) State the two objectives of the world Bank.

c) Write the full form ADB.

d) Describe two developmental functions of RBI.

e) Write the full form of ‘IRDA’.

f) When was the world Bank established.

g) What is monetary policy?

h) IRDA when was it approved?

i) When was the Asian Development Bank established.

j) When did the Government of India enact the Bankruptcy Act?

P.T.O.
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Q2) Write the answers of the following questions in 50 words each. (Any four)[16]

a) Explain the objectives of the International Monetary Fund.

b) Explain the concept of ‘Bitcoin’.

c) Explain the numerical tools of monetary policy.

d) Explain the objectives of the world Bank.

e) Explain the concept of ‘Cash Reserve Fund’.

f) Explain the concept of ‘Cash bankruptcy regulator.

Q3) Write the answers of the following questions in 150 words each (Any three)[18]

a) Explain the structure of the international monetary fund.

b) Explain the function of Securities and Exchange Board of India.

c) Explain the limitations on monetary policy instruments.

d) Explain the modern alternative sources of finance.

Q4) Write the answers of the following questions in 300 words each (Any two)[20]

a) Explain the recent financial reforms in India.

b) Explain the function of Insurance Regulation and Development Authority.

c) Explain the traditional and developmental functions of the RBI.


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Total No. of Questions : 4]

[5961]-486
S.Y. B.A.

G-2 : ECONOMICS
CC - 1D :  Financial System - II

(2019 Pattern) (Semester - IV) (24153)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
3) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

PA-3815

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]

A) MbZ{df¶H$ YmoaUmMr XmoZ g§»¶mË‘H$ gmYZo gm§Jm.
~) OmJ{VH$ ~±Ho$Mr XmoZ C{ÔîQ>ço gm§Jm.
H$) E.S>r.br.Mo. nwU© ê$n {bhm.
S>) ^maVr¶ [aPìh© ~±Ho$Mr XmoZ {dH$mgmË‘H$ H$m¶} gm§Jm.
B) Am¶.Ama.S>r.E. Mo nwU© ê$n {bhm.
’$) OmJ{VH$ ~±Ho$Mr ñWmnZm H|$ìhm Pmbr.
¶) MbZ{df¶H$ YmoaU åhUOo H$m¶?
a) Am¶.Ama.S>r.E. bm H|$ìhm ‘mÝ¶Vm {‘imbr.
b) Am{e¶Z {dH$mg ~±Ho$Mr ñWmnZm H|$ìhm Pmbr?
d) ^maV gaH$maZo {XdmiImoar H$m¶Xm H|$ìhm bmJy Ho$bm?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) Am§Vaamï´>r¶ ZmUo{ZYrMr C{ÔîQ>ço ñnï> H$am.
~) {~Q>H$m°B©Z g§H$ënZm ñnï> H$am.
H$) MbZ{df¶H$ YmoaUmMr g§»¶mË‘H$ gmYZo ñnï> H$am.
S>) OmJ{VH$ ~±Ho$Mr C{ÔîQ>ço ñnï> H$am.
B) "amoI amIrd {ZYr' hr g§H$ënZm ñnï> H$am.
’$) {XdmiImoar {Z¶m‘H$mMo ‘hÎd ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 150 eãXm§V {bhm. (H$moUÎmohr VrZ) [18]

A) Am§Vaamï´>r¶ ZmUo{ZYrMr aMZm ñnï> H$am.

~) ^maVr¶ à{V ŷVr d {d{Z‘¶ ‘§S>imMr H$m¶} ñnï> H$am.

H$) MbZ{df¶H$ YmoaUmÀ¶m gmYZm§darb ‘¶m©Xm ñnï> H$am.

S>) {dÎm nwadR²>¶mMo AmYw{ZH$ n¶m©¶r ómoV ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) ^maVmVrb AbrH$S>rb H$mimVrb {dÎmr¶ gwYmaUm ñnï> H$am.

~) {d‘m {Z¶‘Z d {dH$mg àm{YH$aUmMr H$m¶} ñnï> H$am.

H$) ^maVr¶ [aPìh© ~±Ho$Mr na§namJV d {dH$mgmË‘H$ H$m¶} ñnï> H$am.





Total No. of Questions : 3]

[5961]-487
S.Y.B.A.

HINDI ({h§Xr)
SEC-2B : ‘mÜ¶‘ boIZ

(2019 CBCS Pattern) (Semester - IV) (24096)

g‘¶ : 2 K§Q>o] [ nyUmªH$ : 25

gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± : 1) g^r àíZ A{Zdm¶© h¡&
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¡&

PA-3816

à.à.à.à.à.1) Mma ‘| go H$moB© Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [10]

A) ‘mÜ¶‘ boIZ H$m gm‘mÝ¶ n[aM¶ Xr{OE&

~) ‘mÜ¶‘ boIZ H$s AdYmaUm ñnï> H$s{OE&

H$) ‘mÜ¶‘ boIZ H$m CÔoí¶ ñnï> H$s{OE&

S>) ‘mÜ¶‘ boIZ H$m ‘hËd ~VmBE&

à.à.à.à.à.2) Mma ‘| go H$moB© Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [10]

A) Zd ‘mÜ¶‘ boIZ H$m gm‘mÝ¶ n[aM¶ Xr{OE&

~) ao{S>Amo ’$sMa H$s Amdí¶H$Vm ñnï> H$s{OE&

H$) ãbm°J boIZ H$s Amdí¶H$VmAm| na àH$me S>m{bE&

S>) Q>obr{dOZ {’$Ma H$s Img ~mVm| H$s {ddoMZm H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘§o go {H$gr EH$ {df¶ ’$sMa boIZ H$s{OE& [5]

A) ‘hm{dÚmb¶ ‘| Am¶mo{OV qhXr {Xdg {df¶ na ’$sMa V¡¶ma H$s{OE&

~) AmnHo$ ‘moh„o ‘| Am¶mo{OV ‘{hbm ge{º$H$aU H$m¶©H«$‘ na H§$Q>oQ> boIZ H$s{OE&



[Total No. of Pages : 1

SEAT No. :



Total No. of Questions : 4]

[5961]-488
S.Y. B.A.

ECONOMICS
DSE - 2 B : Macro Economics - II

(2019 Credit Pattern) (Semester - IV) (24152)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3817 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questions in one or two sentences. [16]

a) State the secondary functions of money.

b) State the types of Business Cycles.

c) State the two advantages of monetary policy.

d) Write the definition of Demand pull inflation.

e) What is mean by Recession?

f) State the two advantages of fiscal policy.

g) What is mean by monetary policy?

h) What is mean by cash reserve ratio?

i) When did Fisher preposed the quanity theory of money.

j) Explain the concept of broad money (M - 3).

Q2) Answer the following questions in briefly. (any four) [16]

a) Explain the primary functions of money.

b) State the instruments of monetary policy.

c) Explain the phases of business cycles.

d) Explain the effects of deflation.

e) State the limitations of Fiscal policy.

f) Explain the monetary policy in the depression phase.

P.T.O.
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Q3) Attempt the following questions in 100 words. (Any three) [18]

a) State the RBI’s various measures to supply of money.

b) State the causes of business cycle.

c) State the types of Inflation.

d) Explain the Keynes theory of Business cycle.

Q4) Answer the following questions in 200 words (any two) [20]

a) Explain the cash balance approach to the value of money.

b) What is inflation? State the causes and effects of Inflation.

c) What is monetary policy? State the quantitative and Qualitative instruments
of monetary policy.


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Total No. of Questions : 4]

[5961]-488
S.Y. B.A.

ECONOMICS
DSE - 2 B : Macro Economics - II

(2019 Credit Pattern) (Semester - IV) (24152)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-3817

à.à.à.à.à.1) Imbrb àíZm§Mr EH$ qH$dm XmoZ dm³¶mV CÎmao {bhm.(H$moUVohr AmR>) [16]

A) n¡emMr Xþæ¶‘ H$m¶} gm§Jm.

~) ì¶mnmaMH«$mMo àH$ma gm§Jm.

H$) MbZ{df¶H$ YmoaUmMo XmoZ ’$m¶Xo gm§Jm.

S>) ‘mJUr VmU{Z{‘©V MbZ dmT>rMr ì¶m»¶m {bhm.

B) AngaU åhUOo H$m¶?

’$) amOH$mofr¶ YmoaUmMo XmoZ ’$m¶Xo gm§Jm.

¶) MbZ{df¶H$ YmoaU åhUOo H$m¶?

a) amoI amIrd {ZYr à‘mU åhUOo H$m¶?

b) {’$ea ¶m§Zr MbZ g§»¶m‘mZ {gÕm§V H|$ìhm ‘m§S>bm?

d) M-3 (ì¶mnH$ n¡gm) g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr WmoS>³¶mV CÎmao {bhm. (H$moUVohr Mma) [16]

A) n¡emMr àmW{‘H$ H$m¶} ñnîQ> H$am.

~) MbZ{df¶H$ YmoaUmMr gmYZo gm§Jm.

H$) ì¶mnmaMH«$mÀ¶m AdñWm ñnï> H$am.

S>) MbZ g§H$moMmMo n[aUm‘ ñnï> H$am.

B) amOH$mofr¶ YmoaUmÀ¶m ‘¶m©Xm gm§Jm.

’$) ‘§XrÀ¶m H$mimVrb MbZ{df¶H$ YmoaU ñnï> H$am.
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à.à.à.à.à.3) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) [aPìh© ~±Ho$Mr n¡emÀ¶m nwadR>²¶mMr ‘mnHo$ gm§Jm.

~) ì¶mnmaMH«$mMr H$maUo gm§Jm.

H$) MbZdmT>rMo àH$ma gm§Jm.

S>) Ho$ÝgMm ì¶mnma MH«$m{df¶r {gÕm§V ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) n¡emÀ¶m ‘wë¶mMm amoI {e„H$ Ñ{ï>H$moZ ñnï> H$am.

~) MbZdmT> åhUOo H$m¶? MbZdmT>rMr H$maUo d n[aUm‘ gm§Jm.

H$) MbZ{df¶H$ YmoaU åhUOo H$m¶? MbZ{df¶H$ YmoaUmMr g§»¶mË‘H$ d JwUmË‘H$ gmYZo gm§Jm.





Total No. of Questions : 4]

[5961]-489
S.Y.B.A.

MARATHI (‘amR>r)
DSE-1B(3)S-1 : ‘Ü¶¶wJrZ ‘amR>r gm{hË¶ : {ZdS>H$ ‘Ü¶¶wJrZ JÚ, nÚ

nmR>çnwñVH$ : {ZdS>H$ ‘Ü¶¶wJrZ JÚ, nÚ
(2019 Credit Pattern) (Semester - IV) (24021)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-3818

à.à.à.à.à.1) nwT>rb nmM àíZm§n¡H$s VrZ àíZm§Mr CÎma àË¶oH$s 50 eãXm§V {bhm. [15]
A) ~Ia åhUOo H$m¶? Vo gm§JyZ ~IarMo àH$ma {bhm.
~) "nmodmS>m' JÚ dmL²>‘¶ àH$mamMr d¡{eï>o ñnï> H$am.
H$) JdiU ¶m H$mì¶aMZm àH$mamMo {deof {bhm.
S>) "O¡gr haim‘Or aËZ {H$im' ¶m aMZo‘Ü¶o ‘amR>r ^mfoMm Jm¡ad H$gm Ho$bm Amho, Vo {bhm.
B) "D$g S>m§oJm nar ag Zìho S>m|Jm' ¶m A §̂JmMm Ame¶ {bhm.

à.à.à.à.à.2) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao àË¶oH$s 150 eãXm§V {bhm. [20]
A) A §̂J ¶m H$mì¶àH$mamMo {deof {bhm.
~) bmdUr dmL²>‘¶mMo ñdê$n ñnï> H$am.
H$) Eo{Vhm{gH$ nÌm§Vrb ^mfoMo ñdê$n ñnï> H$am.

à.à.à.à.à.3) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm. [20]
A) g§V EH$ZmWm§Zr ^mê$S>mÀ¶m ‘mÜ¶‘mVyZ H$moUVm CnXoe Ho$bm Amho Vo CXmhaUmgh ñnï> H$am.
~) "gw§Xam ‘Zm‘Yr ^abr' ¶m bmdUrV ñÌr gm¢X¶m©Mo dU©Z H$go Ho$bo Amho, Vo {bhm.
H$) hÎmrÀ¶m Ñï>m§VmVrb ‘{VVmW© gmoXmhaU {bhm.

à.à.à.à.à.4) nwT>rb XmoZ àíZm§n¡H$s EH$m àíZmMo CÎma àË¶oH$s 300 eãXm§V {bhm. [15]
A) ‘hX§~m Za|Ð H$dr ^mñH$a^Å> ~moarH$a, Xm‘moXa n§{S>V ¶m ‘hmZŵ md H$qdÀ¶m H$mì¶mMm WmoS>³¶mV

n[aM¶ H$ê$Z Xçm.
~) EH$ JS> KoVbm na§Vw EH$ JS> Jobm ¶m g^mgXmÀ¶m ~IarVrb àg§Jm§Mo {MÌU H$am.



[Total No. of Pages : 1

SEAT No. :



Total No. of Questions : 4]

[5961]-490
S.Y. B.A.

POLITICAL SCIENCE
CC - 1D : An Introduction To Political Science

(2019 Pattern) (Semester - IV) (24163)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-3819 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any eight questions. (in 20 words) [16]

a) What are the types of Freedom.

b) Write the Defination of freedom.

c) What is Justice?

d) Write the meaning of natural Right.

e) Write the meaning of Right.

f) What is Socialism?

g) Write the element of Nationalism.

h) Write the meaning of Ideology.

i) When was SAARC established.

j) Write the Name of OPEC member.

P.T.O.
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Q2) Write any four short notes (in 50 words) [16]

a) Explain the concept of natural Freedom.

b) Explain the concept of legal equality.

c) Explain the rights in brief.

d) Explain the universal Right of united nation

e) Explain the nature of nationalism.

f) Write the objectives of multinational companies.

Q3) Attempt any three question (in 100 words) [18]

a) Explain the liberal theory of freedom.

b) Explain in detail the different types of right.

c) Explain the merits and demerits of socialism.

d) Explain the background of the establishment of the united Nations.

Q4) Attempt any Two questions (in 200 words) [20]

a) Write the types of Freedom in detail.

b) Explain the meaning and nature of Right.

c) Explain the concept of progressive nationalism.


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Total No. of Questions : 4]

[5961]-490
S.Y. B.A.

POLITICAL SCIENCE
CC - 1D - An Introduction To Political Science

(2019 Pattern) (Semester - IV) (24163)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nmhmdr.

PA-3819

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V) [16]

A) ñdmV§Í¶mMo àH$ma H$moUVo?

~) ñdmV§Í¶mMr ì¶m»¶m gm§Jm.

H$) Ý¶m¶ åhUOo H$m¶?

S>) Z¡g{J©H$ h¸$ åhUOo H$m¶?

B) h¸$ åhUOo H$m¶?

’$) g‘mOdmX åhUOo H$m¶?

¶) amï´>dmXmMo KQ>H$ {bhm.

a) {dMmaàUmbr åhUOo H$m¶?

b) gmH©$Mr ñWmnZm H|$ìhm Pmbr?

d) AmonoH$À¶m gXñ¶ amï´>m§Mr Zmdo gm§Jm.
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à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma {Q>nm {bhm. (50 eãXm§V) [16]

A) Z¡g{J©H$ ñdmV§Í¶ hr g§H$ënZm ñnï> H$am.

~) H$m¶Xoera g‘Vm hr g§H$ënZm ñnï> H$am.

H$) h¸$ hr g§H$ënZm ñnï> H$am.

S>) ‘mZdr h¸$ {df¶H$ g§¶wº$ amï´>g§KmMm d¡pídH$ OmhraZm‘m ñnï> H$am.

B) amï´>dmXmMo ñdê$n {deX H$am.

’$) ~hþamï´>r¶ H§$nÝ¶m§Mr C{Ôï>o gm§Jm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [18]

A) ñdmV§Í¶m{df¶H$ CXma‘VdmXr {gÕm§V ñnï> H$am.

~) h¸$m§À¶m {d{dY àH$mamMr g{dñVa ‘m{hVr Úm.

H$) g‘mOdmXmMo JwU Am{U Xmof ñnï> H$am.

S>) g§¶wº$ amï´> g§KmÀ¶m ñWmnZoMr nmíd©̂ y‘r ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

A) ñdmV§Í¶mMo àH$ma g{dñVa ñnï> H$am.

~) h¸$m§Mm AW© Am{U ñdê$n H$am.

H$) àmJ{VH$ amï´>dmX hr g§H$ënZm {deX H$am.


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[5961]-491
S.Y. B.A.

GEOGRAPHY
CC - 2D - Gg 201 (B) Economic Geography - II
(2019  Credit Pattern) (Semester - IV) (24205)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat labelled diagrams, figures, wherever necessary.
4) Use of map stencil is allowed.

PA-3820 [Total No. of Pages : 4

SEAT No. :

Q1) Write answers of the following questions in about 20 words each (any eight)
[16]

a) Write any two limitations of Rail transportation.

b) Write any two advantages of water transportation.

c) What is Industry?

d) State any two names of cooperative suger industries in Maharashtra.

e) Write the concept of Regional Development.

f) What is Regionlization?

g) What is Development?

h) Write the full form of ‘MANREGA’.

i) What is Rural Development Index?

j) State any two objectives of Rural Development.

P.T.O.
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Q2) Write short notes in about 50 words each (any three). [18]

a) Importance of International Trade.

b) Market place

c) Planning and Development in India

d) Objectives of Regional Development.

Q3) Write the answers of questions in 100 words each (any two) [16]

a) Explain the causes of Regional Imbalances in India.

b) Explain the watershed development programme in short.

c) Elaborate the National social Assistance programme.

Q4) Write the answers of questions in 300 words each (any one) [20]

a) Explain in details, the Factors affecting on International Trade.

b) Elaborate the factors affecting on Industrial location.


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Total No. of Questions : 4]

[5961]-491
S.Y. B.A.

GEOGRAPHY
CC - 2D - Gg 201 (B) Economic Geography - II
(2019  Credit Pattern) (Semester - IV) (24205)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Vr H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-3820

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§Z CÎmao {bhm. (H$moUVohr AmR>) [16]

A) bmoh>‘mJ© dmhVwH$sÀ¶m H$moUË¶mhr XmoZ ‘¶m©Xm {bhm.

~) ObdmhVwH$sMo H$moUVohr XmoZ ’$m¶Xo {bhm.

H$) CX²¶moJY§Xo åhUOo H$m¶?

S>) ‘hmamï´>mVrb H$moUË¶mhr XmoZ ghH$mar gmIaH$maImÝ¶m§Mr Zmdo gm§Jm.

B) àmXo{eH$ {dH$mg g§H$ënZm {bhm.

’$) àmXo{eH$sH$aU åhUOo H$m¶?

¶) {dH$mg åhUOo H$m¶?

a) "‘ZaoJm' (MANREGA) Mo nyU© ê$n {bhm.

b) J«m‘rU {dH$mg {ZX}em§H$ åhUOo H$m¶?

d) J«m‘rU {dH$mgmMr H$moUVrhr XmoZ C{Ôï>o gm§Jm.
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à.à.à.à.à.2) àË¶oH$s 50 eãXm§V Q>rnm {bhm. (H$moUVohr VrZ) [18]

A) Am§Vaamï´>r¶ ì¶mnmamMo ‘hËd.

~) ~mOmanoR>

H$) ^maVmVrb {Z¶moOZ Am{U {dH$mg

S>) àmXo{eH$ {dH$mgmMr C{Ôï>o.

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ^maVmVrb àmXo{eH$ Ag‘VmobmMr H$maUo ñnï> H$am.

~) nmUbmoQ> joÌ {dH$mg H$m¶©H«$‘ WmoS>³¶mV ñnï> H$am.

H$) amï´>r¶ gm‘m{OH$ ghmæ¶ H$m¶©H«$‘ {deX H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]

A) Am§Vaamï´>r¶ ì¶mnmamda n[aUm‘ H$aUmao KQ>H$ g{dñVa ñnï> H$am.

~) CX²¶moJY§X¶m§À¶m ñWm{ZH$sH$aUmda n[aUm‘ H$aUmao KQ>H$ {deX H$am.





Total No. of Questions : 5]

[5961]-492
S.Y.B.A.

HINDI ({h§Xr)
CC-1D : AmYw{ZH$ qhXr ì¶§½¶ gm{hË¶ VWm ì¶mdhm[aH$ qhXr (G-2)

nmR>çnwñVH$ : qhXr gm{hË¶ Am¡a ^mfm
   g§nmXH$ - àm. S>m°. gXmZ§X ^mogbo

(2019 Pattern) (CBCS) (Semester - IV) (24093)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70

gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± : 1) g^r àíZ A{Zdm¶© h¡&
2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡&

PA-3821

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [16]

A) "VrZm| ~§Xa ~mny Ho$' H${dVm ‘| H${d ZmJmOw©Z Zo {H$g ì¶§½¶ H$mo ì¶º$ {H$¶m h¡?

~) "{dX²dmZ bmoJ' H${dVm ‘| H${d Zo {dX²dmZ bmoJm§o H$s H$m¡Z-gr {deofVm ~Vm¶r h¡?

H$) "{H$VZr amoQ>r' H${dVm H$m gmam§e {b{IE&

S>) "Xoe Ho$ {bE ZoVm' H${dVm ‘| Xoe Ho$ {bE ZoVm ~hþV hr Oê$ar h¡ Eogm H${d Zo ³¶m| H$hm h¡?

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [16]

A) "no«‘ H$s {~amXar' H$hmZr ‘| ì¶º$ MwQ>rbo ì¶§½¶ H$mo ñnï> H$s{O¶o&

~) "AH$ga' ì¶§½¶ nmR> Ho$ ‘mÜ¶‘ go AH$gar ‘Zmod¥{Îm H$mo ñnï> H$s{OE&

H$) "gmdYmZ h‘ B©‘mZXma h¡' Bg ì¶§½¶ nmR> ‘| bVr’$ Km§oKr Or Zo «̂ï> ì¶dñWm na {H$g àH$ma ì¶§½¶
{H$¶m h¡?

S>) "‘w»¶‘§Ìr H$m S>§S>m' H$hmZr ‘| S>m°. gwXe©Z ‘Or{R>¶mOr Zo {H$g H$m¶©àUmbr na VrIm àhma {H$¶m h¡?

[Total No. of Pages : 3

SEAT No. :

P.T.O.



2[5961]-492

à.à.à.à.à.3) A) {ZåZ{b{IV ‘| go {H$Ýht EH$ AdVaU H$s g§gX ©̂ ì¶m»¶m H$s{OE& [7]

i) ""~mny Ho$ ^r VmD$ {ZH$bo VrZm| ~§Xa ~mny Ho$

gab gyÌ CbPmD$ {ZH$bo VrZm| ~§Xa ~mny Ho$

gM‘wM OrdZXmZr {ZH$bo VrZm| ~§Xa ~mny Ho$

kmZr {ZH$bo, Ü¶mZr {ZH$bo VrZm| ~§Xa ~mny Ho$&''

ii) ""~mV-~mV ‘| ~Z JE, ~mVm| Ho$ Hw$N> N>ÝX,

~mV nH$‹S> H$a br{OE, ~mVm| H$m AmZÝX&

~mVmo H$m AmZ§X, ~mV {~Z ‘h{’$b gyZr,

~mV ~ZmZo dmbo H$mo H$hVo ~mVyZr&''

~) {ZåZ{b{IV ‘| go {H$Ýht EH$ AdVaU H$s g§gX ©̂ ì¶m»¶m H$s{OE& [7]

i) ""Vmo H$‘-go-H$‘ ‘Zwî¶ Om{V ‘| Vmo emXr hþB©& AnZo ¶hm± Vmo ‘Zwî¶ Om{V Ho$ ~mha ̂ r ‘hmZ
nwê$fm| Zo emXr H$s h¡ - O¡go ^r‘ Zo {h{S>å~m go&''

ii) ""¶{X gmV {XZm| ‘| S>§S>m Z {‘bm Vmo Cg joÌ ‘| H$m‘ H$aZodmbo g‘ñV gaH$mar Zm¡H$am| H$mo ¶m
Vmo {Sg{‘g H$a {X¶m OmEJm ¶m CZ na g»V H$m¶©dmhr H$s OmEJr&''

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

i) gmjmËH$ma Ho$ gm‘mÝ¶ VËd H$s OmZH$mar Xr{OE&

ii) ‘mo~mB©b En Ho$ {d{^Þ àH$ma {b{IE&

iii) "g‘¶ hr YZ h¡' Bg {df¶ na n„dZ {b{IE&

à.à.à.à.à.5) {ZåZ{b{IV ~hþ{dH$pën¶ Xg àíZm| Ho$ CÎma {b{IE& [10]

i) ~H$-~H$ Á¶mXm H$aZodmbo H$mo ³¶m H$hVo h¡?

A) ~H$dmg ~) {dX²dmZ

H$) gwOmZ S>) BZ‘| go Zht

ii) "{dX²dmZ bmoJ' H${dVm Ho$ H${d H$m¡Z h¡?

A) ZmJmOw©Z ~) CX¶ àH$me

H$) AemoH$ MH«$Ya S>) e¡b MVwd}Xr

iii) "Xoe Ho$ {bE ZoVm' H${dVm ‘| dmoQ> Ho$ {bE H$m¡Z Oê$ar h¡?

A) ZoVm ~) ‘moQ>a

H$) dmoQ>a S>) Xoe
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iv) H${d AemoH$ MH«$Ya Or Zo "{H$VZr amoQ>r' H${dVm ‘| {H$gH$m dU©Z {H$¶m h¡?

A) gwH$mb ~) AH$mb

H$) ~m[ae S>) J‘u

v) "ào‘ H$s {~amXar' H$hmZr ‘| h[ae§H$a nagmB© Or Zo {H$gHo$ {d{^Þ ñdê$nm| na ì¶§½¶ {H$¶m h¡?

A) ào‘ Ho$ ~) H«$moY Ho$

H$) Z’$aV Ho$$$ S>) BZ‘| go Zht

vi) "A’$ga' H$hmZr Ho$ H$hmZrH$ma H$m¡Z h¡?

A) h[ae§H$a nagmB© ~) bVr’$ Km|Kr

H$) S>m°. gwXe©Z ‘Or{R>¶m S>) eaX Omoer

vii) "gmdYmZ, h‘ B©‘mZXma h¡' Bg ì¶§½¶ nmR> ‘| boIH$ H$mo {H$VZo B©‘mZXma AmX‘r {‘bVo h¡?

A) Xmo ~) Mma

H$) nm±M S>) gmV

viii) gmjmËH$ma EH$ ³¶m h¡?

A) hñVH$bm ~) H$bm

H$) {MÌH$bm S>) BZ‘| go Zht

ix) ‘mo~mB©b En EH$ ³¶m h¡?

A) hmS>©do¶a ~) gm°âQ>do¶a

H$) do~ ~«mCOa S>) JyJb

x) n„dZ eãX {H$gH$m {damoYr eãX h¡?

A) g§jonU ~) {dñVma

H$) ^md-{dñVma S>) ^md n„dZ





Total No. of Questions : 3]

[5961]-493
S.Y. B.A.

ECONOMICS
SEC - 2 B : Basic Concept of Research Methodology - II

(2019 Pattern) (Semester-IV) (CBCS) (24154)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions must be solved.
2) Numbers to the right indicate full marks.

PA-3822 [Total No. of Pages : 2

SEAT No. :

Q1) Write an answer to any one of the following. [10]

a) Explain the concept of graph? Explain the types of graph?

b) Explain the meaning of Tabulation? Explain the types of tabulation?

Q2) Write an answer to any one of the following. [10]

a) Explain the concept of Mean, Median & Mode?

b) Explain the objectives of research Report?

Q3) Write short notes (Any one) [5]

a) Review of Literature

b) Percentage



P.T.O.
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Total No. of Questions : 3]

[5961]-493
S.Y. B.A.

ECONOMICS
SEC - 2 B : Basic Concept of Research Methodology - II

(2019 Pattern) (Semester-IV) (CBCS) (24154)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-3822

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

A) AmboI hr g§H$ënZm ñnï> H$ê$Z AmboImMo àH$ma ñnï> H$am.

~) gmaUrMm AW© gm§JyZ gmaUrMo àH$ma ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

A) ‘Ü¶, ‘Ü¶Jm d ~hþbH$ ¶m g§H$ënZm ñnï> H$am.

~) g§emoYZ AhdmbmMr CÔrîQ>ço ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) g§emoYZ gm{hË¶ AmT>mdm

~) Q>¸o$dmar/eoH$S>odmar





Total No. of Questions : 4]

[5961]-494
S.Y. B.A.

GEOGRAPHY
Gg.201 (B) - CC -1 D : Environmental Geography - II

(2019 Credit Pattern) (Semester - IV) (24204)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Use of map stencils is allowed.

PA-3823 [Total No. of Pages : 4

SEAT No. :

Q1) Write answers to the following questions in 20 words each. (Any eight) [16]

a) Give any two examples of natural disaster.

b) Write the definition of earthquake.

c) Write any two causes of flood.

d) In which state of India the first patient of corona was Found?

e) State any two causes of global warming.

f) Staet any two measures of acid rain.

g) Write any two effects of ozone depletion.

h) State any two objectives of Environmental Impact Assessment.

i) What was main purpose of vienna convention?

j) State any two objectives of the environmental protection Act.

P.T.O.
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Q2) Write notes on each of the following questions in 50 words. (Any three) [18]

a) World distribution of earthquakes

b) Ozone depletion

c) Nature of Environmental impact Assessment

d) Carbon credits

Q3) Write answers to the following questions in 100 words each (Any two) [16]

a) Explain the causes and effects of earthquakes.

b) Explain the consequences of excess use of chemical Fertilizers and
pesticides.

c) Explain the nature of Environmental planning in India.

Q4) Write answers to the following questions in 300 words each (Any one) [20]

a) Explain the concept of biological disaster and write information about
major biological disasters.

b) Write a detailed account of environmental education in India.


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Total No. of Questions : 4]

[5961]-494
S.Y. B.A.

GEOGRAPHY
Gg.201 (B) - CC -1 D : Environmental Geography - II

(2019 Credit Pattern) (Semester - IV) (24204)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Vr H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi> B§J«Or àíZn{ÌH$m nhmdr.

PA-3823

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) Z¡g{J©H$ AmnÎmrMr H$moUVrhr XmoZ CXmhaUo gm§Jm.

~) ŷH§$nmMr ì¶m»¶m {bhm.

H$) nyamMr H$moUVrhr XmoZ H$maUo {bhm.

S>) ^maVmVrb H$moUË¶m amÁ¶mV H$moamoZmMm n{hbm ê$½U AmT>ibm hmoVm.

B) OmJ{VH$ Vmn‘mZ dmT>rMr H$moUVrhr XmoZ H$maUo gm§Jm.

’$) Amåb nO©Ý¶mMo H$moUVohr XmoZ Cnm¶ gm§Jm.

¶) AmoPmoZ j¶mMo H$moUVohr XmoZ n[aUm‘ {bhm.

a) n¶m©daUr¶ à^md narjUmMo H$moUVohr XmoZ CÔoe gm§Jm.

b) pìhEÞm H$amamMm ‘wi CÔoe H$m¶ hmoVm?

d) n¶m©daUr¶ g§ajU H$m¶ÚmMr H$moUVohr XmoZ C{Ôï>¶o gm§Jm.
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à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXmV {Q>nm {bhm. (H$moUVohr VrZ). [18]

A) ŷH§$nmMo OmJ{VH$ {dVaU

~) AmoPmoZMm j¶

H$) n¶m©daUr¶ à^md narjUmMo ñdê$n

S>) H$m~©Z Ho«$S>rQ>

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ŷH§$nmMr H$maUo Am{U n[aUm‘ ñnï> H$am.

~) amgm¶{ZH$ ImVo Am{U {H$Q>H$ZmeH$m§À¶m A{V[aº$ dmnamMo n[aUm‘ ñnï> H$am.

H$) ^maVmVrb n¶m©daUr¶ {Z¶moOZmMo ñdê$n ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]

A) O¡{dH$ AmnÎmr hr g§H$ënZm ñnï> H$am d à‘wI O¡{dH$ AmnÎmrMr ‘m{hVr {bhm.

~) ^maVmVrb n¶m©daUr¶ {ejUmMm d¥Îmm§V g{dñVma {bhm.





Total No. of Questions : 4]

[5961]-495
S.Y. B.A.

MATHEMATICAL  STATISTICS (General - II)
CC - 2D ST - 23244 : Tests of Significance and Statistical Methods

(CBCS 2019 Pattern) (Semester - IV) (24321)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
4) Symbols and abbreviations have their usual meaning.

PA-3839 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt each of the following: [1 each]
A) In each of the following cases, choose the correct alternative:

a) The point of occurance of three regression planes is

i)  1 2 3X , X , X

ii)  2 2 2
1 2 3, ,  

iii)  1 1 2 2 3 3X ,X , X    

iv)  1 1 2 2 3 3X ,X ,X    

b) Rejecting H0 when H0 is true is called as
i) Type I error ii) Type II error
iii) Correct decision iv) Level of significance

c) The birth rates or fertility rates mainly depend on
i) Total Population
ii) Number of newly born babies
iii) Total female population
iv) Female population of child bearing age.

P.T.O.
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d) In case of M/M/1 :  /FIFO model, the probability that the server is
idle is given by

i)

 ii) 1 




iii)

 iv) 1 u




e) Identify the correct statement from the following

i)
2 2

2 12 13 12 13 23
1.23 2

23

2R
1

r r r r r
r

 




ii)
2 2

2 12 13 12 23 23
1.23 2

13

2R
1

r r r r r
r

 




iii)
2 2

2 12 13 12 23 23
1.23 2

12

2R
1

r r r r r
r

 




iv)
2 2

2 12 23 12 23 23
1.23 2

13

2R
1

r r r r r
r

 




B) In each of the following, state whether the given statement is true or
false: [1 each]
a) The null hypothesis is accepted if p-value is less than the level of

significance.
b) If 2   per hour and 6   per hour in M/M/1 model then the

average number of customers in the system is 5.
c) In Critical region null hypothesis is rejected.
d) Infant mortality rate is the number of deaths of children under 1

years of age per 1,000 lives of birth.
e) The value of partial correlation coefficient lies between 0 to 

Q2) Attempt any four of the following: [5 each]
a) Define residual. State its properties.
b) Show that X1.23 is uncorrelated with X2 and X3.
c) Explain the following terms

i) Customer
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ii) Waiting time
iii) Queue length
iv) Traffic density
v) Queue discipline

d) Explain what is Standardized Death rate (S.T.D.R) and also explain the
methods of obtaining S.T.D.R.

e) Explain the following terms
i) Simple Hypothesis
ii) Composite Hypothesis
iii) Random sample
iv) One sided hypothesis
v) Two sided hypothesis

f) Explain the construction of 100  1  % confidence interval for the
population mean   of normal distribution to test the hypothesis that

0 0H :   against 1 0H :    by assuming that standard deviation 2 is
known.

Q3) Attempt any four of the following: [5 each]
a) Define coefficient of multiple determination. State its properties.
b) Prove that the necessary and sufficient condition for the three regression

planes to coincide is 2 2 2
12 13 23 12 13 232 1r r r r r r     or 0.R 

c) Define gross reproduction rate (G. R. R.) and net reproduction rate
(N.R.R.) Give their interpretations.

d) Workers come to tool store room to inquire about the special tools for a
particular job. Customers arrive at the store have Poisson distribution
with average rate of 8 customers per hours. The average service time is
12 customers per customer Find
i) Average queue length
ii) Expected number of workers in the queue.

e) Define the following terms:
i) Type I Error
ii) Type II Error
iii) Level of Significance
iv) Critical Region
v) P - Value
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f) Two hundred people were attacked by a disease and 140 survived. Can
we say that 75% people survive if they are attacked by this disease. (Use
5% level of significance)

Q4) Attempt any two of the following: [10 each]
a) i) Derive the equation of least square regression plane of Y on X1 and

X2. [6]

ii) Define partial correlation coefficient. If 12 23 130.20, 0.15, 0.75r r r  

then compute 12.3r . [4]

b) i) In a tri-variate data the total correlation coefficients are given by

12 13 230.40, 0.20, 0.30r r r    . Is the data consistent? [5]

ii) What do you mean by queue? State some situations where queuing
problem arises. [5]

c) i) Describe the procedure for testing the hypothesis 0 0:H    against

1 0:H    where   is the population mean by assuming that
population variances are known.  [5]

ii) Construct  100 1  % confidence interval for difference in

population means 1 2  of two populations when population
variances 2

1  and 2
2  are known. [5]

d) i) Describe the procedure for constructing  100 1  % 0 0:H P P

Vs 1 0: ,H P P  where p0 is the population proportion. [5]

ii) Explain the following approaches of testing of hypothesis. [5]

I) Critical region approach

II) P-value approach

III) Confidence interval approach

 
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Q1) Answer any FIVE of the following: [10]

a) Evaluate 
0

lim cos  sin  .t t t

t
e t i e t j e k  


   

b) Evaluate  
2

21

46 6 3  .t i t j k dt
t

     

c) Define principal unit normal of a plane curve.

d) Define gradient  of a scalar function.

e) Show that the vector field  2 3 2 4F 4x yi z y xy j z k     is a solenoidal.

f) Find the k - component of curl  F for the vector fields

F x yi j
y x

       
  

on the plane.

g) State Divergence theorem.

Q2) Attempt any FOUR of the following. [20]

a) If  r t  is a differentiable vector function of t and the length of  r t  is

constant, then prove that 0.dr r
dt
 

b) Find parametric equations for the line that is tangent to the curve

      0
1ln ln  at t 1.
2

tr t t i j t t k
t


   


P.T.O.
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c) Find the point on the curve      5sin 5cos 12r t t i t j tk   at a distance
26  units along the curve from the point (0, 5, 0) in the direction of
increasing are length.

d) Find the line integral of  , , 2f x y z xy z   over the helix
  cos sin  ,  0 .r t ti t j tk t     

e) Find the work done by the force field      2 2 2F y x i z y j x z k     

in moving an object along the curve   2 3 ,  0 1r t ti t j t k t     , from
(0, 0, 0) to (1, 1, 1).

f) Find the flux of  F  x y i x j    across the circle 2 2 1x y   in the xy -
plane.

Q3) Attempt any FOUR of the following: [20]

a) Evaluate F  
c

dr  where  F , ,x y z xzi yzj  and C is the line segment from

(–1, 2, 0) to (3, 0, 1).

b) Prove that the field F is conservative on D if and only if F 0
C

dr 
around every loop (closed curve C) in D.

c) Use the Greens Theorem area formula to find the area of the circle having
radius a.

d) Find a parametrization of the sphere 2 2 2 2.x y z a  

e) Determine the surface area of the portion of the cylinder 2 2 1x y 
between the planes z = 1 and z = 4.

f) Determine whether the vector field
2 3 3

2
2 2 3

3 2F 4 8 11x y x x yy i xy j k
z z z

     
          
     

 is conservative or not?
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Q4) Attempt any TWO of the following: [20]

a) Find T, N,  and k for the plane curve

      cos sin sin cos  0.r t t t t i t t t j t    

b) State and prove Green’s theorem in the plane.

c) Find a potential function for the field and evaluate the integral

 

1, ,2
2

0,2,1

1 12cos  2 sin  .y dx x y dy dz
y z

 
 
 

 
   
 



d) Verify the Divergence theorem for F xi yj zk    over the sphere
2 2 2 2.x y z a  

 
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Q1) Attempt any five of the following: [10]
a) If the running cost of a machine A increases with time t as discrete

variable, then state ‘the replacement policy’ for a machine A.
b) Let 3:f    be a function defined as  1 2 3 1 2 3, , ,f x x x x x x   compute

 0,0.1 .f

c) State the term ‘no passing rule’ for n jobs and 2 machines sequencing
problem.

d) State the term ‘fair game’.
e) Let 4 jobs 1 2 3, ,J J J  and 4J  processed through 3 machines A, B and C in

order  BAC. Find the total number of possible different sequences of
given jobs.

f) State the term ‘Laplace criterion’ for the decision under uncertainty.
g) The payoff matrix for player A is given as below. Find the saddle point,

if it exists.

Player  A
Player B
B1 B2

A1 –5  2

A2 –7 –4

Q2) Attempt any four of the following: [20]
a) The pay-off matrix for three strategies S1, S2 and S3 against condition

N1, N2, N3 and N4 is given as below. Use regret criterion to find the best
strategy.

P.T.O.
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Strategy State of Nature

N1 N2 N3 N4

S1 4,000 –100 6,000 18,000

S2 20,000 5,000 400 0

S3 20,000 15,000 –2,000 1000

b) Whether it is possible to reduce given 3 machines problem to 2 machines?
Justify, If yes, then reduce given problem to 2 machine problem.

Job: 1 2 3 4 5

Machine A: 3 7 6 9 5

Machine B: 2 1 4 5 3

Machine C: 3 7 5 6 7

c) Draw the network diagram for the activities relations  and duration given
below:

Activity 1 - 2 1 - 3 1 - 4 2 - 5 3 - 5 4 - 6 5 - 6

Duration in days 7 2 8 1 9 1 15

d) The project activities and their three time estimates in weeks is given as
below. Evaluate expected time and variance of each activity.

Activity A B C D E F G

Optimistic (to) 1 1 2 1 2 2 3

Most likely (tm) 1 4 2 1 5 5 6

Pessimistic (tp) 7 7 8 1 14 8 5

e) Let 2:f    be a function defined as   2
1 2 1 2 1 2 2, 3 .f x x x x x x x    Evaluate

the Hessian matrix of given function f at (–1, 0), (2, 3) and (1, 1).

f) A company purchased the new machine at rupees 10,000. The economic
life of machine is expected to be 9 years. The estimated annual running
cost of the machine is rupees 8500. If the market interest rate is 6%, find
the present worth of the annual running cost of the machine.

Q3) Attempt any four of the following: [20]

a) Let 2:f    be a function defined as   2
1 2 1 2 2, 12 5 .f x x x x x   Determine

the local maximum or local minimum value of the function f.
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b) The processing times in hours for 6 jobs on 3 machines is given as
below. Each job must be processed on each machine in the order ACB.
Determine the optimal sequence of jobs to minimize the elapsed time.
Job: 1 2 3 4 5 6

Machine A: 12 10 9 14 7 9

Machine B: 7 6 6 5 4 4

Machine C: 6 5 6 4 2 4

c) A farmer wants to plant one of the crops Crop A, Crop B or Crop C.
The estimated profit for each crop depending on the rainfall is given
below.
Use Laplace criterion to determine best crop for farmer to plant.

Estimated profit in rupees
Rainfall

Crop A Crop B Crop C

High 8,000 3,500 5,000

Medium 4,500 4,500 5,000

Low 2,000 5,000 4,000

d) The cost price of a machine is rupees 12,200 and its scrap value is
rupees 200. The running cost per year of a machine is given in following
table. Determine the best time to replace machine.
Year 1 2 3 4 5 6 7 8

Running cost 200 500 800 1200 1800 2500 3200 4000

e) Write any three differences between CPM and PERT.

f) Use dominance principle to reduce following player A pay - off matrix to
order 2 × 2.

Player A Player B

B1 B2 B3 B4

A1 8 10 9 14

A2 10 11 8 12

A3 13 12 14 13

Q4) Attempt any two of the following: [20]
a) Use graphical method to solve the following game. Also, find optimal

strategies of each player and the value of game.



4[5961]-497

Player A Player B

B1 B2

A1 1 2

A2 4 5

A3 9 –7

A4 –3 –4

A5 2 1

b) The activities of a project and their time duration’s are given in following
table. Draw a project network. Find the critical path and the expected
time of the completion of project.

Activity 1-2 1-3 2-3 2-4 3-5 3-6  4-5  4-6 5-6

Duration in weeks 5 6 3 8 2 11 0 1 12

c) The processing times in hours for 5 jobs on 3 machines is given as
below. Each job must be processed on machines A, B and C in the order
ABC. Determine the optimal sequence of jobs to minimize the elapsed
time. Also, find idle time for each machine.

Job: 1 2 3 4 5
Machine A 8 10 6 7 11
Machine B 5 6 2 3 4
Machine C 4 9 8 6 5

d) Use dominance principle to find the optimal strategies for player A and
player B for the following game. Also, find the value of game.

Player A Player B

B1 B2 B3 B4

A1 19 6 7 5

A2 7 3 14 6

A3 12 8 18 4

A4 8 7 13 –1

 



Q1) Attempt each of the following : [5 × 1 = 5]
a) Choose the correct alternative for the following :

i) Let X1 and X2 are two independent Poisson variates then the
probability distribution of (X1 + X2) is :
a) Binomial b) Poisson
c) Geometric d) Bernoulli

ii) Parameter is a characteristic of
a) Population b) Sample
c) Probability distribution d) both (a) and (b)

iii) If X is a discrete r.v., then
a) E(X2) = [E(X)]2 b) E(X2) > [E(X)]2

c) E(X2) < [E(X)]2 d) E(X2) = 2E(X)
iv) If X and Y are two random variables with means E(X) and E(Y)

respectively, then the expression E[(X–E (X)) (Y–E (Y))] is called
a) Variance of X
b) Variance of Y
c) Covariance between X and Y
d) Correlation coefficient between X and Y

v) If X follows discrete uniform distribution on 1,2,.......,n and the
mean of the distribution is 6. Hence the value of n is.
a) 11 b) 6
c) 36 d) 12
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b) State whether the following statements are true or false : [5 × 1 = 5]
i) Mean of uniform distribution is p.
ii) Expectation of constant is itself constant.
iii) Variance of Binomial distribution is np.
iv) Mean of poisson distribution is equal to the parameter.
v) If XP (m) then mean is m

Q2) Attempt any Four of the following : [4 × 5 = 20]
a) State the Properties of Distribution Function :
b) Prove that the Variance is affected by change of scale.
c) If Y=X–a, then prove that except the first cumulant all other cumulants

of X and Y are same, a being constant.
d) Define hypergeometric distribution and find its mean.

e) Given that, 
X1( )

2
P x k    

 
 is a probability distribution for a random

variable which can take the values x = 0,1,2,3,4,5,6 find k and distribution
function of X.

f) For a binomial distribution with mean 5 and S.D. 2, find the mode.

Q3) Attempt any Four of the following : [4×5=20]
a) Prove that the variance is invariant to the change of origin. i. e.

V(X + a) = V(X); a is constant.
b) Define a discrete uniform distribution with parameter 'n', also find its

variance.
c) Give two real-life situations where hypergeometric distribution can be

applied.
d) Suppose that the random variable X assumes values 0,1,2 with probability

1/3, 1/6, 1/2 respectively. Obtain the distribution function of X.
e) Prove that E(a X + b) = a E(X) + b
f) Determine the parameters of binomial distribution for which the mean is

4 & variance 3, find its mode.
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Q4) Attempt any Two of the following : [2 × 10 = 20]
a) Suppose that the random variable X has possible values 1,2,3, ..... and

probability of P(x) = j
1
2

, j = 1,2,3,....,i...,...

i) Compute probability of X = even
ii) P(X < 5)
iii) P(X = 3x)

b) If XB (n, p) then show that

i)
2x pqE p

n n
   
 

ii) Cov ,x n x pq
n n n

    
 

c) Among the 200 employees of a company, 160 are union members and
the others are non-union. If four employees are to be chosen to serve on
the staff welfare committee, find the probability that two of them will be
union members and the others non-union, using (i) hypergeometric
distribution, (ii) binomial distribution as an approximation.

d) i) Explain with an illustration, what is meant by a Bernoulli trial.
i) Define Bernoulli distribution with parameter p. Obtain third central

moment for a Bernoulli r.v..


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Q1) Attempt each of the following:

A) Choose the correct alternative of the following: [1 each]

a) If the random variable X P(5) then Var(X) is

i) 5 ii) 5

iii) 52 iv) 25

b) If Var (X) = 9, E (X2) = 10 then E (X) = ........

i) 19 ii) 10

iii) 9 iv) 1

c) If following is the p.m.f of discrete random variable X,
X 0 1 2

P(X) 0.2 k 0.3

Then k = ........

i) 0.4 ii) 0.5

iii) 1 iv) 0.2

P.T.O.
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d) Let the correlation coefficient between X and Y is ƍ then Corr
(5X, 2 – Y) is
i) 2 ƍ ii) 4 ƍ 
iii) ƍ iv) – ƍ 

e) In vital statistics the rates of vital events are measured in.
i) Fraction ii) Parcentages
iii) Per thousand iv) Per million

B) State whether the following statement is True or False: [1 each]
a) N.R.R = 1 means the total population will remains the same.
b) Median and mode of a discrete random variable are always same.
c) Marginal probability distribution of Y is univariate probability

distribution.
d) If X P (1) then coefficient of variation is 100%.
e) If X and Y are independent then Var (X+Y) = Var (X – Y)

Q2) Attempt any FOUR of the following. [4×5=20]
a) Define a cumulative distribution function of a discrete random variable

also state it’s properties.
b) Explain how S.T.D.R. is superior to C.D.R.
c) Define p.m.f. of r.v. X and verify whether the following is a probability

distribution of random variable X,
P(X = x) = (X2 + 1)   ; X= –1, 0, 1
              = 0             ; otherwise

d) State the conditions required for the application of Binomial distribution.
e) Let X follows discrete uniform distribution with parameter 10. Obtain

i) Mean (X)
ii) var (X)
iii) P(X = 2.5)

f) Define conditional expectation of X given Y= y and Y given X = x, also
give their interpretations.

Q3) Attempt any FOUR of the following. [4×5=20]
a) If X and Y are independent Poisson random variables with means 6 and

4 respectively, Find
i) P(X+Y<0)
ii) P[(X+Y) 1]

b) Give some practical situations where use of bivariate random variables is
needed.
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c) Let P(x) be the p.m.f of a discrete random variable X which assumes the
values x1, x2, x3, x4 such that 2P(x1) = 3P(x2) = P(x3) = 5P(x4), find the
p.m.f of X.

d) Describe the terms crude birth rate and infant mortality rate.
e) Let a random variable X has Binomial (7, 0.8) find

i) P(X = 0)
ii) Mean (X)
iii) Var (X)
iv) P(X = 2.5 )

f) Define correlation coefficient ƍ between two discrete r.v.s. X and Y. Give
interpretations of the various values of ƍ .

Q4) Attempt any TWO of the following. [2×10=20]
a) X and Y are two discrete r.v.s. with joint p.m.f.

P(x, y) = C (X2 + Y2) ; C > 0, X = –1, 1
      Y = –2, 2

= 0 ; otherwise
Obtain
i) C
ii) Expectation of X
iii) Expectation of Y
iv) are X and Y independent?

b) Obtain the probability distribution of X: sum of two score when pair of
fair dice is rolled, also obtain E(x) and E(3X+7)

c) Describe the direct and indirect methods of standardization of obtaining
the death rates.

d) i) State the additive property of Poisson distribution, also give any
two situations where the distribution is applicable.

ii) Given the following p.m.f of random variable X
X –1 0 1 2
P(X) 0.1 0.2 0.3 0.4

Obtain probability distribution of Y = X +1 also find E (Y)

 
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